STRUCTURAL NOTES

1.

GENERAL

DESIGN CODE DATA

(IF APPLICABLE)

2018 INTERNATIONAL BUILDING CODE

2020 FLORIDA STATE BUILDING CODE

ASCE 7-16: MINIMUM DESIGN LOADS FOR BUILDINGS AND OTHER

STRUCTURES.

CONCRETE AND COMMENTARY

ACI 318-14: BUILDING CODE REQUIREMENTS FOR STRUCTURAL

ANSI/ AF&PA NDS-2005: NATIONAL DESIGN SPECIFICATION FOR
WOOD STRUCTURE
ACI 530-08/ ASCE 5-08/ TMS 402/602-16: BUILDING CODE

REQUIREMENTS AND SPECIFICATION FOR MASONRY

STRUCTURES

BUILDING OCCUPANCY CATEGORY= Il (PER ASCE
1-1).

DESIGN LOADS:

e LIVE LOADS: ROOF =20 PSF
e COLLATERAL LOADS =11 PSF

7-16 TABLE

EXPOSURE =B

ENCLOSURE CLASSIFICATION = ENCLOSED
KD= 0.85

KZT=1.0

BASE VELOCITY PRESSURE, QH=39.0 PSF

(14) 3000 Ib BASKETBALL GOALS IN GYM

(2) 2887 Ib A/C UNITS ON GYM ROOF

(6) 1200 Ib MAX. A/C UNITS ON MULTI-PURPOSE BUILDING ROOF

(1) 2431 Ib A/C UNIT ON MULTI-PURPOSE BUILDING ROOF

75 LB/FT CURTAIN LOAD @ FRAME-LINE 4

175 LB/FT CURTAIN LOAD @ MULTI-PURPOSE BUILDING (SEE

PLANS FOR LOCATION)

e 50 LB SPEAKER LOAD @ EA. CORNER OF GYMNASIUM. (SUPPORT
STRUCTURE BY P.E.M.B.)

e METAL CANOPY MUST MEET 160 MPH EXP B REQUIREMENTS

SEISMIC LOADS
Ss =0.068
Si=0.05
SITECLASS =D
IE=1.25

SEISMIC DESIGN

(WET FIRE SYSTEM = 8PSF & INSULATION + LIGHTS = 3 PSF)

WIND SPEED = 160 MPH (ULT)

CATEGORY =B

Sds = 0.0725
Sdi=0.08

G

ENERAL (CONTINUED)

4.

MAXIMUM ALLOWABLE DEFLECTION CRITERIA:

ROOF: L/180 LIVE LOAD; L/120 TOTAL LOAD
H/240 DRIFT W/ 10YR WIND
CURTAIN WALL: L/240

THE CONTRACTOR IS RESPONSIBLE FOR LIMITING THE AMOUNT OF CONSTRUCTION LOAD IMPOSED UPON THE NEW STRUCTURAL STEEL FRAMING. CONSTRUCTION LOADS SHALL NOT EXCEED THE DESIGN
CAPACITY OF THE FRAMING AT THE TIME THE LOADS ARE IMPOSED.

THE STRUCTURE IS DESIGNED TO FUNCTION AS A UNIT UPON COMPLETION. THE CONTRACTOR IS RESPONSIBLE FOR DESIGNING AND FURNISHING ALL TEMPORARY BRACING AND/OR SUPPORT THAT MAY
BE REQUIRED AS THE RESULT OF THE CONTRACTOR'S CONSTRUCTION METHODS AND/OR SEQUENCES. THE STRUCTURAL ENGINEER ASSUMES NO LIABILITY FOR THE STRUCTURE DURING CONSTRUCTION.

THE CONTRACTOR IS RESPONSIBLE FOR ALL MEANS AND METHODS OF CONSTRUCTION AND ALL JOB SITE SAFETY.

VERIFY ALL DIMENSIONS WITH ARCHITECTURAL DRAWINGS PRIOR TO THE START OF CONSTRUCTION - RESOLVE ANY DISCREPANCY WITH DESIGNER / ENGINEER. DO NOT SCALE DRAWINGS.

STRUCTURAL DRAWINGS ARE INTENDED TO BE USED WITH ARCHITECTURAL, MECHANICAL, ELECTRICAL, CIVIL, AND OTHER DESIGN CONSULTANT'S DRAWINGS. CONTRACTOR IS RESPONSIBLE FOR
COORDINATING SUCH REQUIREMENTS INTO THE SHOP DRAWINGS. ANY APPARENT DISCREPANCIES, LIMITATIONS OR CONCERNS RESULTING FROM THIS COORDINATION SHOULD BE RESOLVED WITH THE
DESIGNER / ENGINEER IMMEDIATELY.

10. THE CONTRACTOR SHALL FIELD VERIFY ALL DIMENSIONS AND EXISTING CONDITIONS PRIOR TO CONSTRUCTING. NOTIFY THE OWNER'S REPRESENTATIVE OF ANY DISCREPANCY IMMEDIATELY.

11.

THE CONTRACTOR IS RESPONSIBLE FOR COORDINATION OF ALL BUILDING MATERIALS AND COMPONENTS.COMPONENT LOCATIONS ARE SHOWN FOR DESIGN INTENT, NOT EXACT LOCATION,
SPECIFICALLY.INDEPENDENTLY PREPARED SHOP DRAWINGS ARE REQUIRED OF ALL TRADES FOR COORDINATION AND BEST PRACTICE. ERRORS OR OMISSIONS IN INSTALLATION DUE TO THE

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

W

-----------

L OnF L o RIOR S
KL ORIDI TS

s

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

CONTRACTOR'S FAILURE TO COORDINATE THE WORK WILL BE THE SOLE RESPONSIBILITY OF THE CONTRACTOR.

12. ALTERNATE STEEL COLUMN SIZING FOR 140 MPH WIND SPEED IS LOCATED ON SHEETS S2.13ALT ALL OTHER SIZING AND DESIGN REMAINS UNCHANGED U.O.N.

160 MPH COMPONENTS AND CLADDING 140 MPH COMPONENTS AND CLADDING
ROOFS DESIGN PRESSURE (ULT) DESIGN PRESSURE (ASD) ROOFS DESIGN PRESSURE (ULT) DESIGN PRESSURE (ASD)
TRIBUTARY AREA 10 SF| POSITIVE (PSF) [NEGATIVE (PSF)|POSITIVE (PSF)[NEGATIVE (PSF)| |TRIBUTARY AREA 10 SF| POSITIVE (PSF) [NEGATIVE (PSF)|POSITIVE (PSF)[NEGATIVE (PSF) — 06h(TYP)
ZONE 1 max 18.7 73.4 11.2 44.0 ZONE 1 max 16.7 56.2 10.0 337
ZONE 2 max 18.7 96.8 11.2 58.1 ZONE 2 max 16.7 741 10.0 445 TT
ZONE 3 max 18.7 131.9 11.2 79.1 ZONE 3 max 16.7 101.0 10.0 60.6 /.
TRIBUTARY AREA 100 SH POSITIVE (PSF) [NEGATIVE (PSF)|POSITIVE (PSF)[NEGATIVE (PSF)]  TRIBUTARY AREA 100 SH POSITIVE (PSF) [NEGATIVE (PSF)|POSITIVE (PSF)[NEGATIVE (PSF) @ - 0.6h (TYP)
ZONE 1 max 16.7 57.3 10.0 34.4 ZONE 1 max 16.7 43.9 10.0 26.3 R ' '
ZONE 2 max 16.7 76.1 10.0 45.7 ZONE 2 max 16.7 58.3 10.0 35.0 O »
ZONE 3 max 16.7 90.6 10.0 54.3 ZONE 3 max 16.7 69.3 10.0 41.6 Jge 0.2h (TYP.)
WALLS DESIGN PRESSURE DESIGN PRESSURE WALLS DESIGN PRESSURE DESIGN PRESSURE
TRIBUTARY AREA 10 SF| POSITIVE (PSF) [NEGATIVE (PSF)|POSITIVE (PSF)[NEGATIVE (PSF)| |TRIBUTARY AREA 10 SF| POSITIVE (PSF) [NEGATIVE (PSF)|POSITIVE (PSF)[NEGATIVE (PSF) @ @ O D
ZONE 4 42.1 45.7 253 27.4 ZONE 4 32.3 350 19.4 21.0 @
ZONE 5 42.1 56.2 258 33 F ZONE 5 32 3 43.0 19.4 25.8
TRIBUTARY AREA 100 SH POSITIVE (PSF) [NEGATIVE (PSF)|POSITIVE (PSF)[NEGATIVE (PSF)]  TRIBUTARY AREA 100 SH POSITIVE (PSF) [NEGATIVE (PSF)|POSITIVE (PSF)[NEGATIVE (PSF)
ZONE 4 39.1 43.0 235 25.8 ZONE 4 30.0 33.0 18.0 19.8
ZONE 5 39.1 47.9 23.5 28.7 ZONE 5 30.0 36.7 18.0 22.0
PARAPET PRESSURE PARAPET PRESSURE — 0.6h (TYP.)
(ULT) (ASD) (PSF) (ULT) (ASD) (PSF) @
ZONE 4 99.8 59.9 ZONE 4 75.8 45.5 —— 06h(TYP) 2
ZONE 5 131 78.6 ZONE 5 99.6 59.7
MATERIAL SPECIFICATIONS CONCRETE CONSTRUCTION
CONCRETE pReERTIEERED T AL UL HOTES 1. ALL CONCRETE DESIGN AND CONSTRUCTION SHALL CONFORM WITH THE LOCAL BUILDING CODE REQUIREMENTS AND THOSE OF THE LATEST EDITION
FOOTINGS AND FOUNDATION WALLS 3,500 PSI @ 28 DAYS 1. ALL FRAMES ARE RIGID. NO COLUMN & BEAM ENDWALLS OF THE FOLLOWING STANDARDS: ACI 318, ACI 315, ACI 301, AND ACI 307.
SLAB ON GRADE 3,500 PSI @ 28 DAYS 2. ALL BRACES ARE RODS BY P.E.M.B.
ALL OTHER CIP CONCRETE NOT NOTED 3,500 PSI @ 28 DAYS 2. ALL CONCRETE, UNLESS SPECIFICALLY NOTED, SHALL BE NORMAL WEIGHT (145 PCF).
CONCRETE REINFORCING STEEL 60 KSI, ASTM A615 3. MASONRY WALL ARE SUPPORTED WITH SPANDRAL BEAM @ TOP OF WALL
XVIEIC-ECE)B \I/?VCIDFEESRElNFORCEMENT 2% PT<'\S/|LF ﬁ\ggycﬁg 28 £ 36 4 MAIN FRAMES ARE STRAIGHT UP TO 13-0" A F.F. THEN MAY TAPER 3. THE COMPRESSIVE STRENGTH OF ALL GROUT USED TO PROVIDE LEVEL BEARING OF COLUMN BASE PLATES SHALL MEET OR EXCEED THE
ADHESIVE ANGHORS LTI HASE THREADED ROD WITH 150 HY - ol COMPRESSIVE STRENGTH OF THE SUPPORTING CONCRETE MEMBER.
INJECTION ADHESIVE OR EQUAL 5. MAX HAUNCH DEPTH IS 46"
MECHANICAL ANCHORS HILTI KWIK BOLT Ill OR EQUAL 4. CONCRETE REINFORCING SHALL HAVE THE FOLLOWING MINIMUM PROTECTIVE COVER:

POWDER DRIVEN FASTENERS

MASONRY

CONCRETE MASONRY UNITS

MORTAR: TYPE S- BELOW GRADE

MORTAR: TYPE N- ABOVE GRADE
MASONRY GROUT

MASONRY REINFORCING STEEL

HILTI DS OR EQUAL

JOINT REINFORCEMENT #9, ASTM A83
STEEL
STRUCTURAL STEEL PLATES 55 KSI STEEL
HOT ROLLED SHAPES 50 KSI STEEL
HSS RECTANGULAR SHAPES 46 KSI STEEL
HSS ROUND SHAPES 46 KSI STEEL
COLD FORM SHAPES 50 KSI STEEL
STRUCTURAL CEE Fy = 36 KSI
COLD FORM CEE Fy = 50 KSI
22GA B DECK GRADE 50
600S162-54 Sx = 0.954in®

Ix = 2.86in*
600S200-54 Sx = 1.1in°

Ix = 3.39in*
600S200-68 Sx = 1.39in3

Ix = 4.18in*
800S162-54 Sx = 1.43in°

Ix = 5.74in°
800T200-54 Sx = 1.5in°

Ix = 6.15in*
1000S162-54 Sx = 1.99in3

Ix = 9.95in*
1000T200-54 Sx = 7.06in°

Ix = 10.5in°
1000S300-97 Sx = 4.86in°

Ix = 24.3in°
C6x10.5 Sx = 5.06in°

Ix = 15.2in*
C8x11.5 Sx = 8.14in°

Ix = 32.6in*
8x2.5x16ga Z PURLIN Sx = 1.98in°

Ix = 7.93in*
10"x2.5"x16ga Z PURLIN Sx = 2.69in°

Ix = 13.45in*
PZ26 SHEET PILE Fy = ASTM A572 GR50

Sx=112.4in°

Ix = 994.3 in*

F'm= 1,500 PSI, ASTM C90 NORMAL WEIGHT UNITS
1,800 PSI, ASTM C270
750 PSI, ASTM C270
3,000 PSI, ASTM C476
60 KSI, ASTM A615

6. CLEAR HEIGHT FOR HAUNCH IS 21'-0"

7. ANCHOR BOLTS: F 1554 GRADE 36 W/ MIN. 4" PROJECTION W/ 3/16 WASHER AND HEAVY NUT

8. FRAMING BOLTS: A325 OR A490

CONCRETE CAST AGAINST EARTH = 3"

CONCRETE EXPOSED TO EARTH OR WEATHER

e #6 THROUGH #18 BARS = 2"

e #5BAR AND SMALLER = 1-1/2"

CONCRETE WITH INTERIOR EXPOSURE: SLABS, WALLS, JOISTS
e  #14 AND #18 BARS = 1-1/2"

e #11 BAR AND SMALLER = 3/4"

5. UNLESS NOTED OTHERWISE ON THE DRAWINGS ALL REINFORCING SHALL BE LAPPED TO DEVELOP ITS CAPACITY AS FOLLOWS: (SEE TABLE FOLLOWING
THIS SECTION)
6. SLAB-ON-GRADE SHALL HAVE CLASS 'A' TOLERANCE.
7. A6-MIL. (MIN.) POLYETHYLENE VAPOR BARRIER WITH JOINTS LAPPED NOT LESS THAN 6” SHALL BE PLACED BETWEEN THE SAND BASE AND THE
CONCRETE FLOOR.
8. CALCIUM CHLORIDE AND OR ADMIXTURES CONTAINING CALCIUM CHLORIDE SHALL NOT BE USED.
9. PLACING OF CONCRETE SHALL BE DONE IN CONFORMANCE WITH ACI-306 FOR COLD WEATHER AND ACI-305 FOR HOT WEATHER.
BAR SIZES | STANDARD | TOP BAR | "B" SPLICE | HOOK NOTE: MULTIPLY LAP LENGTHS BY 1.3 FOR TOP BAR
3 13 16" p™ & CONDITIONS, TOP BARS ARE HORIZONTAL BARS
" 0" T o - WITH 12 INCHES OR MORE OF CONCRETE BELOW.
#5 28" 44" 44" 10"
#6 36" 60" 60" 12"
#7 52" 82" 82" 14"
FOUNDATION

ALLOWABLE SOIL BEARING CAPACITY PER MAGNUM ENGINEERING MLK REC CENTER, DATED: 6/15/2022

1.

2.

GRADE AREAS IN ACCORDANCE WITH ELEVATIONS AND AS REQUIRED FOR DRAINAGE.
ALL SLAB ON GRADE AREAS SHALL BE PROOF ROLLED. ALL SOFT SPOTS SHALL BE REMOVED AND REPLACED WITH COMPACTABLE FILL.
SLAB ON GRADE TO BE CONSTRUCTED ON A MINIMUM OF 6" OF COMPACTED GRANULAR FILL.

ALL FILL MATERIAL USED IN GRADING OPERATIONS SHALL CONSIST OF EARTH, WHICH IS FREE OF DEBRIS, BOULDERS OR ORGANIC MATERIAL. FILL SHALL BE PLACED IN MAXIMUM OF
12" LIFTS AND COMPACTED TO 95% OF MODIFIED PROCTOR MAXIMUM DRY DENSITY.

ALL FOOTINGS SHALL BEAR ON UNDISTURBED SOIL OR COMPACTED FILL HAVING A MINIMUM ALLOWABLE BEARING CAPACITY AS INDICATED BY MAGNUM ENGINEERING MLK REC.
CENTER DATED 6/15/2022.

THE ENGINEER SHALL BE NOTIFIED IF ACTUAL FIELD CONDITIONS DO NOT MEET BEARING REQUIREMENTS OR, IF QUESTIONABLE SOIL CONDITIONS ARE DISCOVERED INCLUDING BUT
NOT LIMITED TO PEAT AND OTHER HIGH ORGANIC SOILS.

GEOPIER (OR EQUAL) IS REQUIRED AT THE GYM TO IMPROVE BEARING PRESSURE. SEE S2.0 FOR ASSUMED COLUMN LOAD DATA UNTIL REACTIONS FROM P.E.M.B. ARE PROVIDED

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

STRUCTURAL PLANS For:
PANAMA CITY, FLORIDA

MLK REC. CENTER
705 E. 14TH STREET

DATE

DESCRIPTION

>
L
x

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

STRUCTURAL
NOTES

DRAWING NUMBER

S1.0



MK Weber Laptop 7
FL


N
structural engineering
3200 W. 23RD STREET
2 3 4 5 6 7 PANAMA CITY, FL 32405
MKWEBER.COM
FL CERTIFICATE OF
AUTHORIZATION # 33120
155'-10" S CDWIN4
| \\\\\\\\ E ..... N S /////’/
- st G,
2 AXIAL: 88 KIP+11 KIP/FT AXIAL: 88 KIP+11 KIP/FT AXIAL: 88 KIP+11 KIP/FT ST s nZ
i SHEAR: 7 KIP SHEAR: 7 KIP SHEAR: 7 KIP i E X T R
[ ] S =
T.0.F.=23.00' | 16" (TYP B STATE OF Q-3
10" (TYP.) — | (TvF) 2 b S
ffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffff e N G [ | A LORIDI NS
2 //,/S/ON A\—E\ N
. S
| — —_ —_ _ _ _ i _ _— _ — — Z Z Z EOR: ROBERT SEARCY P.E.
. STRUCTURAL ENGINEER
PSS~ =N N = — L 3= LS LS LS LS LS LS L L L N LS L L L L S L FLORIDA P.E. # 60549
} é)H(:éApl\_l:? _5?1 E:IIZ+11 KIP/FT B EMBOSSED/ WET STAMP
| ’ AXIAL: 88 KIP+11 KIP/FT SCANNED AND
| FOOTING STEPS. SEE 4/S3.4 SHEAR: 4 KIP _ TRANSMITTED COPIES OF
f THIS DOCUMENT ARE NOT
» TOF 2550 A - e T
N | AXIAL: 88 KIP+11 KIP/FT . CONSIDERED VALID WITHOUT
L . SHEAR: 7 KIP W STEM WALL FOOTING THE PRESENCE OF BLUE INK
=
i } ™ T.0.F.=28.00' AXIAL: 88 KIP+11 KIP/FT | i DIGITAL
é - | } SHEAR: 7 KIP \ . PRINTED COPIES OF THIS
DOCUMENT ARE NOT
} l | } . CONSIDERED SIGNED AND
1 l_1 n ‘ ! 26'_3" 26'_8" 23'_1 1 n 23!_1 1 n 26'_8" 26!_3" ‘ S,\E/I/tJI—SE-rDBAEN\/DELTFElESDIGO,\l@:II:HEE
| | | . ELECTRONIC COPIES
| | |
|
o | -
| |
} | AXIAL: 6 KIP+4 KIP/FT | } i
SHEAR: 5 KIP
| _ } [ f— _ _ _ L _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ / L ‘ l } I .7
| | | AXIAL: 6 KIP+11 KIP/FT I } B
| | SHEAR: 5 KIP ya |
| | SUBSTANTIAL AMOUNT OF \ ‘ B &
| | STRUCTURAL FILL WILL BE | | o <
| } REQUIRED IN THIS AREA } | B L 2
| | —
|
] | | | | | i %) - X
O 1 n ZoWo
= | STEM WALL | | L w -
\ | —
} | | | i I A
‘ [ Y
' B 200y
* l } 1 > OThE
| AXIAL: 6 KIP+4 KIP/FT | = O
] SHEAR: 5 KIP e i ) O <
B _} = - - - - T - - - - - - - - - - - - - - - - - - - - i } N (I__)LIJ‘_E
| | AXIAL: 6 KIP+11 KIP/FT } | S X ,.: <
| | | SHEAR: 5 KIP | | i L
| . | Y X o <
| ‘ NOTE: | N F 13 <
| ‘ NO CONCRETE, STEM WALL, OR PEDESTAL POURS WILL BE | | n = <
) | ‘ ALLOWED PRIOR TO INSPECTION AND APPROVAL OF FINAL } | B N~ O
S | . | - ANCHOR BOLT PATTERN AND PLACEMENT AS WELL AS | |
) e | \ T.0.F.=28.00' GENERAL SLAB NOTES: FINAL REBAR PATTERN AND PLACEMENT. | | 1]
S iy | | -FLOOR SLAB IS REINFORCED W/ 6X6 10/10 W.W.M. \
= - | ‘ -1/2" DEEP SAW-CUT CONTROL JOINTS @ 12' O.C. MAX. } | B
| |
| |
|
o | | o } :
| | | |
| | AXIAL: 6 KIP+4 KIP/FT AXIAL: 6 KIP+11 KIP/FT | | B
| | SHEAR: 5 KIP SHEAR: 5 KIP | |
| | |
|
| | 9 | } :
|
\ | NOTE: | |
| } FOUNDATION AND ANCHOR BOLT DESIGN MUST BE | | B
| L RE-EVALUATED BY E.O.R. FOLLOWING RECEIPT OF P.E.M.B. } | |
| ‘ DESIGN. P.E.M.B. DESIGN DATA MUST BE SUBMITTED TO | | | |
5 } | MK WEBER ENGINEERING FOR DESIGN REVIEW. ‘ | "
> | | |
} | MK WEBER ENGINEERING IS NOT LIABLE FOR P.E.M.B. | | i
‘ - CONSTRUCTION THAT WAS NOT VERIFIED BY E.O.R. | }
| |
| |
| } ALL REACTIONS ARE ALLOWABLE } | :
| |
| |
| AXIAL: 6 KIP+4 KIP/FT . |
10'-0" #5 HAIRPINS (TYP.)
| .
] L - SHEA_R. 5 KIP ) ) | ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) | } ) :7
I L
I #‘ STEM WALL PER 5/S3.3 AXIAL: 6 KIP+11 KIP/FT |
| | @ SHEAR: 5 KIP } | B
\ \ LLI
| STEM WALL PER 5/S3.3 | Lu
| - N | | (SIMILAR) o | i <
| |
|
\ | STEM WALL PER 7/S3.3 (SSTIEA'}’&X\%LL PER 5/53.3 AXIAL: 88 KIP+4 KIP/ET STEM WALL PER 4/S3.3 | | i
- | | _ (3 (1) SHEAR: 7 KIP o2 00 | | |
3 AXIAL: 88 KIP+4 KIP/FT T.0.F.=23.00 |
o | | STEM WALL PER 4/S3.3 \S34/ \S34 / ‘ | SHEET PILE -
= | | ' SHEAR: 7 KIP AXIAL: 88 KIP+4 KIP/FT FOOTING STEPS. SEE 4/S3.4 | !/ RETAINING WALL )
| | | AXIAL: 88 KIP+4 KIP/FT SHEAR: 7 KIP AXIAL: 88 KIP+4 KIP/FT | | \ E
| | SHEAR: 7 KIP SHEAR: 7 KIP | i v
' —_ ' O
| | STEM WALL PER 4/S3.3 T.0.F.=28.00 T.0.F.=23.00 72 | | | a
| SIMILAR | a)
| I e 27 o
HH | e AXIAL: 50 KIP+4 KIP/FT o AXIAL: 88 KIP+11 KIP/FT |
\ | | SHEAR:4KIP N \\ /T NNy e e e e e N Y e Ny — SHEAR: 4 KIP | B
- P /7 - - - T — - e M T — T |t — — — - - - - - B | ._ >
- i - T - — - -  _ — = l — G - —_ B — — - :J_ - - T D_ 77777 N — T — e I \
- Yl _ - _ T C _ _ _ 1 _ _ _ _ _ _ _ )= _ _ _ _ _L = o
i N N = .
_ | _ — ~ - S - ] - SN | B JOB NUMBER: 21247
- o — e+ | =
} ll_ I N | | | | [ | i DRAWN BY: JCC
GG AT - - - | N T — T stwwarer ssssemn | CHECKED BY. MKW
‘ 7r I ‘ ] " ] 1] ] 1] 1 ] 1 1] 1 1] F ] n r 1 1] 1 1] 1 1 } } ' n ' ( ) . PLOT DATE 5/1 8/2023
| 7‘% 12'-4 1/2 11'-8 14'-0 / 1310 11'-7 1/4 10'-1 1/2 15'-0 / 11'-2 1/4 12-9 | | T 43'-3 1/2 SHEET TITLE
| -
| | TOF=2550 \ M e N GYMNASIUM
B R - | | L1 FOUNDATION
PLAN
. GYMNASIUM FOUNDATION PLAN - W N e
3/16"=1"-0"(30x42) S 2 O
S n



MK Weber Laptop 7
FL


STEM WALL PER 5/S3.3

STEM WALL PER 5/S3.3

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

\\\\\\\\\HHHI/I/////
\\\\\\Q;\ EDWIN R) <(\//’//
ST EN g0,

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

STRUCTURAL PLANS For:
PANAMA CITY, FLORIDA

MLK REC. CENTER
705 E. 14TH STREET

DATE

DESCRIPTION

>
L
x

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

\ | \
‘_\ } } STEM WALL PER 4/S3.3 STEM WALL PER 7/S3.3 SIMILAR SIMILAR) STEM WALL PER 5/S3.3 } \ .
\ STEM WALL PER 4/S3.3 —_| | K / ( ) / STEM WALL PER 4/S3.3 a | - STEM WALL PER 4/S3.3
' S 117" 141" 13-10" 11'-7 1/4" / 101 1/2" 15'-0" ¢ 11-2 1/4" 12-9" ———F
(SIMILAR) | @ | (SIMILAR)
\ | | \ ZZ f/ J:L/ fffffff =14 _ oy P.E.M.B. COLUMNS (TYP.) | S
| ‘
- - T = - T=— —=—F - — - - E— f —
- - I~ — | -~ —|—_ e = |
A - - { 7777777777 i _|| T - __:%H'_|T —_ —_ —_ _J;_E_ ‘_ 4I7
_ _ }_ ’_‘AtAv___|| N\ L } I
| I S N - ]
| ——
| | / } } T\ ’ZF\ — T.0.F.=23.00' T.0.F.=23.00' I
| } T.O.F.=28.00' FOOTING STEPS. | | | . J
} | . _ | | SEE 4/S3.4 | | | | s B T RN EN EE S N S S
N4 o N | | ® —
. iy ? S S [ ONIREE
| < o550 | = |
@ } | 5 T.OF.=25.50' —/. = } } I
| /@ | ol E 0 |
P | | o NOTES:
| | NOTES:
@ T ; @ - I B\;f - —/(F;v | | } } = | -SEE SHEET $2.13 FOR COLUMN SCHEDULE
1 | | =
} | (1 ,1‘ ¥ (56)—_| | } } 2 | -REFER TO SECTION 3/S3.2 FOR TYPICAL EXTERIOR
o | | = i D I COLUMN FOOTINGS U.O.N.
EJ) ‘ 1 1 2l_4|| 1 1 l_7ll 1 41_1 " — _G'D } 1 ‘ ‘
~ | | ¢ ' ) ‘ IT ‘ AN | -COLUMN 14 SHALL BE OFFSET FROM STEM WALL AS
| 7 T.0.F.=29.82' (TYP.) ‘ ‘ | | DEPICTED ON THIS SHEET. FOOTING PER SECTION 3/S3.2
Tlo.F.=28.00 | | | | D1 | *DIMENSIONS SHOWN FROM EDGE OF CONC. TO
s } b A (691 | | I CENTERLINE OF COLUMNS*
e | | | .
10 3 } ﬁ\ | | } } -NO CONCRETE, STEM WALL, OR PEDESTAL POURS WILL
- zfzf N | T O.F.=28.00 | o o I BE ALLOWED PRIOR TO INSPECTION AND APPROVAL OF
o il i | e | | o s I FINAL ANCHOR BOLT PATTERN AND PLACEMENT AS WELL
| ——o=&s T | | o AS FINAL REBAR PATTERN AND PLACEMENT.
| (62) T e , | | | ™ Tl
q \ 52'-5 \ L \
} } | 15'-0" 11'-2 1/4" 12'-9" — AN "
| [ | | | \ \
5 | ‘ 3 | | ® an
T o - - - - - - | — - -9 - - ¥~ - _E*__ - N | | T
| | | 110" — — 28" } | o |
| |
| C | \ \
\ \ )2/@ J\ | |
|
| (61 —0e (21 i | o |
T | ,—, | < L e \ |
} } o (12} | © A SN |
| | h \ \
| . A 24'-6" A
= = | g < TYP. U.O.N. | } } I
> | S | | | | | I
= | - (20) |
| |
| | UZ‘/@ GENERAL SLAB NOTES: | ik I
T.0.Fl.=28.00 | | I -FLOOR SLAB IS REINFORCED W/ ‘ BN
OF=2800" —~_ | ol —_— 6X6 10/10 W.W.M. | . I
\‘r 9 | -1/2" DEEP SAW-CUT CONTROL | B
) I JOINTS @ 12' O.C. MAX. N e Bl
~~ | | | Y 12 S
é _ } _ } | | T S | | I
© Ty \ | ~ | \
S Ko
I L } S 12-8 3/4" / 12'-8 1/2" ¢ 10'-1 1/2" 15'-0" 11'-2 1/4" i } } } |
| | | w W @ | | I
* @ @ =l g
| | ol
| _ 1_ _ _ _ _ _ E/ _ XD _ ﬂZ _ _ _ &l"l _ 1_ n 1 _ — | ; 4 Izli
AN | | L | BiR
| | | | | I
;)% 4) | |
G 1 '“ o Ny !
‘ ‘ ‘ 1 \ | N
M | | O/ ] | ' 2
o ||| s | | D N | | & aay
% ¥ | | 2 ] |
A R l l l "L i
iR | ¥ ; 10'-7 1/4" / 27'-4 3/4" / 11'-5" / 12'-7" / 11'-6 3/4" 13'-7 1/4" / 17'-10 15/16" ¢— 7'5 1/16‘" ," } (e5) } } |
ﬁ‘ | | | |
. o e Ox ~ _ ~ ~ I ~ - ~ I _ _ _ el Huiinal
O | 7 X X PR o
iank S U N ! AT AT
T.0.F.£28.00" | | (18) (28) (40) (47) | | =z g I
| | | g | R
_o T VAl o |
N | | AN
- } | | | | |
= | | | % T
o s L
| | |
} I,l - B O |
‘ 1 n / [} (1] ] " ‘ ‘
10-7 1/4 13'-3 3/4 14'-1
Bk | | R |
I - o gl LR
L] | | =
| LL (17—~ | | o
|
BB) «— - g SRS B ol SR
n ‘ ‘ ‘ ‘ ‘
[ (N I O N W | | \ I
SEE NOTES | A o I
| | Coh S 11 I
T.0.F.=28.00 | T.0.F.=28.00" FOOTING STEPS. ‘ ‘ I
SEE 4/$3.4 | e I
(48) ‘ 1
iiiii L |
ffffffffffffffffffffffffffffff s
e N o e | N I
I ¥
AA — — — — — — 0 — — 1-3 3/4I1"
141" 11-5" 7 127" 127" | 127" | 127" 12'-9" T.0.F.=28.00 I
L 7 — _— 7"
~——— 10'-0" 23-11" 89'-9" 11-9 3/4" —— I
NOTE: CUT CONTROL JOINTS 1/3 \$2.10/ \$2.10) SHEET PILE /l
e RETAINING WALL
0 9 OF SLAB DEPTH @ 12'-0" O.C. MAX. 2 3 3 8 4 3 4 9 5 3 I

MULTI-PURPOSE BUILDING FOUNDATION PLAN

3/16"=1'-0"(30x42)

L---------------

NOTE: VERIFY ALL DIMENSIONS WITH
ARCHITECTURAL PLANS PRIOR TO ORDERING
MATERIALS.

W

MULTI-PURPOSE
BUILDING
FOUNDATION PLAN

DRAWING NUMBER

S2.1



MK Weber Laptop 7
FL

chuck
Length Measurement
2'-0"


26"4“

#— 10-0" ———

49|_8l|

L —©

D/@

(MAX.) EA. WAY. LOCATIONS MAY BE
MODIFIED W/ PRIOR APPROVAL FROM E.O.R.

/ SAW-CUT CONTROL JOINTS @ 13'-0" O.C.

o

/7

s
N

GENERAL SLAB NOTES:

-FLOOR SLAB IS REINFORCED W/ 6X6 10/10 W.W.M.
-1/2" DEEP SAW-CUT CONTROL JOINTS @ 12' O.C. MAX.

oI

TH

106'-8 1/2"

e

NOTES:
-SEE SHEET S2.13 FOR COLUMN SCHEDULE

-NO CONCRETE, STEM WALL, OR PEDESTAL POURS WILL
BE ALLOWED PRIOR TO INSPECTION AND APPROVAL OF

AS FINAL REBAR PATTERN AND PLACEMENT.

FINAL ANCHOR BOLT PATTERN AND PLACEMENT AS WELL

TOP PARAPET TRACK TABLE

LOCATION:

1-2 1000T300-97
56-57 1000T300-97
55-56 1000T300-97
49-50 1000T300-97
6-7 C10x15.3

AT ALL OTHER LOCATIONS

TO BE 1000T200-54 TYP. U.N.O.

20'-5"

O

COLUMN #71 ABOVE /9

SAW-CUT CONTROL JOINTS @ 13-0" O.C.
(MAX.) EA. WAY. LOCATIONS MAY BE
MODIFIED W/ PRIOR APPROVAL FROM E.O.R.

2311"

o/

/

/2
8219/

89!_9"

OaN
s DEPRESS
é SLAB 1/2" IN @
THIS AREA @ @ @ @ \
B v R R AR A I A
14'-5"

MULTI-PURPOSE BUILDING SLAB PLAN

3/16"=1'-0"(30x42)

11'-9 3/4" ———~

|

U
I I VS I B I B B B B .

~:

—
=
N

[====-

SAW-CUT CONTROL JOINTS @ 13-0" O.C.
(MAX.) EA. WAY. LOCATIONS MAY BE
MODIFIED W/ PRIOR APPROVAL FROM E.O.R.

SHEET PILE
RETAINING WALL

9/ 7 = < .7
/ \l =
# [/

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

Wiy,

Q EDWIN g/////,/
NCENS o
QU NCENSE A

x: No.60549
*

.
---------

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

STRUCTURAL PLANS For:
PANAMA CITY, FLORIDA

MLK REC. CENTER
705 E. 14TH STREET

DATE

DESCRIPTION

>
L
x

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

NOTE: VERIFY ALL DIMENSIONS WITH
ARCHITECTURAL PLANS PRIOR TO ORDERING
MATERIALS.

W

MULTI-PURPOSE
BUILDING
FOUNDATION PLAN

DRAWING NUMBER

S2.2



MK Weber Laptop 7
FL


500 LB SPEAKER
(SUPPORT BY P.E.M.B.)

] . 500 LB SPEAKER @
iiiiiii @ \S2.11/ @ WALL BRACING RODS @ WALL BRACING RODS @ @ (SUPPORT BY P.E.M.B.)
I S — [
TH -\ — — H[- — — + [——== Tt =— - — — — TH — — \— HJ
-= e —_ - — = -
\ — )(
=1
500 LB SPEAKER —— | |— | % S 94 —p— | A 9414 — & ROOF BRACING
SUPPORT BY P.E.M.B.) ROOF BRACING P P
( =B I o ROOF BRACING > RODS @ THIS BAY I
| RODS @ THIS BAY RODS @ THIS BAY
EID b _ 1 — T [~ E:D g = . ¥ _ X Enb :S
S S - S >
N
+— 5'-8" —~ A— 5-8" —A
o o
& I
& 8
H > - - T Z Z - - - » H
. — 2'-6 3/4" i - - i 2'-6 3/4" — .
! = ; \ % — — —+ %_' =@—:§ — — ::—D=_' $ — — — % /£ ; — 2t
= A - 5 4 AN - NA =
AN AN
o o |
o o
5
R & 2
% %
A 7% 1 0'_6" 1 0!_6" ﬁé D
/- 20"1 " /[/ | /[/ 20!_1 "
ey w 75 LB/FT CURTAIN LOAD ———= w u
\T — — 4 — — — L‘
o o
Y |t o _ i & 2 - - R X .
B > B | | < N\ g @
o 0 RIDGE LINE - =
T - - RS O - - T
| 2,887 LB RTU. SUPPORT 2,887 LB RTU. SUPPORT |
504" - @ STRUCTURE PER P.E.M.B. | STRUCTURE PER P.E.M.B. @ B 50'-3 3/4"
(o) ©
S 10-6" 106" N
C2 C2
o o 5
= EO EO = =
=1 = % — — —+ % = = —= — — —_— = % — [ — % — 1!
o N_/ \A N_/ \WA o
= —— 2'-43/4" & & 2'-4 3/4" — =
\T — — 4 ;I ;I — — — L‘
o o
i o o H
© ©
A— 5-8" — —~+— 5-8" —#
O 0 '
: N . — 1 i S _ - I o N :
S ° Sy 2
N AN — -! -
§ N e} § _3
© (99}
Q Q
7 9414 —H S QA Q
S s
500 LB SPEAKER | |
(SUPPORT BY P.E.M.B.) \
N - B B B 4 B B B 4
L o o o T o T —— 2-31/2" n) L \_
II—I N PORTAL B ] N B B 1 - 3-83/4 B B B “ — B PORTAL \— ]
o 0 T 0 \ 0 o
|
26'-3" 26'-8" — 23-11" 23'-11" 26'-8" 26'-3 1/4"
L 1|_1u 1|_1u 1
155'-10"
a]
NOTE: EACH BASKETBALL GOAL
ASSEMBLY WEIGHS 3,000 LBS
NOTE:

NO CONCRETE, STEM WALL, OR PEDESTAL POURS WILL BE
ALLOWED PRIOR TO INSPECTION AND APPROVAL OF FINAL

ANCHOR BOLT PATTERN AND PLACEMENT AS WELL AS
FINAL REBAR PATTERN AND PLACEMENT.

GYMNASIUM FRAMING PLAN

3/16"=1'-0"(30x42)

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

g,
\

\\\\\\Q;\ EDWIN .SZ(/\//’//

SR ENG g

SZTTIITRIRAN

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

5 <
o= O
-
< x o
Jw
o - ID_C -
e
¥ O LG
2O Y <
ogT. =
D W<
£
o
nN=N~Nn0
w
3
5
0
0
A
a
>
v
JOB NUMBER: 21247
DRAWN BY: JCC
CHECKED BY: MKW
PLOT DATE: 5/18/2023
SHEET TITLE
GYMNASIUM

FRAMING PLAN

DRAWING NUMBER

S2.3



MK Weber Laptop 7
FL


BEAM MAY ATTACH TO CMU WALL. ATTACHMENT
PER ALUMINUM CANOPY MANUFACTURE

BEAM PER ALUMINUM CANOPY MANUFACTURE

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

NOTE:
- TOP OF BEAM ELEVATION FOR BEAMS SHOWN ON THIS SHEET

IS 15'-0" A.F.F. U.O.N.

- VERIFY R.T.U. LOCATION W/ MECHANICAL CONTRACTOR

- IN AREAS WHERE CANOPY BEAMS TERMINATE ON FACE OF
HSS COLUMNS, FIELD WELD MOUNTING BRACKET TO FACE OF
COLUMN W/ 3/16 FILLET WELD ON ALL SIDES UNLESS
OTHERWISE NOTED BY ALUMINUM CANOPY MANUFACTURE.

- UNLESS OTHERWISE NOTED, ALL FRAMING, MEMBER SIZES,
CONNECTIONS, AND FASTENERS ARE TO BE DESIGNED BY

AND COORDINATED WITH ALUMINUM CANOPY MANUFACTURE
PRIOR TO CONSTRUCTION OF WALKWAY CANOPY

iy
awl 111
W /7
\N /7,

\\\\\ \ V,’.......,,V\S\ Z
\\Qg&. ,,,,,, &

< /)?\S/ 0 N A L §’$\\\\\\

ST

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

BEAM PER ALUMINUM CANOPY MANUFACTURE

BEAM PER ALUMINUM CANOPY MANUFACTURE

BEAM PER ALUMINUM CANOPY MANUFACTURE

\ BEAM PER ALUMINUM CANOPY MANUFACTURE

BEAM PER ALUMINUM CANOPY MANUFACTURE

BEAM PER ALUMINUM CANOPY MANUFACTURE

BEAM PER ALUMINUM CANOPY MANUFACTURE

BEAM PER ALUMINUM CANOPY MANUFACTURE

R
X
§ | |
9 / 8" REINFORCED BLOCK WALL
4 W12x19 T (9 T ®) o I
o (10) i w119 S W12x19 W12x719 L wizxg W12x19 o wix19
y/gz'm W12x19 HI_ W12x19 2-5 172" ﬁ% { :|E 36 1/4" IH
[ — T | | |
SEE 1/S3.14 FOR CONNECTION K 11-4 & oS A/ 2,431 LB RTU
| | | > = | [ WIDxAs
) < < | ©
X X X 3 W10x19 | <
= = = J— - - g & IWACORN o
9 | . l | - X P = = O
/@ | S, Q C SEE 2/S3.14 FOR Su
g = 208 LB RTU " CONNECTION (TYP.) o <
ol _ ) [ —— | | N
W12x19 P W10x19 | -
(8) o wi1ox19 3 3 3 3 3 (56) 5
’ i s i 3 i A
| = = = = 2
® SEE 2/S3.14 FOR | | | | | )
m CONNECTION (TYP.)
% m
< —
BEAM PER ALUMINUM o || | ©U-Z
CANOPY MANUFACTURE $P e - ol B B
— q — ~ 1
\ =" & S SRS
- = S =20
(62 | =
=
|
(+2) (45) &
| b )  W16x40 B : : t J | /@ \g
BEAM PER ALUMINUM @/
CANOPY MANUFACTURE d o .
Lo
DN g @ o @ |-
W10x26 - % o
S - = - X S SR
T o 2| ©6
9 < 13 z S C 3 7
ny & S S =
| T T <! LR Sa— | | | | |
BEAM PER ALUMINUM ©5 1z = = @)
CANOPY MANUFACTURE 3= 647 LB RTU T © © © © Q A D
= : | @ r
¢ W10x26 = . > = = (54)
| )\@ 10-23/4" —o- | | | | | O
=W
® . | MR
BEAM PER ALUMINUM = t | © 1,080 LB RTU ‘(3 % 'g
CANOPY 3% |< - S Ya 5| 8%
MANUFACTURE DO X 3 F | | | % &
o8 & S 3| = W10x19 B
Ro |2 _ Ox _ = N / 53
ST | - . - SEE 2/S3.14 FOR
I = ; /_@ W14x22@@_\, o CONNECTION (TYP.) 0
OY O 2
) % ) Sh
| ul 3|O =
@ 1!_9|| ] — ~ ;
I c N = = ® .
C \ | | | | | | | >
SLLZ - o — (19) 3 3 3 3 - — |3 ¥ <
BEAM PER ALUMINUM 3 < e W10x26 .N: & & & IS WI0x19 | & I Ha
CANOPY oa % 1,080 LB RTU | > = = &=z = 2| ©o
MANUFACTURE o= N > o % "
25 |2 % | | | S 9-01/2 | 87
) | =T 10:2" —— S WG
/- : W12x143) . W16x50 B B | W12x16 W14x22 _ W14x22 i _ wix16 o wiaxe2 | W12x19
BEAM PER ALUMINUM SEE 2/S3.14 FOR CONNECTION
CANOPY (18) (28) (47)
MANUFACTURE SEE 2/S3.14 FOR
CONNECTION (TYP.)
o o -
& s Tu ACRN
= = N
o0
=
J
i wi2x19 wix19 @\a
\ |I\K ‘J\ |
(e}
| Tu . ® \g
Q%
© @
& *x &
A wt w D
2 =
| (16) (29) (38) (39) (48)
W8x18 @ W8x18 @ W8x18 @ W8x18 @ W8x18 @ W8x18 @ W8x18 @
o 18-0" A.F.F. 18-0" A.F.F. 18-0" A.F.F. _ 18-0" A.F.F. 18-0" A.FF. 18-0" A.F.F. 18-0" A.F.F. |
[ - b - d - - | - - o - - d - - ol - -

o A

8219/
MULTI-PURPOSE BUILDING LOWER ROOF MAINFRAME

3/16"=1'-0"(30x42)

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

S <
H- Qo
(D —
— @
Zx WO
Jw
D E o -
< —
¥ O LG
2O Y <
ogT. =
D - W<
£
o
nw=~kn0
.
5
5
3
nd
B
a
=
@
JOB NUMBER: 21247
DRAWN BY: JCC
CHECKED BY: MKW
PLOT DATE: 5/18/2023
SHEET TITLE

MULTI-PURPOSE
BUILDING LOWER
LEVEL FRAMING PLAN

DRAWING NUMBER

S2.4



MK Weber Laptop 7
FL


NOTE:
- TOP OF BEAM ELEVATION FOR BEAMS
SHOWN ON THIS SHEET IS 19'-4" A.F.F. U.O.N.

- VERIFY R.T.U. LOCATION W/ MECHANICAL
CONTRACTOR

(m] (m] I 0 (m] I (m] ()
I+ HL | Wizt I+
(m] o0— — — 0
|
< I
Q i
=
| =
|
(m ] (]
(m ]
()
|
N <
3 >
™ N |
= =
|
(] (] (] (m)
(m]
0 I
X
N
=
(m ]
(m ]
|
(V]
X
2 Q
s =
= |
0 0 0 (] 0 @
(m ]
<
X CURTAIN STACKS
S TO THIS SIDE
W16x26 W16x26 W16x26 W16x26 W16x26 W16x26
(m ] /@9 0o— — 0O _ — —T — O — — O — — O — 0O
SEE 4/S4.2 FOR CONNECTION [ — 20 ] [ [ 3
7 S i 2
| < S amneenon N W10x26 < | > WD S SEE2/S3.14FOR | =
I O——— >
X (TYP) CONNECTION (TYP.) i
= -9 , 9
S o 7 35'
» ~ ~
A | | 2 | | 2 ¥
= L= | &
— 1,080 LB RTU — | S
817 LB RTU W10x26 W10x26
N [e0) o0 (e 0]
[Te) (o) ™ (a2)
£, 5 5 3
= = = = 0
o0
e
(m] (m] (m] <t L ' "
T 175 LB/FT 3-93/4 |
l CURTAIN LOAD \l
| | 3
3 3 <
S S =
= = |
| |
W12x19 W12x19 W12x19 W12x19 W12x19 W12x19 W12x19
o—— — - o = o — - o — - o - — o - — o — - o

(1) 2
8219/ 3219/

MULTI-PURPOSE BUILDING UPPER ROOF MAINFRAME

3/16"=1'-0"(30x42)

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

unnr

\

\\\\\\}{\ EDWIN g://///,

N Q/%."...C--E-.N ..... .Q ////
-..' \,\ S£~ '.../%,///

SS
5 w7 No. 60549
: *

KO

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

5 <
o Q0
-
Zx WO
oEexh
2Ly
DCOE(_J
2O Y <
ogT. =
D == W<
382
N=~0
8
i
o

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

MULTI-PURPOSE
BUILDING UPPER
LEVEL FRAMING PLAN

DRAWING NUMBER

S2.5



MK Weber Laptop 7
FL


PRE-ENGINEERED ALUMINUM CANOPY.
INSTALL PER MANUFACTURERS SPECS.
AND LOCAL BUILDING CODES.

S SO

10"x2.5"x12ga Z PURLIN @ 24" O.C.

10"x2.5"x16ga Z PURLIN @ 24" O.C.

42

56

45

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

NOTE:

TYPICAL EXT. WALL FRAMING - 2x6 AND 2x10 16ga
STEEL STUDS @ 16" O.C. SEE ARCHITECTURAL PLANS
FOR LOCATION.

ROOF DECK - 22ga 1-1/2" GRADE 50 B DECK ATTACHED
W/ #12 SDHH FASTENERS IN 36/7 PATTERN. USE #10
SDHH SCREWS @ 12" O.C. @ SIDELAP.

SOTTITRIRN

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

\ PRE-ENGINEERED ALUMINUM CANOPY.
INSTALL PER MANUFACTURERS SPECS.
AND LOCAL BUILDING CODES.

- T D - T O L EaN 4:6}69 AN "
— — — — — — o o — — — =g | o= N ) g @
. , — b — _ | L N I . o 9 | _
o () () | _ o Ol . i} ! ]
e |- |+ - = :
. ) o L B L L B
o o - e o o L N @
C _ @\D _ _ m m _ - _ m _ - _ 0
B _ (18) (29) (40 (1)
_ S NOTE: ALL PURLINS ARE
SIMPLE SPAN U.O.N. )
- . N
eV
- - J
st S BN
% % :
|
SIGNODE MAGNUS 22ga STRAPPING
W/ (3) #12 PANCAKE FASTENERS
PER END ON TOP OF PURLINS @
(3) (39

(®)

L

7

— 2'-0" LAP. SEE 3/S3.6

LOWER ROOF FRAMING PLAN

3/16"=1'-0"(30x42)

N 6216 @ 16" O.C. W/ 2'-0" LAP AND 600S200-68 EAVE STRUT

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

S <
o Q
-
Z WO
INNTTRORE
oEexh
Z ~
=gy
¥ O LG
2O Y <
ogT. =
D - W<
=T
wSRa
=
5
5
3
o
B
a
=
o
JOB NUMBER: 21247
DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

LOWER CEILING
LIGHT FRAMING
PLAN

DRAWING NUMBER

S2.6



MK Weber Laptop 7
FL


T+

PARAPET WALL ABOVE —

10"x2.5"x16ga Z PURLIN @ 24" O.C.
|
|

@

T~

SN g I

NOTE: ALL PURLINS ARE
SIMPLE SPAN U.O.N.

PARAPET WALL ABOVE \'—\T

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

NOTE:

FOR LOCATION.

TYPICAL EXT. WALL FRAMING - 2x6 AND 2x10 16ga
STEEL STUDS @ 16" O.C. SEE ARCHITECTURAL PLANS

ROOF DECK - 22ga 1-1/2" GRADE 50 B DECK ATTACHED
W/ #12 SDHH FASTENERS IN 36/7 PATTERN. USE #10
SDHH SCREWS @ 12" O.C. @ SIDELAP.

........

S L
Sx: No. 60549 .=
= * H
= 4%  STATE OF ‘o=
3, T s

°
.........

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

TOP PARAPET TRACK TABLE

LOCATION: — — — ——
1-2 1000T300-97

56-57 1000T300-97

55-56 1000T300-97

49-50 1000T300-97

6-7 C10x15.3

AT ALL OTHER LOCATIONS

TO BE 1000T200-54 TYP. U.N.O.

/

PARAPET WALL ABOVE

PARAPET WALL ABOVE

0 - T\ “@W

.@
.
!

d

Q

e L G2
| | — | |

|@| | @ : I@J
g
) |
|
l@ '/@ 1 . % :

_ & _ 4 _ 4 _ 4 .

UPPER ROOF FRAMING PLAN

3/16"=1"-0"(30x42)

PARAPET WALL ABOVE

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

S <
o Q
-
Z WO
INNTTRORE
oEexh
Z ~
=gy
¥ O LG
2O Y <
ogT. =
D - W<
=T
wSRa
=
5
5
3
o
B
a
=
o
JOB NUMBER: 21247
DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

HIGHER CEILING
LIGHT FRAMING
PLAN

DRAWING NUMBER

S2.7



MK Weber Laptop 7
FL


J J
{ PARAPET WALL BY P.E.M.B. [
3 3
> >
= H JP
2 iE —  P.E.M.B. COLUMN —  P.E.M.B. COLUMN P.E.M.B. COLUMN ——= P.E.M.B. COLUMN ——= :
iE W14x22 STRUCTURAL SPANDRAL BY P.E.M.B. TO W14x22 STRUCTURAL SPANDRAL BY P.E.M.B. TO W14x22 STRUCTURAL SPANDRAL [T T T T T T T T TTTTTTTTTT] : | : | : | : | : | : | : | : | : | : | : | : | : | : | : | : | : | : 1 : | : | : . : | : | : | : | : | : | : | : | : | : | : | : | : | : | : | : |
- | | HAVEMIN. L/480 W/ 10YR WIND DEFLECTION LIMIT HAVE MIN. L/480 W[ 10YR WIND DEFLECTION LIMIT BY P.E.M.B. TO HAVE MIN. L/480 W/ T T T T T [ T T T I [ [ T T T I T T T T T T I I T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
< i 10YR WIND DEFLECTION LIMIT [T T T T [ T T T T T T T T T T T T T T T T T [ T T T T T T [ [ T T T T T [ T T C T T T T T I T T T [ T ]
e s = S S S S S ) S S S ) S S
= %%P.E.M.B.COLUMN S S S S S ) S S S ) S S
= ] P.E.M.B. COLUMN —= P.E.M.B. COLUMN ——= SEE DTL 5/S3.7 FOR BEAM T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T IIT T T T T T T T T T T T T T T ]
i TO COLUMN CONNECTION [T T T T [ T T T T T T T T T T T T T T T T T [ T T T T T T [ [ T T T T T [ T T R N A O A
u [ T T T T T T T T T T T T T T T 1T T T T T T T T T T T T T T T T T T T T T T T T T IIT T T T T T T T T T T T T T T ]
i - T T T T T T [ [ T T T T T [ T T T [ [ [ T T T [ [ [ [ T T T [ [ [ [ T R N A O A
u [ T T T T T T T T T T T T T T T 1T T T T T T T T T T T T T T T T T T T T T T T T T IIT T T T T T T T T T T T T T T ] .
E===—====—=——=—————c———————=g E====———c——f=—=-——-——-———————-g H===——=————————————————o L L L L L L L L L L L L L L L L L L S S S Y Y Y S T T T T T T T T T T T T T T
T W14x22 STRUCTURAL SPANDRAL BY P.E.M.B. TO W14x22 STRUCTURAL SPANDRAL BY P.EM.B. TO ] W14x22 STRUCTURAL SPANDRAL C T T T [ T [ T T T T T T [ T T T T T T T ITCMUWALL. L I T T T T [ T [ T T T T T_1 I T Q
[ | HAVEMIN. Li480 W/ 10YR WIND DEFLECTIONLIMIT || HAVE MIN. L/480 W 10YR WIND DEFLEGTION LIMIT VRN DEELECTON LT i 5y 0 ey e 0 i ey S S S i By e Sy iy e S ey F T
. i T T T T T T [ [ T T T T T [ T T T [ [ [ T T T [ [ [ [ T T T [ [ [ [ T N o T
¥ = I S S S S S S S S S e T T
= u [ T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T I T T T T T T
i T T T T T T [ [ T T T T T [ T T T [ [ [ T T T [ [ [ [ T T T [ [ [ [ T N o T
u [ T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T I T T T T T T
i T T T T T T [ [ T T T T T [ T T T [ [ [ T T T [ [ [ [ T T T [ [ [ [ T N o T
u [ T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T I T T T T T T
i T T T T T T [ [ T T T T T [ T T T [ [ [ T T T [ [ [ [ T T T [ [ [ [ T N o T
] - - . . [T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T 11
N g 4 P 9, 4 < 4 a ” 4 g 4 4 ) A< 4 ” g A
2 N < 4 4 < 2 < 4 < 4g 4 4 9 g 4 2 A 7 g A 2 <
) 4 4 , < 5 A ) 4 2 < 4 Aq a< , 9 ) . A < g 4 , L 4 < o ) 4 y 4,
| | |
77'-6 1/4" 78'-5 3/4"
3/16"=1"-0"(30x42)
ALL NON-PERPENDICULAR CONNECTIONS a a n
MADE W/ FABRICATED 10ga CLIP. ATTACH W w W
W/ (2) A325 BOLTS PER LEG (TYP.)
‘ 8" OPEN CEE ATTACHED W/ (2)
8" OPEN CEE ATTACHED W/ (2) #12-14 SDHH SCREWS @ 24" O.C.
#12-14 SDHH SCREWS @ 24" O.C.
8" OPEN CEE ATTACHED W/ (2) —._ 8" OPEN CEE ATTACHED W/ (2) #12-14 SDHH SCREWS @ 24" O.C. #12-14 SDHH SCREWS @ 24" O.C.
#12-14 SDHH SCREWS @ 24" O.C. \ C8x18.7 C8x18.7 / #12-14 SDHH SCREWS @ 24" O.C.
] A a P _ _
n | C8x18.7
n S T\ . C8x18.7 C8x18.7 C8x18.7
C }M( ~— 800S162-54 Y
I —4=— —4 = — o — = + = — ——— ] == = — — = 4
O \, ; S \\::::::::7:|F:N::|r|::|||| :::::::::::::::|
O ' 8005162-5 S C T T T T T T T T T T T T T T T T T T T T T T T T T T T INT oo e e o T T T T T T T T T T T T
- ™~ ™~ ™~ ™ %%E[S"OPENCEEATTACHEDW/(z) H u H u H u H u'u'u'u'u'u'u'u'u'u'u'u'uW8OPENCEEATTACHE..DW/(Z) 'u'u'u'u'u'u'u'u'u'u'u'u'u'u
L o o o o Y\ 1 1 #12X3" TAPCONS @ 24" O.C. T T T T T T T T 1 1 1 1 #2X3"TAPCONS @ 24" O.C. [ |
O > x > X 8 et i i S S S S S ) RSNV S e e S i e e
- O O O o N [ T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T 1T T T T T T T T T T T T T T T 71
ALL PERPENDICULAR L] B 24 L e S B S S S S S B S S St S SO S S MO B S St MO S St T [ T [ T [ T I T T T T T T 1
ATTACHMENTS MADE W/ ~ pT LT LT TTTTTITTITTTTTTT T T T T T T T T T T T T T T T T T T T T T O T T T T T T T T T T T
SIMPSON FC62-5/118 (TYP.) A \ [T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T ] .
NS 2 S A T - T - 1 = ~ T rrrr~rrr-rr-rrr-rrrrrrrrrrrrr-rrrrrrrrrrrTr T T T T T T T T T iy
i N V e e e e e e e e e e e e e e e e e e s e e e e e e e e e R R A B H - S
i Q A CBx18.7 TT av OPEN CEE ATTACHED W/ (Y T T T T T T T T T T T T T T T T T T T T T T T T H -
8008162:54 STEEL —_ s % »'go. s s s / s s E2120>E’3El\4§§§oANTSTA(\@Cg§DOV\g @ rrrrrr-rrrr-ro oo T L T T T T T T T H -
STUDS (TYP.UON.) L/~ % EA 3 % % % % % e e Y T T T T T T T T T T T T T T T T T T T T T T T T T T [ T | T T T T T ——
O Q ‘ , Q Q Q Q Q % [T T T T T T T T TTTITTITITTTTTTTTTTTTT T T T T T T T T T T T T T LT T T T T
g S caxte "\ e e e e e e e e e e e e e
L] 800S162-54 \ C T T T T T T T T T T T T T T T T T T T T T T [ T T T T T [ [ T T T T [ [ [ [ T I T
. A - _ e L —b— — L - — &= \T [ T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T OTTTTTT T T ]
| \ y \ / \ C8x18.7 \ ) ' ' . | . ) ' | |
A A . : . : 4
8" OPEN CEE ATTACHED W/ (2) — X 8" OPEN CEE ATTACHED W/ (2) X 8" OPEN CEE ATTACHED W/ (2) — —

#12X3" TAPCONS @ 24" O.C.

8" OPEN CEE ATTACHED W/ (2)
#12X3" TAPCONS @ 24" O.C.

#12X3" TAPCONS @ 24" O.C.

2

#12X3" TAPCONS @ 24" O.C.

"MLK" FRAMING ELEVATION

3/16"=1"-0"(30x42)

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

........

/11001

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE

ELECTRONIC COPIES
5 <
L 0O
-
< x o
Jw
o - ID_C -
e
¥ O LG
2O Y <
ogT. =
D L <C
£
o
N==~k0
w
3
5
£
0
A
a
>
i
JOB NUMBER: 21247
DRAWN BY: JCC
CHECKED BY: MKW
PLOT DATE: 5/18/2023
SHEET TITLE

GYMNASIUM NORTH
WALL FRAMING
ELEVATIONS

DRAWING NUMBER

S2.8



MK Weber Laptop 7
FL


12 12

2

MULTI-PURPOSE BUILDING CROSS SECTION

3/16"=1'-0"(30x42)

SEE 2/S3.8
1.5 1.5 f M
N
—T= 1 | l T 7 1
— i = ‘ ' T [ T N
—\ L | | 1/
| |
i i
] I
, 8-0"0cC.
K (MAX.) 7
"W" MEMBER BY P.E.M.B. TO SUPPORT
75 LB/FT ROLL UP CURTAIN LOAD @
FRAME LINE 4 W/ L/240 DEFLECTION
3
©
=
1 3/16"=1'-0"(30x42)
SEE 1/S3.7 —\
‘A A
I i
SEE 2/S3.7 —X : I : |
B || —
] I i
i aliE i A
| - i H SEE 1/S3
. N N 5
: I [ T T |
E__,_l I___rL _________________ /_—____l
| | |
. . o |
| | > | I |
1 | 5 = S | [ | |
| | o o | I |
| | - -~ | I |
| | | I |
| | | I |
| | | I |
| | | I |
| | : I :
— ! D T T P T IR RS NI
vz A K7 I I | & I =L o |
: A TR T RO Ko B - |
____________ N | |
| |
| L
| |
| |
| |
| |
A '

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

SQYT M 2P
SQ S AT
S & No. 60549 -7, =
E * -
= 4% STATE OF ‘a3
2 L LORID N QIS
// --------

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

STRUCTURAL PLANS For:
PANAMA CITY, FLORIDA

MLK REC. CENTER
705 E. 14TH STREET

DATE

DESCRIPTION

>
L
x

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

LOWER CEILING
LIGHT FRAMING
PLAN

DRAWING NUMBER

S2.9



MK Weber Laptop 7
FL


SEE 1/S3.8 —\7

o .
| |
| 1
| |
| |
| H
| |
N |
: :
| | | SEE 2/S3.6
i i D
| = I o |
| | A ' |
| : =i
E | I I
| N} |
] I |
: / :
- | |
| |
| |
| T
| |
| |
| |
I / |
MULTI-PURPOSE BUILDING CROSS SECTION
1 3/16"=1'-0"(30x42)
——1
| Ser 337 SEE 2/S3.6 —\
s S
n o I
Al \ =
: i : ] :
3 2 !
< il ] |
— =in VAR
3 o / |
. =2 S |
< || |
o e |
] y I
| |
| |
| |
| |
I ] / I
AAAAAAA i/|y' :
o .

2

V'

MULTI-PURPOSE BUILDING CROSS SECTION

3/16"=1'-0"(30x42)

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

.........
. °o
°

S - )
S s
Sx: No. 60549 4=
= 4%  STATE OF ‘a3
2, e LLORIDS Q\%s
// """"""" \\

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

STRUCTURAL PLANS For:
PANAMA CITY, FLORIDA

MLK REC. CENTER
705 E. 14TH STREET

DATE

DESCRIPTION

>
L
x

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

LOWER CEILING
LIGHT FRAMING
PLAN

DRAWING NUMBER

S2.10



MK Weber Laptop 7
FL


REACTIONS

PLAY POS. = 1,152 LBS
FOLDED POS. = 533 LBS

REACTIONS

REACTIONS

PLAY POS. = 576 LBS
FOLDED POS. = 1,440 LBS

PLAY POS. = 1,152 LBS
FOLDED POS. = 533 LBS

REACTIONS

PLAY POS. = 1,152 LBS
FOLDED POS. = 533 LBS

REACTIONS
PLAY POS. =576 LBS
FOLDED POS. = 1,440 LBS

REACTIONS
PLAY POS. = 1,152 LBS

FOLDED POS. = 533 LBS

PLAY POS. =576 LBS
FOLDED POS. = 1,440 LBS

12 12 _
1.5 1.5 |
= ||
— T T — —- 7 L — i
= X i |
||
u
REACTIONS
PLAY POS. =576 LBS
FOLDED POS. = 1,440 LBS
BASKETBALL GOAL
SUPPORTS BY P.E.M.B.
REACTIONS REACTIONS

PLAY POS. = 576 LBS
FOLDED POS. = 1,440 LBS

‘‘‘‘‘

Tl e g e T e e

C018.088 1/2"-13
FLANGE LOCK NUT

4" TO 14" STRUCTURE
11/8"

1/2" BOLTS W/ WASHERS

1/2"FLAT WASHER AND LOCK NUTS

1/2"-13 THREADED ROD CLAMP PLATE

1/2"FLAT WASHER

e () i B ——

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

.........

AT

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

GYMNASIUM CROSS SECTION

1/4"=1"-0"(30x42)

"W" MEMBER
/ 1/2" BOLTS W/ WASHERS

AND LOCK NUTS

CLAMP PLATE

\ 4"% 11GA. TUBE

POWDER COATED

/"2 GOAL TO ROUND TUBE CONNECTION

S4.1 / 6"=1'-0"(30x42)

71/16"

521/32"

3/8"

3/ 5/8" BOLT

NOTE: BACKSTOP CONNECTION DETAILS PROVIDED
BY DRAPER. DETAILS ARE FOR CONCEPTUAL
PURPOSES ONLY AND MAY NOT DEPICT ACTUAL
FIELD CONDITIONS. DRAPER IS RESPONSIBLE FOR
BACKSTOP CONNECTION DETAILS.

15/8" SLOT —

3/8" —

—~— 2 3/4"

C002.695 1/4" THICK STEEL
BRACKET POWDER COATED

C019.069 1/2"-13x4"Q U-BOLT
ZINC PLATED

BACKSTOP FRAME W/
/ PLATE HANGER

S4.1 / 6"=1'-0"(30x42)

S4.1 / 6"=1-0"(30x42)

/"3 GOAL TO ROUND TUBE CONNECTION /"4 GOAL TO "W" MEMBER CONNECTION

"W" MEMBER

5/8" BOLT

/ 3/8" PLATE

5 \ GOAL TO "W" MEMBER CONNECTION

D

1/2" BOLTS W/ WASHERS AND LOCK NUTS

CLAMP PLATE

BACKSTOP FRAME W/
/ PLATE HANGER

S4.1 / 6"=1'-0"(30x42)

5 <
o Q0
-
Zx WO
oEexh
2Ly
QCOEG
2O Y <
ogT. =
D == W<
382
N=~0
8
i
o

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

LOWER CEILING
LIGHT FRAMING
PLAN

DRAWING NUMBER

S2.11



MK Weber Laptop 7
FL


END OF WALL @ 30.174933, -85.64848

39!_4"

4|_0|| |
4"6" ]
4"6" |

IS

— A4

B

~

POST TO POST GATE \g

\_-

<

N

I:’_

6'_4"

TOP OF FOOTING=28.00' 1

TOP OF FOOTING=28.00'

TOP OF FOOTING=28.00'

99!_4"

\ TOP OF FOOTING=25.50'

FOOTING STEPS.
SEE 4/S3.4

112'-1 1/2"

SUBSTANTIAL AMOUNT OF /

STRUCTURAL FILL WILL BE
REQUIRED IN THIS AREA

=4

- 4"6"

TOP OF FOOTING=23.00'

X~ """\ —

42'-8 1/2"

S

SEE 4/S3.4

r—— TOP OF FOOTING=29.82' (TYP.)

TOP OF FOOTING=23.00'

L

-]
o
T — ]

FOOTING STEPS.

ELEVATION LINES. REFER |

TO CIVIL DRAWINGS |

8' WIDE DOUBLE GATE
FOR MAINTENANCE

SEE 4/S3.4
— = T T L T
4|_6l|

- TOP OF FOOTING=23.00'

CHAIN LINK FENCE -

RETAINING WALL PLAN VIEW

1"=15-0"(30x42)

4

a4

F WALL @ 30.174245, -85.648362

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

/7, /f:'é:s /O N A L E“\\\\\\

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

5 <
o Q0
-
Zx WO
oEexh
2Ly
QCOEG
2O Y <
ogT. =
D == W<
382
N=~0
8
i
o

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

MULTI-PURPOSE
BUILDING
FOUNDATION PLAN

DRAWING NUMBER

S2.12



MK Weber Laptop 7
FL


NOTE: ALL COLUMNS HAVE

23 KIP/FT MOMENT AT BASE

160 MPH WALL FRAMING

PROVIDE 14ga METAL STUD
THICKNESS FOR ALL PERIMETER
EXTERIOR METALS STUDS

160 MPH COLUMN SCHEDULE
1ST LEVEL 2ND LEVEL

# |SIZE (160 MPH)| LOAD DATA CONNECTION | CONNECTION BASE PLATE HEIGHT
1 HSS 6x6x3/8 15 KIP+2 KIP/FT 20N S4.0 NO CONNECTION 6 ON S4.1 19'-2"
2 HSS 6x6x3/8 5 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
3 HSS 6x6x3/8 30 KIP 20N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
4 HSS 6x6x3/8 5 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
5 HSS 6x6x3/8 5 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
6 HSS 6x6x3/8 5 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
7 HSS 6x6x3/8 15 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
8 HSS 6x6x3/8 30 KIP 20N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
9 HSS 6x6x3/8 15 KIP+2 KIP/FT 20N S4.0 NO CONNECTION 7 ON S4.1 16'-2"
10 HSS 6x6x5/8 15 KIP+2 KIP/FT 20N S4.0 20N S4.0 7 ON S4.1 23'-6"
11 HSS 6x6x5/8 30 KIP 20N S4.0 20N S4.0 5 ON S4.1 23'-6"
12 HSS 6x6x5/8 30 KIP 2& 3 0N S4.0 20N S4.0 5 ON S4.1 23'-6"
13 HSS 6x6x3/8 15 KIP+2 KIP/FT 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
14 HSS 6x6x5/8 15 KIP+2 KIP/FT 20N S4.0 20N S4.0 6 ON S4.1 23'-6"
15 HSS 6x6x5/8 15 KIP+2 KIP/FT 1 ON S4.0 20N S4.0 6 ON S4.1 23'-6"
16 HSS 6x6x5/8 15 KIP+2 KIP/FT 1 ON S4.0 2 0ON S4.0 7 ON S4.1 23'-6"
17 HSS 6x6x5/8 30 KIP 2&50N S4.0 2 0ON S4.0 5 ON S4.1 20'-6"
18 HSS 6x6x5/8 30 KIP 2 ON S4.0 2&4 0N S4.0 5 ON S4.1 23'-6"
19 HSS 6x6x5/8 30 KIP 20N S4.0 2 ON S4.0 5 ON S4.1 23'-6"
20 HSS 6x6x5/8 30 KIP 20N S4.0 20N S4.0 5 ON S4.1 23'-6"
21 HSS 6x6x5/8 30 KIP 20N S4.0 20N S4.0 5 ON S$4.1 23'-6"
22 HSS 6x6x5/8 30 KIP 20N S4.0 20N S4.0 5 ON S4.1 23'-6"
23 HSS 6x6x5/8 15 KIP+2 KIP/FT 20N S4.0 20N S4.0 7 ON S4.1 23'-6"
24 HSS 6x6x5/8 15 KIP+2 KIP/FT 20N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
25 HSS 6x6x3/8 15 KIP+2 KIP/FT 2&3 0N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
26 HSS 6x6x3/8 30 KIP 2,3,&4 0N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
27 HSS 6x6x3/8 30 KIP 3 ON S4.0 NO CONNECTION 5 ON S4.1 16'-2"
28 HSS 6x6x5/8 30 KIP 2& 3 0N S4.0 3&7 0N S4.0 5 ON S4.1 23'-6"
29 HSS 6x6x5/8 15 KIP+2 KIP/FT 1 ON S4.0 2& 3 0N S4.0 7 ON S4.1 23'-6"
30 HSS 6x6x5/8 15 KIP+2 KIP/FT 1 ON S4.0 2&4 0N S4.0 7 ON S4.1 23'-6"
31 HSS 6x6x5/8 30 KIP 3 ON S4.0 4 &7 ON S4.0 5 ON S$4.1 23'-6"
32 HSS 6x6x3/8 30 KIP 2& 3 0ON S4.0 NO CONNECTION 5 ON S4.1 16'-2"
33 HSS 6x6x3/8 15 KIP+2 KIP/FT 2& 30N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
34 HSS 6x6x3/8 15 KIP+2 KIP/FT 2& 30N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
35 HSS 6x6x3/8 30 KIP 2,3,&4 0N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
36 HSS 6x6x3/8 30 KIP 20N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
37 HSS 6x6x5/8 30 KIP 2& 3 0ON S4.0 7 ON S4.0 5 ON S4.1 23'-6"
38 HSS 6x6x5/8 15 KIP+2 KIP/FT 1 ON S4.0 2& 3 0N S4.0 7 ON S4.1 23'-6"
39 HSS 6x6x5/8 15 KIP+2 KIP/FT 1 ON S4.0 2& 3 0N S4.0 7 ON S4.1 23'-6"
40 HSS 6x6x5/8 30 KIP 2& 3 0N S4.0 3&7 0N S4.0 5 ON S4.1 23'-6"
41 HSS 6x6x3/8 30 KIP 20N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
42 HSS 6x6x3/8 30 KIP 2& 3 0N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
43 HSS 6x6x3/8 15 KIP+2 KIP/FT 2&3 0N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
44 HSS 6x6x3/8 15 KIP+2 KIP/FT 2& 3 0N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
45 HSS 6x6x3/8 30 KIP 2& 3 0N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
46 HSS 6x6x3/8 30 KIP 20N S4.0 2& 3 0N S4.0 5 ON S4.1 16'-2"
47 HSS 6x6x5/8 30 KIP 2& 3 0N S4.0 7 ON S4.0 5 ON S$4.1 23'-6"
48 HSS 6x6x5/8 15 KIP+2 KIP/FT 1 ON S4.0 NO CONNECTION 7 ON S4.1 23'-6"
49 HSS 6x6x5/8 15 KIP+2 KIP/FT 1 ON S4.0 20N S4.0 6 ON S4.1 23'-6"
50 HSS 6x6x5/8 15 KIP+2 KIP/FT 1 ON S4.0 2 0ON S4.0 7 ON S4.1 23'-6"
51 HSS 6x6x5/8 15 KIP+2 KIP/FT 1 ON S4.0 20N S4.0 7 ON S4.1 23'-6"
52 HSS 6x6x5/8 15 KIP+2 KIP/FT 1& 20N S4.0 2&4 0N S4.0 7 ON S4.1 23'-6"
53 HSS 6x6x3/8 15 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
o4 HSS 6x6x3/8 15 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
95 HSS 6x6x3/8 15 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
56 HSS 6x6x3/8 15 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
o7 HSS 6x6x3/8 15 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 5 ON S4.1 19'-2"
58 CANOPY COLUMN 2 KIP+2 KIP/FT | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
59 CANOPY COLUMN 2 KIP+2 KIP/FT | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
60 CANOPY COLUMN 2 KIP+2 KIP/FT | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
61 CANOPY COLUMN 2 KIP+2 KIP/FT | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
62 CANOPY COLUMN 2 KIP+2 KIP/FT | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
63 CANOPY COLUMN 3 KIP+9 KIP/FT SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
64 CANOPY COLUMN 3 KIP+9 KIP/FT SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
65 CANOPY COLUMN 3 KIP+9 KIP/FT SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
66 CANOPY COLUMN 3 KIP+9 KIP/FT SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
67 CANOPY COLUMN 3 KIP+9 KIP/FT SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
68 CANOPY COLUMN 3 KIP+9 KIP/FT SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
69 CANOPY COLUMN 3 KIP+9 KIP/FT SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
70 CANOPY COLUMN 3 KIP+9 KIP/FT SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
71 HSS 6x6x3/8 15 KIP+2 KIP/FT NO CONNECTION 1 ON S4.2 3 ON S4.2 SEE S4.2

NOTE: KNIFE PLATE HEIGHTS FOR W8 MEMBERS ARE NOTED ON
SHEETS S2.4 AND S2.5. ALL OTHER DIMENSIONS ARE THE SAME

TOP OF 1ST LEVEL KNIFE PLATE

SEE COLUMN SCHEDULE FOR HEIGHT

0

16'-0 1/2"

mTYPICAL LEVEL 1 COLUMN HEIGHTS

S2.13/ 1"=1-0"(30x42)

SEE COLUMN SCHEDULE FOR HEIGHT

TOP OF 2ND LEVEL KNIFE PLATE

0

TOP OF 1ST LEVEL KNIFE PLATE

0

5'_8"

204 1/2"

16'-0 1/2"

m TYPICAL LEVEL 2 COLUMN HEIGHTS

S2.13/ 1"=1-0"(30x42)

/"3 6'-8" TURNDOWN REBAR DETAIL

7,
7,
7L 1'-0" —A

S2.13/ 1"=1"-0"(30x42)

Ny
Lok

/2 \ #5 REBAR HOOK DETAIL

aﬁ 16"

S2.13/ 1"=1-0"(30x42)

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

\\\\\H””I[I/

SX8 WV 5,
Q’Q\\CENSQ <

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

5 <
o Q0
-
Zx WO
oEexh
2Ly
DCOE(_J
2O Y <
ogT. =
D == W<
382
N=~0
8
i
o

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

COLUMN SCHEDULE
AND REFERENCE
DETAILS

DRAWING NUMBER

S2.13



MK Weber Laptop 7
FL


NOTE: ALL COLUMNS HAVE
23 KIP/FT MOMENT AT BASE

140 MPH COLUMN SCHEDULE
1ST LEVEL 2ND LEVEL

# |SIZE (140 MPH)| LOAD DATA CONNECTION | CONNECTION BASE PLATE HEIGHT
1 HSS 6x6x5/16 15 KIP+2 KIP/FT 20N S4.0 NO CONNECTION 6 ON S4.1 19'-2"
2 HSS 6x6x5/16 5 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
3 HSS 6x6x5/16 30 KIP 20N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
4 HSS 6x6x5/16 5 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
5 HSS 6x6x5/16 5 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
6 HSS 6x6x5/16 5 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
7 HSS 6x6x5/16 15 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
8 HSS 6x6x5/16 30 KIP 20N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
9 HSS 6x6x5/16 15 KIP+2 KIP/FT 20N S4.0 NO CONNECTION 7 ON S4.1 16'-2"
10 HSS 6x6x1/2 15 KIP+2 KIP/FT 20N S4.0 20N S4.0 7 ON S4.1 23'-6"
11 HSS 6x6x1/2 30 KIP 20N S4.0 20N S4.0 5 ON S4.1 23'-6"
12 HSS 6x6x1/2 30 KIP 2& 3 0N S4.0 20N S4.0 5 ON S4.1 23'-6"
13 HSS 6x6x5/16 15 KIP+2 KIP/FT 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
14 HSS 6x6x1/2 15 KIP+2 KIP/FT 20N S4.0 20N S4.0 6 ON S4.1 23'-6"
15 HSS 6x6x1/2 15 KIP+2 KIP/FT 1 ON S4.0 20N S4.0 6 ON S4.1 23'-6"
16 HSS 6x6x1/2 15 KIP+2 KIP/FT 1 ON S4.0 2 0ON S4.0 7 ON S4.1 23'-6"
17 HSS 6x6x1/2 30 KIP 2&50N S4.0 2 0ON S4.0 5 ON S4.1 20'-6"
18 HSS 6x6x1/2 30 KIP 2 ON S4.0 2&4 0N S4.0 5 ON S4.1 23'-6"
19 HSS 6x6x1/2 30 KIP 20N S4.0 2 ON S4.0 5 ON S4.1 23'-6"
20 HSS 6x6x1/2 30 KIP 20N S4.0 20N S4.0 5 ON S4.1 23'-6"
21 HSS 6x6x1/2 30 KIP 20N S4.0 20N S4.0 5 ON S$4.1 23'-6"
22 HSS 6x6x1/2 30 KIP 20N S4.0 20N S4.0 5 ON S4.1 23'-6"
23 HSS 6x6x1/2 15 KIP+2 KIP/FT 20N S4.0 20N S4.0 7 ON S4.1 23'-6"
24 HSS 6x6x1/2 15 KIP+2 KIP/FT 20N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
25 HSS 6x6x5/16 15 KIP+2 KIP/FT 2&3 0N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
26 HSS 6x6x5/16 30 KIP 2,3,&4 0N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
27 HSS 6x6x5/16 30 KIP 3 ON S4.0 NO CONNECTION 5 ON S4.1 16'-2"
28 HSS 6x6x1/2 30 KIP 2& 3 0N S4.0 3&7 0N S4.0 5 ON S4.1 23'-6"
29 HSS 6x6x1/2 15 KIP+2 KIP/FT 1 ON S4.0 2& 3 0N S4.0 7 ON S4.1 23'-6"
30 HSS 6x6x5/8 15 KIP+2 KIP/FT 1 ON S4.0 2&4 0N S4.0 7 ON S4.1 23'-6"
31 HSS 6x6x5/8 30 KIP 3 ON S4.0 4 &7 ON S4.0 5 ON S$4.1 23'-6"
32 HSS 6x6x5/16 30 KIP 2& 3 0ON S4.0 NO CONNECTION 5 ON S4.1 16'-2"
33 HSS 6x6x5/16 15 KIP+2 KIP/FT 2& 30N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
34 HSS 6x6x5/16 15 KIP+2 KIP/FT 2& 30N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
35 HSS 6x6x5/16 30 KIP 2,3,&4 0N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
36 HSS 6x6x5/16 30 KIP 20N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
37 HSS 6x6x1/2 30 KIP 2& 3 0ON S4.0 7 ON S4.0 5 ON S4.1 23'-6"
38 HSS 6x6x1/2 15 KIP+2 KIP/FT 1 ON S4.0 2& 3 0N S4.0 7 ON S4.1 23'-6"
39 HSS 6x6x1/2 15 KIP+2 KIP/FT 1 ON S4.0 2& 3 0N S4.0 7 ON S4.1 23'-6"
40 HSS 6x6x1/2 30 KIP 2& 3 0N S4.0 3&7 0N S4.0 5 ON S4.1 23'-6"
41 HSS 6x6x5/16 30 KIP 20N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
42 HSS 6x6x5/16 30 KIP 2& 3 0N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
43 HSS 6x6x5/16 15 KIP+2 KIP/FT 2&3 0N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
44 HSS 6x6x5/16 15 KIP+2 KIP/FT 2& 3 0N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
45 HSS 6x6x5/16 30 KIP 2& 3 0N S4.0 NO CONNECTION 5 ON S4.1 16'-2"
46 HSS 6x6x5/16 30 KIP 20N S4.0 2& 3 0N S4.0 5 ON S4.1 16'-2"
47 HSS 6x6x1/2 30 KIP 2& 3 0N S4.0 7 ON S4.0 5 ON S$4.1 23'-6"
48 HSS 6x6x1/2 15 KIP+2 KIP/FT 1 ON S4.0 NO CONNECTION 7 ON S4.1 23'-6"
49 HSS 6x6x1/2 15 KIP+2 KIP/FT 1 ON S4.0 20N S4.0 6 ON S4.1 23'-6"
50 HSS 6x6x1/2 15 KIP+2 KIP/FT 1 ON S4.0 2 0ON S4.0 7 ON S4.1 23'-6"
51 HSS 6x6x1/2 15 KIP+2 KIP/FT 1 ON S4.0 20N S4.0 7 ON S4.1 23'-6"
52 HSS 6x6x1/2 15 KIP+2 KIP/FT 1& 20N S4.0 2&4 0N S4.0 7 ON S4.1 23'-6"
53 HSS 6x6x5/16 15 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
o4 HSS 6x6x5/16 15 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
95 HSS 6x6x5/16 15 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
56 HSS 6x6x5/16 15 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 7 ON S4.1 19'-2"
o7 HSS 6x6x5/16 15 KIP+2 KIP/FT 1& 20N S4.0 NO CONNECTION 5 ON S4.1 19'-2"
58 CANOPY COLUMN 2 KIP+2 KIP/FT | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
59 CANOPY COLUMN 2 KIP+2 KIP/FT | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
60 CANOPY COLUMN 2 KIP+2 KIP/FT | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
61 CANOPY COLUMN 2 KIP+2 KIP/FT | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
62 CANOPY COLUMN 2 KIP+2 KIP/FT | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
63 CANOPY COLUMN 3 KIP+9 KIP/FT SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
64 CANOPY COLUMN 3 KIP+9 KIP/FT SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
65 CANOPY COLUMN 3 KIP+9 KIP/FT SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
66 CANOPY COLUMN 3 KIP+9 KIP/FT SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
67 CANOPY COLUMN 3 KIP+9 KIP/FT SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
68 CANOPY COLUMN 3 KIP+9 KIP/FT SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
69 CANOPY COLUMN 3 KIP+9 KIP/FT SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
70 CANOPY COLUMN 3 KIP+9 KIP/FT SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS | SEE MANUF. SPECS
71 HSS 6x6x3/8 15 KIP+2 KIP/FT NO CONNECTION 1 ON S4.2 3 ON S4.2 SEE S4.2

NOTE: KNIFE PLATE HEIGHTS FOR W8 MEMBERS ARE NOTED ON
SHEETS S2.4 AND S2.5. ALL OTHER DIMENSIONS ARE THE SAME

TOP OF 1ST LEVEL KNIFE PLATE

0

SEE COLUMN SCHEDULE FOR HEIGHT
16'-0 1/2"

mTYPICAL LEVEL 1 COLUMN HEIGHTS

S2.13/ 1"=1-0"(30x42)

SEE COLUMN SCHEDULE FOR HEIGHT

TOP OF 2ND LEVEL KNIFE PLATE

0

TOP OF 1ST LEVEL KNIFE PLATE

0

5'_8"

204 1/2"

16'-0 1/2"

m TYPICAL LEVEL 2 COLUMN HEIGHTS

S2.13/ 1"=1-0"(30x42)

/"3 6'-8" TURNDOWN REBAR DETAIL

7,
7,
7L 1'-0" —A

S2.13/ 1"=1"-0"(30x42)

Ny
Lok

/2 \ #5 REBAR HOOK DETAIL

aﬁ 16"

S2.13/ 1"=1-0"(30x42)

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

.
---------

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

5 <
o Q0
-
Zx WO
oEexh
2Ly
DCOE(_J
2O Y <
ogT. =
D == W<
382
N=~0
8
i
o

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

COLUMN SCHEDULE
AND REFERENCE
DETAILS

DRAWING NUMBER

S2.13 AL



MK Weber Laptop 7
FL


6'-8" #5 TURNDOWN REBAR (SEE 3/S2.13) @ 24" O.C. @ PERIMETER

( (3) #5 CONTINUOUS REBAR REINFORCEMENT

(5) #6 CONT. REBAR
REINFORCEMENT

#6 REINFORCMENT
REBAR @ 12" O.C.
(5) #6 CONT. REBAR
REINFORCEMENT

#6 REINFORCMENT
REBAR @ 12" O.C.

49

—- ]
“ . “ FFE=31,00
v 3 y 2 /A A\A
- \ A
> =
X 10— —X— X—& &
A - A ‘ 4 %4 i <
N N 94 _ > ‘ N =
4 I N
< J$N 4 -1
4 2 7 . JN < h —
R
< -
& " &
N A a7y, J
a4 \EA
- N
N
A
A - ol
COLD JOINT . a .
N
‘I - o
N
o N
N
pal
‘ < Aﬂi 2
N <
N
< N
b N
4 Ai <
N
< N
N
(2)#6 CONT.REBAR <~ | ". |- f| .
REINFORCEMENT @ o
16" O.C. N \i
N
e 3
N
12" STEM WALL Ao
<
xx e 3
N 4
A ; 4 § ,
J
< N
N
4 4 N
N
N
< N
N
’ 11 Ai g 4
4 N
4 N
e el
< 4 J
N
pal ! i
< : 24 <7§A
\ 4
N g
N
A S] i ”
4 N
< A \<7
N
< 4 § ya)
N
< N
N
44 N
. ey |
N
N
<
I
(2) #6 VERTICAL . 1.
REINFORCEMENT W/ N><\§
N
12" HOOK @ 16" O.C. - s AL
N
<
) 3
< 4 <7§ 2
1 .
N
o ol -
N
s b B NOTE: BACKFILL WALLS IN NO
° SRR N MORE THAN 2'-0" DIFFERENTIALS
N
el < A Y b
1.9 £ 10 ¢
4 N
N 47
N
COLD JOINT ) b
N -
3\ N
A N
4 < N 4 P l
v 4 4 9 44 ) . § < < pa) P 4<7 4 )
4 4 2 <74 <] 4
///////////////////////////////////////////////////////////////////g
4 N < ‘ o 4 R
a 7 4 < i A < 4 <
4 a < A
< a 3 a s iA ) < 5 4 ;
4 N NIRY 4 a 4
7 a 2 <, qd N N A<1 4 a, =
< < 4 4 a B <;A id < 9 ?
v g N 4 a 4 ” < ~
298 ” i < 44 4 4
4 ¥ 4 < N “ 4 < 4
a s 2 <’ A <, a
< > A A < <

a
///////////////////////////////////////////////////////////////////g
4

-

4

pay < 2

4 /////ﬁ/////////q
pa)

<
NN NN NN NNNNNNNN < F)

4

4 <

4 < F
4

4 4

<

4

4 4 4

W
0 -
z%o AD |
P

.
s
s
o

s
.
8t

Q
O
Q
Q

5

;000
SO
ERcOARE

RAMMED AGGREGATE PIER UNDER
GYM FOUNDATION ONLY. SIZING
AND DEPTH BY OTHERS BASED ON
LOADS PER SHEET S2.0

/1 \ TYPICAL STEM WALL DETAIL

W 1 1/2"=1'-0"(30x42)

(3) #5 CONTINUOUS REBAR REINFORCEMENT

TOP OF FOOTING=23.00'

(5) #6 CONT. REBAR — |
REINFORCEMENT

#6 REINFORCMENT 7
REBAR @ 12" O.C.

(5) #6 CONT. REBAR — |
REINFORCEMENT

#6 REINFORCMENT 7
REBAR @ 12" O.C.

COLD JOINT =7

12" STEM WALL "~

(2) #6 CONT. REBAR AN
REINFORCEMENT @
16" O.C.

(2) #6 VERTICAL
REINFORCEMENT W/
12" HOOK @ 16" O.C.

1 1_9"

TOP OF WALL=31.00'

COLD JOINT RN

WALE (SEE 9/S3.3)

/%;/%ﬁ

4 <744

4

<
A a4

4

S S S A A S SSSSSSSASSLSSSASS LSS S S S S S S S SSSSS

5|_0"
— ]
N  _ _FFE=31.00°
]
\NA\\‘M
>< N
e ) 8" (MIN))
4 N <
N 4 _
N 27 K N
a I N 4 -!
4 ] 4 g < ~
¢ N
- o
. N
4<7
SIN 2 IR\
A EH
¢ ; 4 EA l\
a TR
¢ N
< 41
a ¢ N ’
2
. & .
¢ N
< ; N
A N
A;q Adi 4 B
¢ N
. N
2 EAN
hh 2 4
¢ SN a
<
aff N
2 < N
a . N
v ;A §<7 4
. N
AR
R 2 B i
N 21
2 JE A
¢ N
2 J <
A; Aq iA
¢ N
K
% J 4
A; 4 2 i 4
¢ N
< ; i
;4 4§
2 Jd 4%«
¢ N
. ERN
. N
\A\/\f L4
i N
4
Cpel
< 0 X3
¢ N
4 ;q §
S S Y, J -
. N 4
¢ N
; N <
N % 4 i a
¢ N
4 . R
< V) 4 I 4
. N
% A & A
. N
< 2 R
¢ N
4 a
' e .
. N
% “ I
4 | 4 N
<l N
¢ N
4
4 /\\
< ; 4 §<74
¢ N
AR J
2 N
! g B P
. N
% 1
. NN
2 < J a
9 [
< 1 J. NOTE: BACKFILL WALLS IN NO
N 4 e ———
E . 4 ., MORE THAN 2'-0" DIFFERENTIALS
¢ N
AN y
10" |
4 A N
AW
2 i 47
¢ N
2 < [
a I N
<7; 4 iAq
. N
\ ¢ Pai N
N
A a4
. ) i N Mﬂ 4 A 4 2
< ; N v A 4
A ///////////////////////////////i
a4
g pa)
; o p £l 4 g 8 A 5
PR I . 4
2 4 4 J 4 <
TP g a ) 4
. < 4 2 =
A< v (co}
40 A < _i
9 /. 4 4 4 A4 N < -
s < 42 2
2 P 4 a e 4
[ {< B 4
‘I « .

a
S S A A LSS S S S S S AS S AS AL

[l A L L L
4

a

\

[

\M ! < 4 Ai
DN N NN NN AN NN NN NN < 4

<

<

4

a < < 4 4 2 R} <
a9 A 4 N < 4 a A 4
050505
ey
C 4
AL
s@s@g=gs= RAMMED AGGREGATE PIER UNDER
SO0 / GYM FOUNDATION ONLY. SIZING
74 >4 (>Q
c9-0-0- AND DEPTH BY OTHERS BASED ON
OSSO LOADS PER SHEET S2.0
-
00505

/2 \ TYPICAL STEM WALL DETAIL

4'_0"

-

1/4" BENT STEEL PLATE WELDED
TO TOP OF SHEET PILE WALL

L3x2x1/4 (LONG LEG VERTICAL)
@ 6" LENGTH IN INSIDE OF EA.
FLANGE (SEE 8/S3.3)

\ 40'-0" PZC 26 SHEET PILE OR EQUAL

APPLY SHERWIN-WILLIAMS ACROLON
218HS PER MANUFACTURERS
RECOMMENDATIONS (COLOR PER
OWNER)

INSTALL 4" OPEN END JET FILTER @ 10'-0"
0O.C.MAX @ AN ELEVATION OF 24.50'.
MAINTAIN FILTER PER MANUFACTURERS
RECOMMENDATIONS

/

1 |_6||

TOP OF BANK=23.00'

@ 11/2"=1-0"(30x42)

BE

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

W,

\\\\\\‘2\ EDW IN S/Z*/////

.........

g;:ééf;.--;\c EN§§--§;> 2

S~ (’ -~
SQT. “z
S No.60549 “ 4=
TP .V
= o- STATE OF a3
2//%/(.;-' L 0 \0 v‘. '..éﬁ/kl\\\\\
7, et ORI NS

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

S <
o Q
-
Z WO
INNTTRORE
oEexh
Z ~
=gy
¥ O LG
2O Y <
ogT. =
D - W<
=T
wSRa
=
5
5
3
o
B
a
=
o
JOB NUMBER: 21247
DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

FOUNDATION
DETAILS

DRAWING NUMBER

S3.0



MK Weber Laptop 7
FL


(3) #5 CONTINUOUS REBAR REINFORCEMENT.
START/STOP INTERSECTING REBAR @ EA.
SIDE OF COLUMNS

(4) 1"@x18" @ SIDEWALL (4)
3/4"@x18" @ ENDWALL ANCHOR
BOLTS W/ 15" EMBEDMENT

S 1"4"MAX. ———A

LN =
Eo IS
RS N
}ﬁ
o
<
N
N

#3 HORIZONTAL REBAR
TIES @ 6" O.C. FOR
FIRST 18" THEN 12" O.C.

TOP OF FOOTING=23.00'

(12) #6 VERTICAL REBAR
REINFORCEMENT W/
STANDARD HOOKS

(2) #6 CONT. REBAR
REINFORCEMENT
@ 16" O.C.

COLD JOINT

NOTE: BACKFILL WALLS IN NO
MORE THAN 2'-0" DIFFERENTIALS

COLD JOINT =X

(5) #6 CONT. REBAR
REINFORCEMENT
|

#6 REINFORCMENT
REBAR @ 12" O.C.

(5) #6 CONT. REBAR

a
LLL L L0070 000 L

LLL L

N

<

LL LA AL LA LLLLLLLLLLLLLLLLLLL
4

a
LSS S AL AL LSS S S S S S AS AL S S S S S S AL S LSS S LSS S

‘o

N

1 |_8ll

R

)

'y
Y

@,

Q

N

.

Y
s

O S
O@A”z

Q

@,

o4

N

REINFORCEMENT

|
#6 REINFORCMENT
REBAR @ 12" O.C.

N

@,

)

'y
Y

@,

)

Q

@,

X

QU

)

Y

\

.

)

Y

Q

Y

.

Y

)

Y

Q

Y

i

Q

@,

.

2y

<

[

RAMMED AGGREGATE PIER UNDER
GYM FOUNDATION ONLY. SIZING
AND DEPTH BY OTHERS BASED ON
LOADS PER SHEET S2.0

Q

@,

.

Q

Q

@,

5 s

<

/~ 1\ STEM WALL DETAIL @ P.E.M.B. COLUMNS

V¢
A

\Eejy 11/2"=1-0"(30x42)

(3) #5 CONTINUOUS REBAR REINFORCEMENT.
START/STOP INTERSECTING REBAR @ EA.
SIDE OF COLUMNS

(4) 1"@x18" @ SIDEWALL (4)
3/4"Px18" @ ENDWALL ANCHOR
BOLTS W/ 15" EMBEDMENT

A 1-4"MAX. ———#

N e

/ #5 REBAR HAIRPIN

ESENN
A‘% IS
%
<
N
N

—_ N N

FFE=31.00'

-~ 8"(MIN.)

/

A

TOP OF FOOTING=23.00'

va

g

COLD JOINT X

7£ 1 l_2ll

COLD JOINT

#3 HORIZONTAL REBAR
TIES @ 6" O.C. FOR
FIRST 18" THEN 12" O.C.

(12) #6 VERTICAL REBAR
REINFORCEMENT W/
STANDARD HOOKS

(2) #6 CONT. REBAR
REINFORCEMENT
@ 16" O.C.

4'_0"

il

1

WALE (SEE 9/S3.3)

<

-

TOP OF WALL=31.00'

1/4" BENT STEEL PLATE WELDED
TO TOP OF SHEET PILE WALL

L3x2x1/4 (LONG LEG VERTICAL)
@ 6" LENGTH IN INSIDE OF EA.
FLANGE (SEE 8/S3.3)

40'-0" PZC 26 SHEET PILE OR EQUAL

APPLY SHERWIN-WILLIAMS ACROLON
218HS PER MANUFACTURERS
RECOMMENDATIONS (COLOR PER
OWNER)

INSTALL 4" OPEN END JET FILTER @ 10'-0"
O.C.MAX @ AN ELEVATION OF 24.50'".
MAINTAIN FILTER PER MANUFACTURERS
RECOMMENDATIONS

/

NOTE: BACKFILL WALLS IN NO
MORE THAN 2'-0" DIFFERENTIALS

(5) #6 CONT. REBAR
REINFORCEMENT
|

#6 REINFORCMENT
REBAR @ 12" O.C.

4
VAN N NN

L L LL L LLL

AN

//////////////////////////////g
4

4 a

1 l_8|l

Iy

a4

\
O N
Y

(5) #6 CONT. REBAR
REINFORCEMENT

|
#6 REINFORCMENT
REBAR @ 12" O.C.

Y
Y

K
N

)

Y

.
.

Y

Q

@,

.

Y

Q

N

LI?

Q

é@Q

Y

Y
Y

QU

)

)

.

Y

Q

@,

.

Q

O

Q

Y
Y

.

Yo

N

o

Q
Q

Y
Y

il

'y
Y

RAMMED AGGREGATE PIER UNDER
GYM FOUNDATION ONLY. SIZING

AND DEPTH BY OTHERS BASED ON
LOADS PER SHEET S2.0

/"2 \ STEM WALL DETAIL @ P.E.M.B. COLUMNS

1 |_6||

.
---------

DIGITAL

STRUCTURAL PLANS For:

MLK REC. CENTER
705 E. 14TH STREET

DATE

\S%y 11/2"=1'-0"(30x42)

DESCRIPTION

>
L
x

JOB NUMBER:

DRAWN BY:

CHECKED BY:

DETAILS

S3.1

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

PANAMA CITY, FLORIDA

PLOT DATE: 5/18/2023
SHEET TITLE

FOUNDATION

DRAWING NUMBER



MK Weber Laptop 7
FL


6'-8" #5 TURNDOWN (SEE 3/S2.13) REBAR @ 24" O.C. @ PERIMETER

(3) #5 CONTINUOUS REBAR REINFORCEMENT

N ——... FFE=31.00'
- - 7 A3,
== N 244
< 2 X— 10 —X— - X—! NP ?\N\\\
< /\‘ 4 . a 4 ., Ai B
N ? 4 0 N 4 Q g\l
’ 4 s 7 ’ § < 4 .\b
‘ aa [
NANAN S JP ’\

7 e L

COLD JOINT —<| “.1| 4 \

(2) #6 CONT. REBAR ~~| ° A N
REINFORCEMENT e (2) #6 VERTICAL
e ) REINFORCEMENT W/
: o 12" HOOK @ 16" O.C.

1!_9" . A 1|:0|| S < y

% 12 STEMWALL “~| "= [|© |- 4
COLD JOlNT _\ < 4 4 Sﬂ

S 4 < N B 4 2 )
2 744 4 g § < a4, ” )
_ AR\ 4 < x ’

(5) #6 CONT. REBAR
REINFORCEMENT

#6 REINFORCMENT

al <

//////////////////////////////g
4

////////////////‘/////////////////'///
a
<
a < 4
A <

4 2

1!_8"

REBAR @ 12" O.C. />/ o

(5) #6 CONT. REBAR
REINFORCEMENT

/
#6 REINFORCMENT |
REBAR @ 12" O.C.

(3) #5 CONTINUOUS REBAR REINFORCEMENT. START/STOP
INTERSECTING REBAR @ EA. SIDE OF COLUMNS N

///////////////////////ﬂ////////////////‘/}/////////(/{/\i/\i/\i/\i/\/\/\/\/\//:7////4/////4:7/& .
< : 4 ’ 4 a ’ < A <

a9 4 B “ 4 N < ‘ < B E 2 44 Aq
R
ey
A
SOS]
8@8@8@5 RAMMED AGGREGATE PIER UNDER
;QQQ%%QQG / GYM FOUNDATION ONLY. SIZING
P > AND DEPTH BY OTHERS BASED ON
5‘6%90% LOADS PER SHEET $2.0
pRes >

/ 1\ TYPICAL STEM WALL DETAIL

@ 11/2"=1'-0"(30x42)

(3) #5 CONTINUOUS REBAR REINFORCEMENT. '

FFE=31.00'

= 1-1/4"9x18" ANCHOR BOLTS ——

W/ 15" EMBEDMENT

> (8) #6 VERTICAL REBAR REINFORCEMENT W/ STANDARD HOOKS

[ < (2) #6 CONT. REBAR REINFORCEMENT

1 |_9ll

START/STOP INTERSECTING REBAR @ EA. vy
SIDE OF COLUMNS C0
|
N = > b I
% EGEIN & v : Mo | ' >
IN EO> > . > {B vb \ N I o .A
\ N A% & ol : v |
N ’ N = v 1 |
e (A T 1
N LN N ——
N - Iv
PSRN ! e ||| e
\7 s J Pdaml Ham:! /
[ N <
AY /P . N § / . |
COLDJOINT < g |d * pg° g
#3 HORIZONTAL -~ N /
REBAR TIES @ 6" O.C. e . B .
N K .
@ E SRR
INARN IN B
| i A N
COLD JOINT = P - '
\ N \lv i §
TOP OF FOOTING=28.00" | .~ ~ "~ L e

<

(5) #6 CONT. REBAR
REINFORCEMENT

/
#6 REINFORCMENT 7 .

REBAR @ 12" O.C. 7 Te . o ® O0-
/ 4 N < ‘ 4 4
A <

< 4 4
=] Ay
LS AL LA AT A AT AL AT AL A AT A AT AL A LA AL AL AL LA LA A LA AL AL LA A AT AL AL A A A LA
=5 A
4
A ) A < P y) 4
a < A < a
4 P <
< 4 a 2 < 4 9
4 5 4 A 4 <
A < < a 4 A
4 g P g a
4 4 < 4 2 =
f ) v 4 4 v o0
< 4 2 A < 1
< 4 ) N < <
< g a4 4 ” ~
Aqd 4 < < a2 < 4 Py
i i A7 < 4 g 4
4
| p < » 4
< 4 4 0 P
///////////////////////////////////////////////////////////////////g
2
<
4 4 4
< 4 5
4 4 <
4
< a 4 4

(5) #6 CONT. REBAR — |
REINFORCEMENT

4'_6"

#6 REINFORCMENT — |
REBAR @ 12" O.C.

/"3 STEM WALL DETAIL @ MULTI-PURPOSE BUILDING COLUMNS

@ 11/2"=1'-0"(30x42)

~— 1"4"MAX. ———

(4) 1"@x18" @ SIDEWALL (4) 3/4"0x18" @
ENDWALL ANCHOR BOLTS W/ 15" EMBEDMENT

N FFE=31.00'
N - - N - - - — — — — -
: vh fo A < > : Av
N
\“ IN N v N
\ . f\ll
IS . & N "
N
N - \
" p | coLD JOINT
y 2'_6"> N - N’ 4
REBAI§3T|I-IE%R(|@Z (gI\g% N W R . S H - <~ (2) #6 CONT. REBAR
L > . . / REINFORCEMENT
B R
v N NN IN & .
g . > - " P (12) #6 VERTICAL REBAR
S
> v . < . j REINFORCEMENT
COLD JOINT \ . N s Am oon i /
i [N v . | . y 1!_9u
TOP OF FOOTING=28.00' N . > R s
T RNOOAOOUOANORTCANTY <4 4 4 a4 : N ] < ‘ Aﬂq 4 a4 ., )
4 4 N ya
)//:////;////////////////// ///Q;//////;//;//////4///‘:7/A/////A/////A/////g
3 P a < 4 . < ) ; j , < a 5
A 4 4 a 4 < 4 g

(5) #6 CONT. REBAR
REINFORCEMENT

|
#6 REINFORCMENT

REBAR @ 12" O.C.

S S S A A LSS LSS S S S LSS S A A LSS LA AL S S S S S S S AL S S S S SL S S SSLSSL
I b 0l € ) 0 ® [ 2 ® 4
4 < < 4

4 P < . P A < 4
<

4 a " g 4 5

4 < A A <

4

4
N
a
AN
4
N
IS
A
S
N
N a
[N
>
A
4
[N
by
[N
[N
a N
Fay
S
N
NS
y
4
N
[N
4
[N
4
N A
[N
4
[N
N AN
A
N
4
&
Bb A
1' 8"

4 4 4 v < 4 4 A A
(5) #6 CONT. REBAR ]
REINFORCEMENT et ?@ 46"
| S )
#6 REINFORCMENT OSSO

3
s
.

§
g
0
§
0
OQO

REBAR @ 12" O.C. RAMMED AGGREGATE PIER UNDER

/ GYM FOUNDATION ONLY. SIZING
AND DEPTH BY OTHERS BASED ON
LOADS PER SHEET S2.0

3
.

s
J
J
0
2N

3
<

/"2 \ STEM WALL DETAIL @ P.E.M.B. COLUMNS

@ 11/2"=1"-0"(30x42) -

(3) #5 CONTINUOUS REBAR REINFORCEMENT. o
START/STOP INTERSECTING REBAR @ EA. |
SIDE OF COLUMNS 7
FFE=31.00'
N N7 > N LN & voe \ - N tr
" b, i o |- :B NS 5 =
« - N N s
> . = ke Al 1
E\'I N N /A v ® || . vll
N AN N -
I o >
o > B e IN
g? v J . / . o N
NS = L - ; < 1-1/4"@x18" ANCHOR BOLTS W/ 15" EMBEDMENT
23 s s
COLD JOINT N [7\]I> S . A an
s - |~ (8)#6 VERTICAL REBAR REINFORCEMENT W/ STANDARD HOOKS
#3 HORIZONTAL ~~7| S S T /
REBAR TIES @ 6" O.C. . . B ” |l . |~ (2)#6 CONT. REBAR REINFORCEMENT
g ) v s /
> N > N (== n ‘ & I
S N IN B .
T AR N N
COLD JOINT oy i ' R
\ N > ) 'A ; .
TOP OF FOOTING=28.00'" |~~~ " N I | I I
< 7 44 < <7 < ’ Adq 4 A Aq 4
y) 274 . qA ) 4 4
)//:/q////////////‘///////// ///247///////;//;//////4///‘:7/45////:////:////&
//ﬂ N : ’ ‘ - a 4 ’ ? e 4 < )
4 7 4 “ A ! N A<’ ‘ ) 4, 4 “ =
(5) #6 CONT. REBAR — | . ) ] | PR | DA . ’ ®
REINFORCEMENT s ’ ‘ CAL e ) >
4 Zn A B < ) 4 g 4
4 4 v < 4
#6RE|NFORCMENT / ////j//////////<7/////////4:\/////4/////4//////\///////////q//////////j/////g
REBAR @ 12" O.C. /5 -, o T ® U ; e .
/ 4 < < ’ ‘ 4 4 ’ . Y4 <
) Yl < < 4 a 4 4
(5) #6 CONT. REBAR — |
REINFORCEMENT 2
/ _

#6 REINFORCMENT — |
REBAR @ 12" O.C.

7“4\ STEM WALL DETAIL @ MULTI-PURPOSE BUILDING COLUMNS

@ 11/2"=1'-0"(30x42) B

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

15 SIONAL N

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

5 <
o Q0
-
Zx WO
oEexh
2Ly
DCOE(_J
2O Y <
ogT. =
D == W<
382
N=~0
8
i
o

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

FOUNDATION
DETAILS

DRAWING NUMBER

S3.2



MK Weber Laptop 7
FL


w 1-1/4"@x18" ANCHOR BOLTS W/ 15" EMBEDMENT
#5 REBAR HOOK (SEE 4/S2.13) TO PROTRUDE
(4) 3-4" #5 REBAR FROM COLUMN FOOTING 8". HOOKS @ 16" O.C.
REINFORCEMENT EA. WAY structural engineering
N N 3200 W. 23RD STREET
B 2 2 " R ’ P TN P " PANAMA CITY, FL 32405
L .. E S “ y , L. G 12" STEM WALL MKWEBER.COM
ST e a7 f : ; . a N L0 (2) #6 CONT. REBAR . FL CERTIFICATE OF
¥ ) 4 4 . 74 4 A L \T REINFORCEMENT @ 16" O.C. 12" STEM WALL (2) #6 VERTICAL REINFORCEMENT AUTHORIZATION # 33120
- ° ’ . . : y W/ 12" HOOK @ 16" O.C.
AN \ /
2 N \\\\\ W ///,/
COLD JOINT . ™ =« ® A SR - N s“«,?:\..gp-g-l-/-\(:Y 5
! o . “ a, L 4 z 2 3 ) 7 » f (2) #6 VERTICAL REINFORCEMENT (2) #6 CONT. REBAR \\\\Q% NG st-.,'..,p 2
DNl L a’ e L, & Lo / .7 . 4 ” . F T W/ 12" HOOK @ 16" O.C. REINFORCEMENT @ 16" O.C. S 7 No. 60549 ik 2
) o . . =
> 1 ” R g TOP OF FOOTING=29.82' &t = = (e s S s E * Pos
PLACE COLUMN FOOTING ; F . - D N 74 2 S e, / 4 B L9y Ly _ i N E oL STATE OF  iac =
AND SET COLUMN PRIOR TO \ ‘o R I R A , > | —— — - & ie vl # 1 . \ ) F \ %%;;-. AL or 1D g,"
‘ ¥ ¥ - g < 4 = M ‘ 4 4 ’ a4 <7 ‘ a a r s = ’ N\ ‘ v 4 //// .."’-....R. ---- R N \\\\
POURING FLOOR SLAB | d= =2 i > o oo ) q o ) j ot . = — = i ST
2 < P e 4 g 4 a <, % ’ < @ 4 27 4 4 A<7 L N P < 2 2 B a <, 9 4 N N Aq \\A\ -Oéq ) 4 A% ///I’IHIH\\\\\
4 4 P 7 < pal < 3 4 4 4 <4 < !
N A i ) v N 4 _ i o o 4s > < AP S EOR: ROBERT SEARCY P.E.
% A AR y N 4 4 NNNNNN N clo 5 “ % ” ¥ E.o a1 S o 4 49 4 v a| 4, 4 4 j ” N SLT%%TSEQLEEE%SE),;EQER
2 4 7 , g S 4 ) 4 2 - h >/<’/' g N R 4 i} 4 ﬁq ) L . : } 4 4 4 g a .E.
(6)#5 v E..RTICAL REBAR K A1 | R\ i , T ’ BASE PLATE ABOVE — = || -~ . N PR : a0 12 dl, - N— : EMBOSSED/ WET STAMP
U'TIES @8"0.C. RS s T - = S g i ’ SN T ; AN ) SCANNED AND
/IZ s ~ ~ = e . ) R | T | R ° ELECTRONICALLY
E - 8 S T (12) #6 VERTICAL REBAR o e |LOf8 | - A« ‘ H BASE PLATE ABOVE TRANSMITTED COPIES OF
(6) #5 HORIZONTAL oy I T S ’ - - REINFORCEMENT / I L ’ Gr# %/ERTFISQIE:E&EQFT{ / e ) THIS DOCUMENT ARE NOT
REBAR EA. WAY @ 8" O.C. A P e I/ N Y 9 CONSIDERED VALID WITHOUT
. Ny ( ) #3 HORIZONTAL REBAR TIES @ 6" P , f s , } N 4 a, 4 . 4 ) 4 J . ) < THE PRESENCE OF BLUE INK
4" (TYPINO 0.C. FOR FIRST 18" THEN 12" O.C. S : #3 HORIZONTAL REBAR TIES @ 6" - : DIGITAL
310" 0.C. FOR FIRST 18" THEN 12" O.C.
2'-6" 2'-0" PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES
7“1\ MULTI-PURPOSE FOUNDATION CENTRAL COLUMN FOOTING /2 \ STEM WALL SECTION @ P.E.M.B. COLUMNS /"3 \ STEM WALL SECTION @ SQUARE TUBE COLUMNS
\SW 1 1/2"=1'-0"(30x42) \E?y 11/2"=1'-0"(30x42) @ 11/2"=1-0"(30x42)
#3 HORIZONTAL REBAR TIES @ 6"
0.C. FOR FIRST 18" THEN 12" O.C. &
12" STEM WALL O <
(2) #6 CONT. REBAR BASE PLATE ABOVE #3 HORIZONTAL REBAR TIES @ 12" O.C. (/L; O
: 12" STEM WALL " Y
REINFORCEMENT @ 16" O.C. #3 HORIZONTAL RI%BAR TIES"@ 6 (2) #6 VERTICAL - — Z — 04
O.C. FOR FIRST 18" THEN 12" O.C. REINFORCEMENT W/ (12) #6 VERTICAL REBAR REINFORCEMENT —| . \ \ . < w O
_ _ _ _ \ REINFORCEMENT W/ (2) #6 CONT. REBAR - P T —I Y
R / % D TP [ s 12" HOOK @ 16" O.C. REINFORCEMENT @ 16" O.C. \ . ’ S g 0 =
ﬂ > /Q : @h;‘ﬁ“ S/‘ﬁ_!/A > ‘ A & A = : a4 g ) N . A ’ N < 4 4 4 \QN ) : N 4 ) ’ ‘ ’ Y v ’ v 4 J Z w >
a <, 4 < LA . N A<7 4 4, A-OI 4% ’ A ’ o 4 a7 j - o \ 4 4 “ z ’ . VD a < m I—
W s - . &< 2 (@ 5 S | .| P . )\ g A _ S S | oy O I —=
A ‘ < = a4 A f < 4 4 < 4 i L 4 2 A o < < v v s IS v v O
2 4t 4, r ) 9 A ” o B 4 v, ) g 4 L N X % s 4 ;L ) ) Lo N ey R g D S I_
< § N 4 & 47 . Aq 5 . 4 4 4 < - Q ‘ 2 - » > A_QA - YAVAAVAAVAVA) - - % A’D v v g . & A1> P O # <
4 fi : S 4 P o ‘ ﬁq < < “ N ‘ 4 ‘ < 4 a g ’ & v v a4 v IS > VV O m < 2
B 4 ’ a v :r4 < A A ’ < @ 4 ‘ 4 4 a N ‘ < :O 4 ‘ ‘ 74 2 v z i v DV ° > m 1
— «P J 2 5 4 p 4 v & q e D m <
o g B o] N 4 2 A a7 N : 7 . ™ > v v Vﬁ@ r IT@
/kﬁ// ’ SN B 4 N < 4 4 4 4 e v s v - m x Z
BASE PLATE ABOVE —7 || -~ .| |b - . \ . SR | SRS e L. f . S A . % O
< o | | I P, ol T . <Al o ) . ) (2) #6 VERTICAL 4 ’ . S F Jd 3 <
al ! O s N BASE PLATEABOVE —1+ || =~ . |- | . . q B I REINFORCEMENT W/ b n=~n0
(12) #6 VERTICAL REBAR —|* O L O . A | A . . - 12" HOOK @ 16" O.C. -1
REINFORCEMENT ) SRR S EE N (17) #6 VERTICAL REBAR . |F g e v > 7 2
% N . - ’ BASE PLATE ABOVE REINFORCEMENT e, o | o . j ] ) X
" \! S E—— S ) x) ) a0, fe . - o A I I
#3 HORIZONTAL REBAR TIES @ 6" — | s - : e, #3 HORIZONTAL REBARTIEES @ 6" — | :ff . - ’ / M 3
O.C. FORFIRST 18" THEN 12" O.C. S T B N . O.C. FOR FIRST 18" THEN 12" O.C. e L — 9 - .t .
B ) ’ < j’ J 12" STEM WALL . v
4 4 7 4 4 < P S
3'-0" — 5 N : .ENJ. g
2'_6" 1'_5" L
/"4 \ STEM WALL SECTION @ P.E.M.B. PORTAL COLUMNS /"5 \ STEM WALL SECTION @ DOUBLE COLUMNS /"6 \ GYMNASIUM CORNER FOUNDATION DETAIL
@ 1 1/2"=1'-0"(30x42) @ 1 1/2"=1'-0"(30x42) @ 1 1/2"=1'-0"(30x42)
2'_0"
Sﬁ < A o
. 4 . 12" STEM WALL
E‘Q:' < 6\ \.\ ’ ‘ =
R . o (2) #6 VERTICAL REINFORCEMENT
(12) #6 VERTICAL REBAR . IR | W/ 12" HOOK @ 16" O.C.
REINFORCEMENT )/ ’ : J
Vi) < A s g 4
< 4 a N A < : qd
#3 HORIZONTAL REBAR TIES @ 6" i : " 4 - T P /
0.C. FOR FIRST 18" THEN 12" O.C. i E —
9 5 4 'ol a 4& . 4 <
N a4 n - N < : w
. AL g Z - s Z &/
o |« @ ) = 9 I y L. al
4 2 < 4
@ 4 . ‘ @// @ / L6x6x1/2
. / — 172"
12" STEM WALL ST RS I —X
L « . (2) #6 CONT. REBAR 3/16 | P N -
(2) #6 VERTICAL S PR REINFORCEMENT @ 16" O.C. 3116 - o
REINFORCEMENT W/ G= = =N R
12" HOOK @ 16" O.C. o 4
g 4 1 a 7 4 O
) ) a|f - (6 ) 1/4 @
AR | SRR | A A © W - 1/4 -
“ <, R /T = /O /s ©
. B E BV A‘&\A I8! i91 i8) ] is1 i
i ’ ‘ g4 4 4 ’ ! Aq g \> L|>J-
Y ' =// \////////\\\\\\\\/\/A///// . m
N\ ./ 5 3 1. s S (12) #6 VERTICAL REBAR
. i = L) REINFORCEMERT — L3x2x1/4 (LONG LEG VERTICAL) @ 6 S NE
% : ! ——— 2 e . X2X " DRAWN BY: JCC
. af L J 4, ) ) < S #3 HORIZONTAL REBAR 5.5"x5.5"x3/8" STIFFENERS @ 28 LENGTH IN INSIDE OF EA. FLANGE \ " CHEG _
s 24 g, TIES @ 6" O.C. FOR O.C. ALONG ENTIRE WALE 1on 3/8" STIFFENER @14" O.C. HECKED BY: MKW
% FIRST 18" THEN 12" O.C. L6x6x1/2 WALE ATTACHED TO EA. PLOTSaéEE'T‘TQLSE/ZO%
(2) #6 CONT. REBAR SHEET PILE W/ 3/4"@ BOLTS AS SHOWN
REINFORCEMENT @ 16" O.C. FOUNDATION
DETAILS
/7 \ STEM WALL SECTION @ JOG IN WALL FRAMING /"8 \ SHEET PILE WALL DETAIL /"9  WALE DETAIL SRAWING NUVBER
@ 1 1/2"=1-0"(30x42) @ 11/2"=1'-0"(30x42) @ 6"=1'-0"(30x42) S 3 3



MK Weber Laptop 7
FL


S 14"MAX. ———#— 83/4" —
(3) #5 CONTINUOUS REBAR REINFORCEMENT. START/STOP
INTERSECTING REBAR @ EA. SIDE OF COLUMNS
structural engineering
6'-8" #5 TURNDOWN (SEE 3/S2.13) REBAR @ 24" O.C. @ PERIMETER 3200 W. 23RD STREET
(4) 1"9x18" @ SIDEWALL (4) 3/4"0x18" @ PANAMA CITY, FL 32405
ENDWALL ANCHOR BOLTS W/ 15" EMBEDMENT MKWEBER.COM
(3) #5 CONTINUOUS REBAR REINFORCEMENT T CERTIFICATE OF
AUTHORIZATION # 33120
FFE=31.00' FFE=31.00' g,
4 \[\q ‘ 7 3, < j 4 Q\[\ R v N ; > R N b N \\\2:\'\ EDWIN SZ\///, .
ADNANRNAN NN NN NS ANANBNANRANANBNANANANANANANANANA NN NN A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AT AT, AT A N A= & > > v = \\\\ ............. ., ////
E & ><4[0 ><M A><_! ><‘Z (7 X 4 AA<7 4 . } ] b S 295; .\A . i o ) S\\CSQ, \,\CENSg 4,%::2
a A ° . © N . 4 - N S " AR . : S %7 No.60549 -, =
| 74 ; 4 g i B 4 E}] ‘ A4 i\ll v _E_ E. * S _E_
! 4 a7 ; i < 4 - IS - :; '... :.‘ ::
¥ 170 & 2K LORIDESTS
‘\7‘ 2 a7, 1 ., |, Al /,/// ‘/?/ONA\_?\’ N
51\___‘ : /<7 . < X \l\ g§ AT
17 < EOR: ROBERT SEARCY P.E.
COLD JOINT ~ b a N COLD JOINT STRUCTURAL ENGINEER
) ;\iﬂ\ FLORIDA P.E. # 60549
17 TS #3 HORIZONTAL ~< ; EMBOSSED/ WET STAMP
(2) #6 CONT REBAR ‘_\ < ; i x REBAR TIES @ 6" O C / (2) #6 CONT REBAR
g N (2) #6 VERTICAL T REINFORCEMENT SCANNED AND
REINFORCEMENT g \ . REINFORCEMENT W ELECTRONICALLY
/'\.\ ORC / TRANSMITTED COPIES OF
. g 8 12" HOOK @ 16" O.C. THIS DOCUMENT ARE NOT
N& ‘Noae CONSIDERED SIGNED AND
19" 4 10 It y I SEALED. SIGNATURE IS NOT
g PR I (12) #6 VERTICAL REBAR CONSIDERED VALID WITHOUT
12" STEMWALL “~g]l * | ’ Ja 4 g g REINFORCEMENT g THE PRESENCE OF BLUE INK
< 8 COLD JOINT DIGITAL
COLD JOINT |- * f| « L | N\ , o
TOP OF FOOTING=28.00' g 5 TOP OF FOOTING=28.00 PRINTED COPIES OF THIS
- T T T = ~ L. 2 = X S’ ” R 2% 74 R BN NS N N NN AN - P ” A DOCUMENT ARE NOT
2 a4 P B ¢ X 7 a ey s ) 7 a4 i . 7 a g s ) CONSIDERED SIGNED AND
- PR X - 2 2 2 SEALED AND THE SIGNATURE
////////////////‘///////////// //‘//////////////A///.//A///////////////‘ /////////////////////////// //1{7///‘//////////////4///'//A///////////////‘ MUSTBEVERIF'EDONTHE
: L ) g R ’ £ s : 2 p L ) T v “ e . ELECTRONIC COPIES
) 2 ) ; ) < ) 5 A 3 p ) » A a . a 4 . < ) < A S . .
< 4 ! ; N ’ A<7 4 4 4 “ = / 4 9 4 pl ! N ’ A<7 4 4 4 < -
(5) #6 CONT. REBAR ‘ s T N7 A . 3 ’ o (5) #6 CONT. REBAR v . : s T L0 4 < ) ! 0
REINFORCEMENT ’ ! © A 24 . > REINFORCEMENT ol ’ R 4 . -
A s < 2 < A 4 g 4 | < A . 5 <7 g P a g 4
4 4 2 < 4 4 A ” < 5 4
#GREINFORCMENT ///////////////q/////////d//////////A//////\///////////i/////////j/////e #6REINFORCMENT ////////////////////////4///////////A//////\/////////////////////j/////e
REBAR @ 12" O.C. /5 T D O e ¢ 9 REBAR @ 12" O.C. /5 07, o e T . ® I . ®
4 2 4 N < 4 5 S 4 2 2 N < A 5
/ 49 4 - - ) N ) < ° PN AA 5 | / 4 2 i 4 i N ) < - 4.4 AA 5
& &
(5) #6 CONT. REBAR D%QO/\ % > (5) #6 CONT. REBAR S QQOQ% £
REINFORCEMENT @y fg - REINFORCEMENT H A 4'-6
A Vo vaVs | :0-0505
#6 REINFORCMENT Ol Olw@lw; #6 REINFORCMENT (Ole @l @lw;
REBAR @ 12" O.C. Q%QOQO&QOQ RAMMED AGGREGATE PIER UNDER REBAR @ 12" O.C. %OQQO&QQC RAMMED AGGREGATE PIER UNDER
5@%@@@% = / GYM FOUNDATION ONLY. SIZING DOO@QQ@O@@ODQQ / GYM FOUNDATION ONLY. SIZING
)Q(DOQ OQ(DO AND DEPTH BY OTHERS BASED ON )QDOQDOQDQ AND DEPTH BY OTHERS BASED ON
5@9 & LOADS PER SHEET S2.0 a <>QO LOADS PER SHEET S2.0
OQ @ | | A

T\ TYPICAL STEM WALL DETAIL / 2\ STEM WALL DETAIL @ P.E.M.B. COLUMNS

\Ew 1 1/2"=1-0"(30x42) \EW 11/2"=1-0"(30x42)

STRUCTURAL PLANS For:
PANAMA CITY, FLORIDA

MLK REC. CENTER
705 E. 14TH STREET

(3) #5 CONTINUOUS REBAR REINFORCEMENT.
START/STOP INTERSECTING REBAR @ EA. o . ) 2 7 i J a5 R P
SIDE OF COLUMNS ) N a9 / ’ v . ¢ A . ’ v
g w 4 g 4y, < 4 4 4
‘ 2 4, ’ g 4 4 2 L« N a " g 2 )
N « N FFE=31.00' @ Y : @ . . c e T @ ; 4 o
R hb Tooos C T, . ‘ Y ) TOP OF FOOTING=28.00' P : ) ) ‘ . S
e EO : N ’ & ’ 4 2 < 4 J - _7__<7_/ _________ 4 N < : 4 2
> | - —— [ . e e . ) M . 2 A"’\ z ) - : ’ - ) e
N N - R 9 4 2 < 9 A
S 2 ] [F N <; \\\\\\\\\\\\\\\\ P P P N PP PP X g § 2 . g .
| s |A| < 4 v ‘ 4 ﬁ 4 - A < 5 4 a P “ P <
EO ‘ 4 A N < 4 2 47 4 a2 < 4 h < . 4 A 4
> =t 5 o 4 4 ” 74 < 8 4 a2 Y B 4 < S <7 4
: 4 ‘ v PR n ALLOWABLE COLD JOINT LOCATION “ a4, : “ ;
[amsa) e e S —S=alia e —— e om\ Te |4 A4 ? g 2 s 4
I 1 gl A A T N N N N N N N N N N N N N N N N N N N N N N N N NN N N N N NN N NN N NN N NN NN Y N A/ < A g < g A
~ L 7 1-1/4"@x18" ANCHOR BOLTS W/ 15" EMBEDMENT ; ‘ as A . 4’ 4 P : : 4 ‘o
/ 5 . - R / | N 4 VAR P g N < A . | 4 4 p ) o g - A
COLD JOINT g -l R T 7 aa “ T v ‘ » 4
| |~ (8) #6 VERTICAL REBAR REINFORCEMENT W/ STANDARD HOOKS 0 g av L ) ) ’ . 4 IR
#3 HORIZONTAL -~~~ S A I / N 40 - . v 4 3 )
REBARTIES @ 6" O.C. - d > Jl] . |-~ (2)#6 CONT. REBAR REINFORCEMENT § o ¢ T L 4 / ) ’ E ) G % Ay 4
1T — LI 2 T @ : - +|% . TOP OF FOOTING=25.50' . )
N S . : > ™ ES . Ki&&‘ — M ) . ) p < 2 o4
% ‘ I % 1 ’ = )] . ’ s ° 4
/ 2:_0" & b b 1|_9|| < %E p 4 g 4 , ., . ;w A ) g i‘; A g . g
COLDJOINT [ . || == Qi nii ~ Hoa . z . .ol ) s L~
TOP OF FOOTING=28.00" Ny S : 4 a ) e ~ ALLOWABLE COLD JOINT LOCATION _ "
- = = AR 4 < § a 2 N e 2 Ao s ”\x\ 55 g : L, 2 A N |<T:
9 44 A ) . . 4 4, ° 4 <] Z o Az\g 4 . I s A, » a
)//:/q////////////'//////// ////447///////;//;//////A///':]/A/////:////:////g < ;7 qg; AZ,L A /E . ) < 4 B
4 JAE . A < a 5 ;; ;; < <74 Pa) 2 .
//1/ﬁ ) 4 4 4 < ) ) g 4 B . j AEE g 22 S 4 Y “ 4 4 @
D e 4 A . e ., : { - . .7, #BREINFORCMENT _ ~ . -
(5) #6 CONT. REBAR — | . . ] A (PR D A P . ’ ® 40" i el L * REBAR @ 12" O.C. ‘ ‘ @)
REINFORCEMENT ’ ’ e ’ \J i 1 ‘ : “ g s . -
SO . PR R I 7 4q ’ TOP OF FOOTING=23.00' =
#6 REINFORCMENT / ////j//////////q/////////4:\/////4/////4/////A///////////<7//////////</7///// =o| ;j : ;/ < / GA 4 ) 4 A N 8
REBAR @ 12" O.C. } 7, ) A‘ B ] } ® o2 B ® < 4 Aﬂ‘ . ™ < 2;4 §%\Q { ] 1<7Q 4 e __4 e L
/'/ p S 4 3 4 4 ” N ) < 4 ‘ ) ;24 A 4 P < B ()
4 4 < < 4 a ) 4 ;2 J < 44 4 4 N
] 2? N 4 g 4 4 4
(5) #6 CONT. REBAR f9s0:0° . } P ‘ .
REINFORCEMENT OSSOSO N, 4 4 ) a 4 >
PSSP, 4'-6 N — S S S S VR =
#6 REINFORCMENT — Qc%écg@c%g N - 5 T . 4
REBAR @ 12" O.C. %@O@é‘@@@ﬁ@@@o ¢ : s JOB NUMBER: 21247
-0 -0- (5) #6 CONT. REBAR REINFORCEMENT W/ MIN. 36" LAP DRAWN BY- JCC
\< RAMMED AGGREGATE PIER UNDER CHECKED BY: MKW
GYM FOUNDATION ONLY. SIZING PLOT DATE: 5/18/2023
AND DEPTH BY OTHERS BASED ON w SHEET TITLE
LOADS PER SHEET S2.0
FRAMING
m STEM WALL DETAIL @ MULTI-PURPOSE BUILDING COLUMNS m STEP FOOTING DETAIL DETAILS

\EW 1 1Z=1-07(30x42) \@y 1"=1"-0"(30x42) DRAWING NUMBER
S3.4



MK Weber Laptop 7
FL


BRACKET FASTENED TO "T" W/ (2) ©1/2"
, 20" 98" THRU-BOLTS W/ LOCK WASHERS

2

WEB AS REQUIRED FOR CANOPY BRACKET CONNECTION

i

|
|
|
} FABRICATED "T" SHAPE (SEE S4.5) WELDED TO W MEMBER
|

structural engineering

L L L - » —
ﬂ - TOP OF BEAM=11'-6 1/2" A.F.F. 3200 W. 23RD STREET
< _____________ PANAMA CITY, FL 32405
MKWEBER.COM
E HSS6x6 BEYOND FL CERTIFICATE OF
\ AUTHORIZATION # 33120
/ b PROVIDE W FOR CANOPY ATTACHMENT. ATTACH \\\\\\\V\,‘D‘\IAI/,;/I\III“//’
CANOPY CONNECTION BRACKET PER MANUFACTURERS SPECIFICATIONS. §§Q/®»\CENS£SQ;//Z
PER ALUMINUM CANOPY NS Oz
MANUFACTURE 1000T200-54 ATTACHED @ EA. SIDE OF EA. S5 No.b0549 %
STUD W/ (2) #12-14 SDHH SCREWS AND TO "W*" = * E
MEMBER W/ (2) #12-24 SDHH SCREWS @ 24" O.C. S SWEOF jas
0% L oRIOP NS
1000S162-54 STEEL STUDS @ 16" O.C. 7S SIONAL B
PRE-ENGINEERED ALUMINUM CANOPY. / L

INSTALL PER MANUFACTURERS SPECS EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER

FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

AND LOCAL BUILDING CODES. /
WALL PANEL

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND

MUST BE VERIFIED ON THE
ELECTRONIC COPIES

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
| SEALED AND THE SIGNATURE
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

&
o) <
L A
-
GUARDRAIL BY OTHERS < Y m g
N =T
N o =
10" OPEN CEE ATTACHED W/ (2) 4 Z 0 >
#12X3" TAPCONS @ 24" O.C. < LW —
5"0" 1"6" ra m O I 6
| #3 CONT. REBAR REINFORCEMENT 2 () ;
SLOPE SLAB 1/8" PER 12" 9'-0" #5 TURNDOWN REBAR — L — <
I 13-8" #5 TURNDOWN REBAR @ 24" O.C. @ PERIMETER | @ 24" 0.C. @ PERIMETER @) X - =
i 6X6 W1.4 X W1.4 W.W.M. | - L <C
TOP OF WALL=31.00' FFE=31.00' J
__________________________________ N ¢‘ VJ: - /4 - = . ¥ x o <
X < X S X X X X X X X X D Vo R G S XX S X To) I__|o<
/ ‘n J A : > e — n = o=
1/4" BENT STEEL PLATE WELDED N4 | | N N
TO TOP OF SHEET PILE WALL : / |
/ . ' \ PROVIDE FOOTING FOR CANOPY
L3x2x1/4 (LONG LEG VERTICAL) A | COLUMNS PER MANUFACTURERS
@ 6" LENGTH IN INSIDE OF EA. A | SPECIFICATIONS (MUST BE #5 CONT. REBAR REINFORCEMENT
FLANGE (SEE 8/S3.3) = A A COORDINATED PRIOR TO
N - PLACING CONCRETE -
M (2) #5 CONT. REBAR 4] A ) (2) #5 CONT. REBAR —~|. || | A
/ REINFORCEMENT @ 24" O.C. RN REINFORCEMENT @ 16" O.C. el - =
40'-0" PZC 26 SHEET PILE OR EQUAL 4 - B
B ) * %)A ‘e
4 4 4 pi
APPLY POLYESTER MODIFIED / Sl S
URETHANE PAINT (COLOR PER : -
OWNER) )i b«
WALE (SEE 9/S3.3)
. 4 ol 4
L #6 REINFORCMENT REBAR @ 12" O.C. "< T 1-9" 7 |l <[], |~ cooon
INSTALL 4" OPEN END JET FILTER @ 10'-0" N ol .~ TOP OF FOOTING=25.50'
0.C.MAX @ AN ELEVATION OF 24.50'. \ .. (b (5) #6 CONT. REBAR REINFORCEMENT "< [ " ~_. . - = = - |[ "} R S -
MAINTAIN FILTER PER MANUFACTURERS y < 4 \%\\\;\\\\1 \\\\\ - \;‘\\\A\\\\\\;\\; \\\‘\\ \\\\\\\AA\\\\\\‘\ \\\\\\\\\\\ ::\\.\l . (
RECOMMENDATIONS AR . E Y | I |
el #6 REINFORCMENTREBAR @ 12"0.C. < | » . ". - = ) "l . 7 0 o P
N, N < v ” NS . W~ - - ’ A v v ’ i
sl |l (5) #6 CONT. REBAR REINFORCEMENT '~ | - o' - * "0 N e e
B\h\;\\\i \\\\\\\\\\\\\\\\\\\\\\\\\\ A\ \\\\\\\\\\\\\\\\\\\ - \\\\\\\\\\\\\\%]
» [ A X "
’ e 3 : .
/ " 24 ‘ A 4 7 4"6" 4 <
K -9 1T |l coLD JOINT #6 REINFORCMENT REBAR @ 12" O.C.
TOP OF BANK=23.00' TOP OF FOOTING=23.00' 0
———————————————— NS R I N7 .2~ (5)#6 CONT. REBAR REINFORCEMENT
5
|~ #6 REINFORCMENT REBAR @ 12" O.C. =
o
.~ (5)#6 CONT. REBAR REINFORCEMENT O
L
(]
=
= :
JOB NUMBER: 21247
DRAWN BY: JCC
CHECKED BY: MKW
PLOT DATE: 5/18/2023
SHEET TITLE
FRAMING
N DETAILS
DRAWING NUMBER
/1 \ WALKWAY / ENTRYWAY CANOPY DETAIL

@ 1"=1'-0"(30x42) S 3 ] 5



MK Weber Laptop 7
FL


~— 2-0"LAP ——~

600S200-68 PURLINS W/ 2'-0" LAP

8"x2"x16ga Z PURLINS @ 16" O.C. W/ 2'-0"
LAP ATTACHED W/ (2) 1/2"@ A325 BOLTS

600S200-68 PURLINS W/ 2'-0" LAP
ATTACHED W/ (2) 1/2"Qd A325 BOLTS

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

NOTE: PURLIN LAP ATTACHMENT

MADE W/ (6) 1/2"@ A325 BOLTS OR
(8) #12-14 SDHH SCREWS

600S5200-68 PURLINS W/
2'-0" LAP ATTACHED W/ (2)
1/2"@d A325 BOLTS

8"x2"x16ga Z PURLINS @ 2'-0"
O.C. W/ 2'-0" LAP ATTACHED
W/ (2) 1/2"D A325 BOLTS

ALL CEE TO CEE CONNECTION
MADE W/ (4) #12-14 SDHH CREWS
@ EA. FLANGE ON EA. SIDE U.N.O.

600S200-68 DIAGONAL FRAME
KICKER

12ga 6.25 OPEN CEE

ATTACH CEE TO SLAB W/ 3/8"Q
TITEN HD ANCHOR BOLTS @ 12" O.C.

% _n:n_..n:n_
e
=l TOP OF COLUMN=22-4"AF.F. — _
PURLINS W/ 2'-0" LAP ATTACHED W/ Ny
S 2-0"LAP ——# —'%! J::
1" | . __ .= - _ 4 - o _
< o o o < N —
/’ _n_._m [ — /
| g '@'I 0 /oo
PURLINS W/ 2'-0" LAP ATTACHED LOWER LEVEL ROOF e
W/ (6) 1/2"® A325 BOLTS \r\ -
TOP OF BEAM=19-4"AF.F. /1 _/\ /" [\ [, | —
/3 PURLIN LAP DETAIL =
\i:):y 1"=1'-0"(30x42) b b _
(9]
™
7£ 1 l_6" 8'_6" =
BRACKET FASTENED TO "T" W/ (2) @1/2" in
THRU-BOLTS W/ LOCK WASHERS \ -
FABRICATED "T" SHAPE (SEE S4.5) WELDED TO W MEMBER
— - - - _ WEB AS REQUIRED FOR CANOPY BRACKET CONNECTION -
i i i i i W8x18
__ _ TOP OF BEAM=11'-6 1/2" AF.F. \
1 E HSS6x6 BEYOND TOP OF BEAM=15-0"AFF. _ _ _ _ g
/ PROVIDE W FOR CANOPY ATTACHMENT. ATTACH
CANOPY CONNECTION BRACKET | | PER MANUFACTURERS SPECIFICATIONS.
PER ALUMINUM CANOPY ‘ ‘ 16ga 6.25 OPEN CEE ATTACHED - i
MANUEACTURE | | 1000T200-54 ATTACHED @ EA. SIDE OF EA. TO COLUMN W/ (2) #12-24 SDHH x --
| | STUD W/ (2) #12-14 SDHH SCREWS AND TO "W" SCREWS @ 12" O.C.
PRE-ENGINEERED ALUMINUM CANOPY. | | MEMBER W/ (2) #12-24 SDHH SCREWS @ 24" O.C. I
INSTALL PER MANUFACTURERS SPECS | |
AND LOCAL BUILDING CODES. | | )
‘ ‘ 1000S162-54 STEEL STUDS @ 16" O.C.
| | /
| |
| | 16ga 6.25 OPEN CEE ATTACHED TO
| | COLUMN W/ (2) #12-24 SDHH SCREWS x .
WALL PANEL } } @ 4" 0.C. @ INTERSECTIONS N
| | -
| |
| | & N o
| |
| | n
| |
| |
| |
| | -
| |
} } 600S200-68 HORIZONTAL
‘ ‘ FRAME MEMBERS (TYP.
| | U.N.O.)
| |
| |
| | i
| | )
| | o
| | -
| |
| |
| |
| |
| | -
| |
| |
| |
| |
| | -
| | =
| | s s
| | 10" 16ga OPEN CEE ATTACHED W/ - =
} } (2) #12X3" TAPCONS @ 24" O.C. -
S 10" —#- ‘ ‘ -
#5 CONT. REBAR REINFORCEMENT } }
/ SLOPE SLAB 1/8" PER 12" | 9'-0" #5 TURNDOWN REBAR
12'-0" #5 REBAR REINFORCEMENT @ 24" O.C. | | @ 24" 0.C. @ PERIMETER
/ 6X6 W1.4 X W1.4 W.W.M. | -
FFE=31.00 | - / A = g
F ¢ /////// ;/){/i ///// 32 ////// : ){ /////// )/( ////b//){ ////// )/( ///// T )< /////// )/( /////// %5 /////// )/Q ///// s /){/// A > 7 = fo
R 4 —
el -
RESERES \ i\l
H N ‘ ' PROVIDE FOOTING FOR CANOPY 4 o
S0 COLUMNS PER MANUFACTURERS L
(2) #5 VERTICAL REINFORCEMENT W/ 6" HOOK @ 16" 0.C. -] | | gg%%gllﬁﬁé)gjg éll\/IOURS_'Ir' OBIELACING oy conT. resar < 1+ Il 45 CONT. REBAR REINFORCEMENT |
Al L REINFORCEMENT " [*ie I
f A COLD JOINT -~ CONCRETE) by
(2) #5 CONT. REBAR REINFORCEMENT 4 S
IR #6 REINFORCMENT REBAR @ 12" O.C. 17-9" 1 -1 ||. | copsonr ~ _
TOP OF FOOTING=28.00' / . 1 sl |~ TOP OF FOOTING=28.00
———————————— — » s (5) #6 CONT. REBAR REINFORCEMENT <. [~ .~ = i P R
(2) ROWS OF #5 HORIZONTAL _\v ) - N N : N \S\\\\\\\\\\\\\\\\.\\\\\\\\\\\\;\\\\.\\ R IS RN - ) (
REBAR REINFORCEMENT @ 18" O.C. ? e = AR O | O ]
/ S Jp #6 REINFORCMENT REBAR @ 12" 0.C. =~ | "~ . R I R o s - — .
(3) ROWS OF #5 CONT. REBAR A (5) #6 CONT. REBAR REINFORCEMENT \\\ R R o / | - ﬂ o H . F
REINFORCEMENT @ 8-3/4" O.C. 2-0 R R B ES R SRR o el
1 i ) IN ] - ] . ) N IS R ) N \4>A . [N 3 ) N A i g R N (?5\0 -F
/‘L 4"6" [L mv N L0 = vA y \\\ JP
. \/71— 1'-5" #
/\/ P 2!_2" %L

/"1 WALKWAY / ENTRYWAY CANOPY DETAIL

@ 1"=1'-0"(30x42)

/"2 \ ANGLED WING WALL FRAMING DETAIL

@ 1"=1'-0"(30x42)

.
°
°
---------

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

5 <
o Q0
-
Zx WO
oEexh
2Ly
QCOEG
2O Y <
ogT. =
D == W<
382
N=~0
8
:
i
o

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

FRAMING
DETAILS

DRAWING NUMBER

S3.6



MK Weber Laptop 7
FL


SEE TABLE FOR PARAPET SIZING
ATTACHED TO STUDS W/ (4)
#12-14 SDHH SCREWS @ EA STUD
AS SHOWN

1000T200-54 ATTACHED TO STUDS
W/ (4) #12-14 SDHH SCREWS @ EA
STUD AS SHOWN

1000T200-54 ATTACHED TO STUDS
W/ (4) #12-14 SDHH SCREWS @ EA
STUD AS SHOWN

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

1000S162-54 STEEL STUDS @ 16" O.C.
1000S162-54 STEEL STUDS @ 16" O.C.

3'_0"
3'_0"

2 \ awa g,
SIMPSON MSSC4.25 ANGLE \\\2:»\ OWIN 341//”/
n \\\\ e E. ....... . .4 ////
22ga 1/2" B DECK ATTACHED W/ #12 22ga 1/2" B DECK ATTACHED W/ 22ga 1/2" B DECK ATTACHED W/ SN To
SIMPSON MSSC4.25 ANGLE #12 SDHH FASTENERS IN 36/7 #12 SDHH FASTENERS IN 36/7 S& No. 60549 2
PATTERN. USE #10 SDHH SIMPSON MSSC4.25 ANGLE S ' e
SCREWS @ 12" O.C. @ SIDELAP \ PATTERN. USE #10 SDHH SCREWS = * Pos
1000S162-54 STEEL STUDS @ 16" O.C. o ' @12"0.C. @ SIDELAP. 2y, SWEOF J&s
BT LA
10"x2.5"x12ga Z PURLIN @ 24" O.C. /’//,,/SS/ONA\_E\\\\\\\
i
- 1 - — — - — Z ****************** EOR: ROBERT SEARCY P.E.
+ ——N—  — STRUCTURAL ENGINEER

I-BEAM (SIZE VARIES) FLORIDA P.E. # 60549

q
o EMBOSSED/ WET STAMP
SCANNED AND
\ ELECTRONICALLY
TRANSMITTED COPIES OF

1000T200-54 ATTACHED @ EA.
STUD W/ (2) #12-14 SDHH

THIS DOCUMENT ARE NOT

ﬁ
|
|
|
|
|
|
|
|
|
\ |
|
\ |
SDHH FASTENERS IN 36/7 PATTERN. 1000T82$8'§‘\‘N A/gﬁﬁgﬁa CS@Diﬁ |
USE #10 SDHH SCREWS @ 12" O.C. @ X ‘
SIDELAP. SCREWS AS SHOWN
|
PURLINS @ 24" O.C. (SIZE VARIES) ATTACH OPEN CEE TO TOP FLANGE W/ | PURLINS @ 24" O.C. (SIZE VARIES)
/7{ (2) #12-14 SDHH SCREWS @ 2'-0" O.C. |
/N / N\ /\ L\ /[ N\ / \_ /]
x
|
1

***************** SCREWS AS SHOWN — — CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
\ CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK
ATTACH PURLINS AND STUDS TO I-BEAM W/ SIMPSON ATTACH PURLINS AND STUDS TO I-BEAM
FC62-5/118. ATTACH CLIP TO LIGHT GAUGE STEEL W/ W/ SIMPSON FC62-5/118. ATTACH CLIP DIGITAL
(6) #12-14 SDHH SCREWS. ATTACH CLIP TO I-BEAM W/ ATTACH OPEN CEE TO BOTTOM TO LIGHT GAUGE STEEL W/ (6) #12-14 oRINTED COPIES OF THIS
(6) #12-24 SDHH SCREWS FLANGE W/ (2) #12-24 SDHH SDHH SCREWS. ATTACH CLIP TO |-BEAM DOCUMENT ARE NOT
SCREWS @ 20" O.C. ATTACH PURLINS AND STUDS TO I-BEAM W/ SIMPSON W/ (6) #12.24 SDHH SCREWS CORQCUMENT ARE NOT

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

| SEALED AND THE SIGNATURE
| MUST BE VERIFIED ON THE
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

(6) #12-14 SDHH SCREWS. ATTACH CLIP TO I-BEAM W/
(6) #12-24 SDHH SCREWS

ELECTRONIC COPIES
I-BEAM (SIZE VARIES)

4'_4"

I-BEAM (SIZE VARIES)

ATTACH STEEL STUDS TO OPEN CEE W/ (4) 10005162-54 STEEL STUDS @ 16" O.C.
#12-14 SDHH SCREWS @ EA STUD TOP AND
BOTTOM AS SHOWN

e ATTACH STEEL STUDS TO OPEN CEE W/ (4)
#12-14 SDHH SCREWS @ EA STUD TOP AND
BOTTOM AS SHOWN

/

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
FC62-5/118. ATTACH CLIP TO LIGHT GAUGE STEEL W/ }
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

W/ (4) #12-24 SCREWS @ HEADER

>
A ATTACH PURLINS AND STUDS TO I-BEAM I&J

W/ SIMPSON FC62-5/118. ATTACH CLIP TO _
LIGHT GAUGE STEEL W/ (6) #10-14 SDHH JOB NUMBER: _ 21247

CONT. C8x11.5 HEADER

SCREWS. ATTACH CLIP TO I-BEAM W/ (6) DRAWN BY: JCC

\ _ "
800S162-54 STEEL STUDS @ 16" O.C. #10-24 SDHH SCREWS CHECKED BY: MKW

.
) 1000T200-54 ATTACHED TO I-BEAM 22ga 1/2" B DECK ATTACHED W/ _~— 1000T200-54 ATTACHED TO o <
22516‘2%2[) IEHDFEA?S*%LTE/;CS":EDB&’% W/ (2) #12-14 SDHH SCREWS @ 24" #12 SDHH FASTENERS IN 36/7 -BEAM W/ (2) #12-14 SDHH = |
0.C. AS SHOWN PATTERN. USE #10 SDHH SCREWS @ 24" O.C. AS SHOWN —
PATTERN. USE #10 SDHH SCREWS @ 12 0.0 @ SIDELAR N — Y
SCREWS @ 12" O.C. @ SIDELAP. @12°0C. @ : Z v WO
< T
************************ ] ™
***************  — al E E
g oo ] C6x10.5 HEADER g Z:I ] 9N E
c b _— |-BEAM (SIZE VARIES) ATTACH STUDS TO HEADER W/ < _— |-BEAM (SIZE VARIES) Y O I —=
SIMPSON FCB 43.5 ANGLE ATTACHED .= O
iiiiiiiiiiiiiiii SR PER MANUFACTURERS SPECS - O <
/ i 5%*2
PURLINS @ 24" O.C. (SIZE VARIES) 1000S162-54 STEEL STUDS @ 16" O.C. D) LL] <
~— HSS 6x6 COLUMN BEYOND PURLINS @ 24" O.C. (SIZE VARIES. SEE S2.5 & S2.6) -~ HSS 6x6 COLUMN BEYOND XX o2
ATTACH PURLINS AND STUDS TO I-BEAM (ITD 3' C'Z\D E
W/ SIMPSON FC62-5/118. ATTACH CLIP m
TO LIGHT GAUGE STEEL W/ (6) #12-14 2 \TYP. PARAPET DETAIL
SDHH SCREWS. ATTACH CLIP TO I-BEAM @ 11/2"=1-0"(30x42)
W/ (6) #12-24 SDHH SCREWS _ L TOP PARAPET TRACK TABLE _ |
LOCATION:
12 1000T300-97
56-57  1000T300-97
m UPPER LEVEL PARAPET @ ROOF JOINT ig:‘gg 1883%88:2; m UPPER LEVEL PARAPET @ ROOF JOINT
@ 1 1/2u=1|_0u(30x42) 6_7 C10X153 @ 1 1/2"=1"0"(30X42)
AT ALL OTHER LOCATIONS
TO BE 1000T200-54 TYP. U.N.O.
T200-54 ATTACHED @ EA. SIDE OF EA. STUD | | NOTE:
800T200-5 CHED @ EA. SIDE OF EA. STU @ C10x15.3 USE (6) #12-24 SDHH PER END OF STRUCTURAL CEE
W/ (2) #12-14 SDHH SCREWS AND TO "W* | | 800S162-54 STEEL STUDS @ 16" O.C. P.E.M.B. COLUMN =)
MEMBER W/ (2) #12-24 SDHH SCREWS @ 24" O.C. } } -
| |
m _____ TOP OF BEAM=18-0" AF.F. 1000T200-54 ATTACHED TO STUDS } }
W/ (4) #12-14 SDHH SCREWS @ EA ‘ ‘
STUD AS SHOWN | |
: | |
fAllf<— N | | :
~—— USE W8x18 FOR CABLE BRACKET STIFFENER WELDED TO | | NOTE: FRAMED OPENING ON THIS WALL
_— ATTACHMENT. ATTACH PER P E M.B.COLUMN ‘ ‘ ARE TO HAVE 1000S300-97 DOOR JAMB
MANUFACTURERS SPECS. PLACE B ‘ o5 AND HEADERS
STEEL CABLE BY OTHERS 3/8" THICK WEB STIFFENERS | o
WITHIN 3" OF WEB PENETRATION | |
| 1/2" STIFFER | |
| |
} } 800T200-54 ATTACHED @ EA. SIDE OF EA. STUD \ \ \ )
| | W/ (2) #12-14 SDHH SCREWS AND TO "W" | | ﬁgasga HBF[;'ES(%E ﬁg;g?;‘gg/;’w E
MEMBER W/ (2) #12-24 SDHH SCREWS @ 24" O.C. | |
} } ) @ | | PATTERN. USE #10 SDHH o
\ \ | | SCREWS @ 12" O.C. @ SIDELAP.
} } " 8005162-54 STEEL STUDS @ 16" O.C. | | } }
| | | O | N NN /N /N \ Z
| | | | | | O
| | | | } — ; o n
| | s
| | TOP OF AWNING=15-0" AF.F. \ el % O
L __ _1|__ _TOPOF AWNING=15-0"AF.F | | 3
| | ATTACH W14x22 TO KNIFE O | O | s b o s o i
TR ATTACH STUDS TO HEADER W/ PLATE W/ (2) 3/4"@ BOLTS | | | | \
SIMPSON FCB 43.5 ANGLE FASTENED A\ | TRl
W/ (4) #12-14 SCREWS @ STUDS AND } |
|
|
|
|
|
|
|

CANOPY BY OTHERS PLOT DATE: 5/18/2023

|

] A1l SHEET TITLE
FRAMING

DETAILS

/"5 \ SPANDREL CONNECTION DETAIL

/"4 \ CANOPY ATTACHMENT DETAIL @ WEST WALL \§37 /5002 6 \UPPER LEVEL PARAPET @ ROOF JOINT NS
@ 11/2"=1"-0"(30x42) B S3.7 /1 1/2"=1-0"(30x42) B

S3.7

@



MK Weber Laptop 7
FL


NOTE: P.E.M.B. IS RESPONSIBLE FOR PARAPET
WALL DESIGN. DETAILS FOR PARAPET WALL
BELOW ARE FOR CONCEPTUAL PURPOSES ONLY.

SLOPE FINISH MATERIAL FOR DRAINAGE.
REFER TO ARCHITECTURAL DRAWINGS FOR
ROOFING FINISH MATERIAL, SLOPE,
GUTTER SYSTEMS, AND DRAIN SYSTEMS.

8" PURLINS

<§\ 8"x12" GUTTER

\ W8 SUPPORT LEG ATTACH
TO COLUMN PER P.E.M.B.

8216 SPANNING BETWEEN
P.E.M.B. COLUMNS

8216 ATTACHED TO SUPPORT
LEG W/ 1/2"@ BOLTS

NN

L

\ W8 SUPPORT LEG ATTACH
TO COLUMN PER P.E.M.B.

- WALL PANEL

8x16x7/16 ANGLE OR 8"x6"x1/2" BENT
/ PLATE (Fy=55 KSI) ATTACHED TO P.E.M.B.

I-BEAM W/ (2) 1/2" A325 BOLTS @ 4'-0" O.C.

W/ SIMPSON MSSC4.25 (TYP.)

WALL PANEL TO ROOF
/ STRUCTURE BELOW @ 24" O.C.
I

¢ YN v A a4

o]
(=X

Y

7“1\ GYM AND MULTIPURPOSE COMMON WALL

\i?fy 1"=1'-0"(30x42)

COLUMNS W/ (4) 1/2"@ A325 BOLTS AND TO

ELEVATION VARIES. SEE PLANS

P.E.M.B. RAFTER

STIFFENER ON EA SIDE OF WEB

I,

WELD BRACKET TO RAFTER /g
STUB BRACKET T

BRACKET END-PLATE

TACH BEAM TO BRACKET W/ (4) 1/2"@
BOLTS W/ LOCK WASHERS & NUTS \

STIFFENER

\
CURTAIN SUPPORT
"W" MEMBER \

m CURTAIN SUPPORT BEAM ATTACHMENT DETAIL

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

.
° .
---------

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

@ 11/2"=1'-0"(30x42)

5 <
o Q0
-
Zx WO
oEexh
2Ly
DCOE(_J
2O Y <
ogT. =
D == W<
382
N=~0
8
:
i
o

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

FRAMING
DETAILS

DRAWING NUMBER

S3.8



MK Weber Laptop 7
FL


1000S162-54 STEEL STUD
MID-SPAN BLOCKING

(SEE TABLE FOR PARAPET SIZING) ATTACHED TO STUDS W/
(2) #12-14 SDHH SCREWS @ EA. SIDE OF EA. STUD AND TO
COLUMNS W/ SIMPSON FC62-5/118 ANGLE FASTENED W/ (4)
#12-24 SCREWS @ EA. LEG. CUT SCREWS OFF TOP AFTER
INSTALLATION -C10x15.3 USE (6) #12-24 SDHH PER END OF

STRUCTURAL CEE

I-BEAM (SIZE VARIES)

1000S162-54 STEEL STUDS @ 16" O.C. i

1000T200-54 ATTACHED @ EA. STUD W/ (2)
#12-14 SDHH SCREWS @ EA FLANGE AND TO
[-BEAM W/ (2) #12-24 SDHH SCREWS @ 24" O.C.

TOP OF BEAM=15"-0" A.F.F.

o

F— : |
© \ 600T200-54 ATTACHED @ EA. STUD W/ (2) #12-14 © ©
© SDHH SCREWS @ EA FLANGE AND TO I-BEAM © ©
°© W/ (2) #12-24 SDHH SCREWS @ 24" O.C. °© ©

— —

] S

r

| |
1000S162-54 STEEL

600S162-54 STEEL

STUDS @ 16" O.C.

1000S162-54 STEEL STUD MID-SPAN BLOCKING

STUDS @ 16" O.C.

6005162-54 STEEL STUD MID-SPAN BLOCKING

-t ——+— - |

\j
I

1000S162-54 STEEL

STUDS @ 16" O.C.

1

\ 1000T200-54 ATTACHED TO COLUMNS W/

SIMPSON FCB 43.5 ANGLE FASTENED W/ (4)
#12-14 SCREWS @ STUDS AND W/ (4) #12-24
SCREWS @ HEADER

|

|

— 1000S162-54 STEEL STUD MID-SPAN BLOCKING

|
el

L

\ HSS6x6
|

|
1000S162-54 STEEL STUD MID-SPAN BLOCKING

| |

| |
ATTACH JAMBS TO FOUNDATION W/
SIMPSON FC62-5/118 USING (2) 1/2" TITEN
HD ANCHOR BOLTS. ATTACH CLIP TO
JAMB USING (6) #12-14 SDHH SCREWS IN
EA. FLANGE

|
| M-

| -

| -

\ C6x10.5 HEADER

ATTACH JAMBS TO HEADER W/ SIMPSON
FC62-5/118 W/ (4) #12-14 SCREWS @ STUDS
AND W/ (4) #12-24 SCREWS @ HEADER

1000S162-54 STEEL JAMB STUD

1000S162-54 STEEL JAMB STUD /

600S162-54 STEEL STUD

600S162-54 STEEL

STUDS @ 16" O.C.

|
| -

|
ATTACH STUDS TO HEADER W/ g

SIMPSON FCB 43.5 ANGLE FASTENED
W/ (4) #12-14 SCREWS @ STUDS AND
W/ (4) #12-24 SCREWS @ HEADER

I

r:(\ﬂ

a
o

(SEE TABLE FOR PARAPET
SIZING) ATTACHED TO STUDS W/
(4) #12-14 SDHH SCREWS @ EA
STUD AS SHOWN -C10x15.3 USE
(6) #12-24 SDHH PER END OF
STRUCTURAL CEE

1000S162-54 STEEL STUDS @ 16" O.C.

1000T200-54 ATTACHED @ EA. STUD W/ (2)
#12-14 SDHH SCREWS AS SHOWN

SIMPSON MSSC4.25 ANGLE s

ATTACH 1000T200-54 TO TOP FLANGE W/
(2) #12-14 SDHH SCREWS @ 2'-0" O.C.
I-BEAM (SIZE VARIES)

ATTACH 1000T200-54 TO BOTTOM FLANGE
W/ (2) #12-14 SDHH SCREWS @ 2'-0" O.C.

1000T200-54 ATTACHED @ EA. STUD W/ (2) —

#12-24 SDHH SCREWS AS SHOWN

ATTACH STUDS W/ SIMPSON —|

FCB 43.5 ANGLE ATTACHED
PER MANUFACTURERS SPECS

6005200-68 STEEL STUDS @ 16" O.C. —

ATTACH STUDS W/ SIMPSON  —_

FCB 43.5 ANGLE ATTACHED
PER MANUFACTURERS SPECS

1000S162-54 STEEL JAMB STUD BEYOND 7

a
< , 42
<

pa)

4

FOR OPENINGS ONLY. IF NO OPENI

A
a

NG IS PRESENT THEN

DISREGARD THIS AREA. ALL EXTERIOR WALLS ARE
. 10005162-54 STEEL STUDS UNLESS OTHERWISE INDICATED.

&
2

m TYP. EXTERIOR WALL FRAMING DETAIL (INCLUDING PARAPET FRAMING)

@ 1"=1-0"(30x42)

3!_0"

22ga 1/2" B DECK ATTACHED W/
#12 SDHH FASTENERS IN 36/7
PATTERN. USE #10 SDHH
SCREWS @ 12" O.C. @ SIDELAP.

PURLINS @ 24" O.C. (SIZE VARIES)

//

\

C6x10.5 HEADER

ATTACH PURLINS AND STUDS TO I-BEAM
W/ SIMPSON FC62-5/118. ATTACH CLIP TO
LIGHT GAUGE STEEL W/ (6) #10-14 SDHH
SCREWS. ATTACH CLIP TO I-BEAM W/ (6)
#12-24 SDHH SCREWS

O
Z
pd
L
/ ;
HSS6x6 et
L
= ~
0
Lo
| |
1000S162-54 STEEL STUD MID-SPAN BLOCKING
600S200-68 STEEL STUD \\
ATTACH STUDS W/ SIMPSON //?m
FCB 43.5 ANGLE ATTACHED L
PER MANUFACTURERS SPECS o ,
| L X
] [alte)
o XA
| o 8 &<
Al 220
| 600S200-68 STEEL STUDS @ 16" 0.C. — || | > 5o
1000T200-54 ATTACHED @ EA. STUD W/ (2) . = O ';)
#12-14 SDHH SCREWS @ EA FLANGE AND } } 52
TO FOUNDATION Wi 1/2"0x4" TITEN HD 16ga OPEN CEE ATTACHED @ EA. STUD W/ (2) #12-14 L 'chJ Qz
ANCHOR BOLTS @ 24" O.C. MAX. SDHH SCREWS @ EA FLANGE AND TO FOUNDATION W/ \ o z 3
1/2"@x4" TITEN HD ANCHOR BOLTS @ 24" O.C. MAX. SEE o zq
ARCHITECTURAL DETAILS FOR FLASHING AND FINISHES } }
|
— FFES31.00° = “Jw
. e B TOP PARAPET TRACK TABLE g H aslia
B LOCATION: N b
A N 1-2 1000T300-97 S J
e = P T R 56-57 1000T300-97 -
“4 g s PR S 4
DLt e T T e 55-56 1000T300-97 S
SRR R 49-50  1000T300-97 By
R S R PR 6-7 C10x15.3
e e T e T AT ALL OTHER LOCATIONS
C f q q TO BE 1000T200-54 TYP. U.N.O. m TYP. OPENING FRAMING SCETION
@ 1"=1-0"(30x42)
NOTE:
@ C10x15.3 USE (6) #12-24 SDHH
PER END OF STRUCTURAL CEE

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

N A \_ E$\\\\\\

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

o <
L A
-
< ¥ W O
_J L wl ﬁ
o - ID_C -
e
¥ O E O
2O«
ogT. =
D wl <C
£
o
N=KA0O
L|I_J
<DE
5
e
'
a3
a
>
i
JOB NUMBER: 21247
DRAWN BY: JCC
CHECKED BY: MKW
PLOT DATE: 5/18/2023
SHEET TITLE
TYP. WALL

FRAMING DETAIL

DRAWING NUMBER

S3.9



MK Weber Laptop 7
FL


— (SEE TABLE FOR PARAPET SIZING) ATTACHED TO
STUDS W/ (4) #12-14 SDHH SCREWS @ EA STUD \

AS SHOWN -C10x15.3 USE (6) #12-24 SDHH PER
END OF STRUCTURAL CEE
| | | |

1000S162-54 STEEL STUDS @ 16" O.C. \

ATTACH STUDS TO I-BEAM W/ SIMPSON
| | FC62-5/118. ATTACH CLIP TO LIGHT GAUGE
STEEL W/(6) #12-14 SDHH SCREWS. ATTACH
CLIP TO I-BEAM W/ (6) #12-24 SDHH SCREWS

TOP PARAPET TRACK TABLE
LOCATION:

1-2 1000T300-97

56-57 1000T300-97

55-56 1000T300-97

49-50 1000T300-97

6-7 C10x15.3

AT ALL OTHER LOCATIONS

TO BE 1000T200-54 TYP. U.N.O.
TOP OF BEAM=19'-4" AF.F.

0O O O

©o0o0o0 o0
O 00O
006 0o
© 0000
[ NeNe]
©o0o0o0 o0

Q0o
Q0o
Q0o
cseos
S98S
Q0o
Qoo
Qoo

coo0o0 e
O00O
o 6 6o

coo0o0 e
O00O
o 6 6o

coo0o0 e
O00O
o 6 6o

©o0o0o0 o0
O 00O
006 0o
oo o

O 00O
oo 6 6o

NOTE:
@ C10x15.3 USE (6) #12-24 SDHH
PER END OF STRUCTURAL CEE

1000T200-54 ATTACHED @ EA. STUD W/ (2)
| | #12-14 SDHH SCREWS @ EA FLANGE AND TO |
PURLINS W/ (4) #12-14 SDHH SCREWS @ 24" O.C.

TOP OF BEAM=15-0" A.F.F.

OO0 | -
eo0o0o0 o0
OO0 | =
0o & 6o
OO0 | -

L
o 0o
o Oo
o

. . . . oo o
O
, __ __ v /_/ _Sl |/ __/ L/

coo0o0 e
O00O -
o 6 6o
O00O -
coo0o0 e
O00O -
o 6 6o
O00O -

© 0000
[ NeNe]
©o0o00o0

@)
0 O O

< / < " <
S, (1) ATTACH PURLINS TO I-BEAM W/ SIMPSON FC62-5/118. S, PURLINS @ 24" O.C. (SIZE VARIES) S,
¢ &7 ¢ ¢

S ATTACH CLIP TO LIGHT GAUGE STEEL W/ (2) 1/2"@ S K
Q& THRU-BOLTS OR (6) #12-14 SDHH SCREWS. ATTACH Q& Q&
@O CLIP TO I-BEAM W/ (6) #12-24 SDHH SCREWS OR FIELD @O @O
&Q, \ WELD W/ 1/8" FILLET WELD &Q, / &Q,
Ny HSS6x6 N\ HSS6x6 Ny

m EXTERIOR WALL FRAMING DETAIL BETWEEN LOWER AND UPPER ROOF (INCLUDING PARAPET)

S3.10/ 1"=1-0"(30x42)

( SEE TABLE FOR PARAPET SIZING) ATTACHED TO STUDS W/
(2) #12-14 SDHH SCREWS @ EA. SIDE OF EA. STUD AND TO
COLUMNS W/ SIMPSON FC62-5/118 ANGLE FASTENED W/ (4)
#12-24 SCREWS @ EA. LEG. CUT SCREWS OFF TOP AFTER
INSTALLATION -C10x15.3 USE (6) #12-24 SDHH PER END OF
STRUCTURAL CEE

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

.
---------

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

|
16ga OPEN CEES ATTACHED TO COLUMNS
W/ SIMPSON FCB 43.5 ANGLE FASTENED W/
(4) #12-14 SCREWS @ STUDS AND W/ (4)
#12-24 SCREWS @ HEADER

TOP OF BEAM=19'-4" A F.F.

TOP OF BEAM=15-0" A.F.F.

o]

| | |
1000S162-54 STEEL STUDS @ 16" O.C. \

O (@] O
o 1000T200-54 ATTACHED @ EA. STUD W/ (2) o o
o #12-14 SDHH SCREWS @ EA FLANGE AND TO o o

I-BEAM W/ (2) #12-24 SDHH SCREWS @ 24" O.C.

| | |
16ga STEEL STUDS @ 16" O.C. \

| |
I-BEAM (SIZE VARIES) — |

/
O (@] O
o 1000T200-54 ATTACHED @ EA. STUD W/ (2) o o
o #12-14 SDHH SCREWS @ EA FLANGE AND TO o o

I-BEAM W/ (2) #12-24 SDHH SCREWS @ 24" O.C.

| 16ga STEEL STUDS @ 16" O.C. \I |

\ HSS6x6 HSS6x6 /

5 <
o Q0
-
Zx WO
oEexh
2Ly
QCOEG
2O Y <
ogT. =
D == W<
382
N=~0
8
i
o

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

m EXTERIOR WALL FRAMING DETAIL @ UPPER ROOF (INCLUDING PARAPET)

S3.10/ 1"=1"-0"(30x42)

PARAPET
FRAMING DETAILS

DRAWING NUMBER

S3.10



MK Weber Laptop 7
FL


TOP OF BEAM=19'-4" A F.F.

(SEE TABLE FOR PARAPET SIZING ) ATTACHED TO STUDS W/ (2) #12-14 SDHH SCREWS @ EA. SIDE OF EA. STUD AND TO
COLUMNS W/ SIMPSON FC62-5/118 ANGLE FASTENED W/ (4) #12-24 SCREWS @ EA. LEG. CUT SCREWS OFF TOP AFTER M

INSTALLATION -C10x15.3 USE (6) #12-24 SDHH PER END OF STRUCTURAL CEE

TOP PARAPET TRACK TABLE
LOCATION:

1-2 1000T300-97

56-57 1000T300-97

;i

1000T200-54 ATTACHED @ EA. STUD W/ (2)
#12-14 SDHH SCREWS @ EA FLANGE AND TO
I-BEAM W/ (2) #12-24 SDHH SCREWS @ 24" O.C.

I I I
1000S162-54 STEEL STUDS @ 16" O.C.

600T200-54 ATTACHED @ EA. STUD W/ (2)
#12-14 SDHH SCREWS @ EA FLANGE AND TO
[-BEAM W/ (2) #12-24 SDHH SCREWS @ 24" O.C.

N

1000T200-54 ATTACHED @ EA. STUD W/ (2)
#12-14 SDHH SCREWS @ EA FLANGE AND TO
I-BEAM W/ (2) #12-24 SDHH SCREWS @ 24" O.C.

TOP OF BEAM=15'-0" A.F.F.

| | | | |
| | | |
1000S162-54 STEEL 6005162-54 STEEL 1000S162-54 STEEL
STUDS @ 16" O.C. STUDS @ 16" O.C. STUDS @ 16" O.C.
| | | |
| | | |
-
o o 600T200-54 ATTACHED @ EA. STUD W/ (2) 9
o #12-14 SDHH SCREWS @ EA FLANGE AND TO o
o I-BEAM W/ (2) #12-24 SDHH SCREWS @ 24" O.C. o
\ N i

g |

ATTACH STUDS TO HEADER W/ SIMPSON FCB
43.5 ANGLE FASTENED W/ (4) #12-14 SCREWS @
STUDS AND W/ (4) #12-24 SCREWS @ HEADER

J

|

|

4
HSS6x6

|

I
1000S162-54 STEEL

| /
1000S162-54 STEEL STUD MID-SPAN BLOCKING

STUDS @ 16" O.C.

|/ 1000S162-54 STEEL JAMB STUD

Y
S
N\
3

X

1000S162-54 STEEL JAMB STUD /
| / C6x10.5 HEADER

I
1000S162-54 STEEL

STUDS @ 16" O.C.

55-56 1000T300-97
49-50 1000T300-97
6-7 C10x15.3

AT ALL OTHER LOCATIONS
TO BE 1000T200-54 TYP. U.N.O.

| NOTE:
@ C10x15.3 USE (6) #12-24 SDHH
PER END OF STRUCTURAL CEE

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

.
---------

o\

1000T200-54 ATTACHED @ EA. STUD W/ (2)
#12-14 SDHH SCREWS @ EA FLANGE AND TO
[-BEAM W/ (2) #12-24 SDHH SCREWS @ 24" O.C.

| |
—\ 10008162-54 STEEL STUD MID-SPAN BLOCKING

| -

1000S162-54 STEEL

1000S162-54 STEEL STUD MID-SPAN BLOCKING /

STUDS @ 16" O.C.
I I

-

ATTACH JAMBS TO HEADER W/ SIMPSON
FC62-5/118 W/ (4) #12-14 SCREWS @ STUDS
AND W/ (4) #12-24 SCREWS @ HEADER

/ 1000S162-54 STEEL JAMB STUD

N
&
@)

1000S162-54 STEEL JAMB STUD /

|
|
L

1000S162-54 STEEL

STUDS @ 16" O.C.
I

\

=

HSS6x6

—\ 1000S162-54 STEEL STUD MID-SPAN BLOCKING

a4

4 4

4

S3.11/ 1"=1-0"(30x42)

m EXTERIOR WALL FRAMING DETAIL @ WEST SIDE DOOR W/ DOUBLE TRANSOM

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

5 <
o Q0
-
Zx WO
oEexh
2Ly
QCOEG
2O Y <
ogT. =
D == W<
382
N=~0
8
:
i
o

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

DOUBLE TRANSOM
DOOR WALL FRAMING

DRAWING NUMBER

S3.11



MK Weber Laptop 7
FL


NOTE: 3'-10" MAX.
HAUNCH DEPTH

B-DECK
PURLIN

NOTE: P.E.M.B. IS RESPONSIBLE FOR ACTUAL
PARAPET WALL DESIGN AND ROOF DESIGN.
DETAILS FOR PARAPET WALL AND ROOF BELOW
ARE FOR CONCEPTUAL PURPOSES ONLY.

NOTE: 3'-10" MAX.
HAUNCH DEPTH

TOP OF PARAPET WALL 33'-4" A.F.F.

B-DECK

8" PURLINS

— GIRTS @ 2'-0" O.C. MAX.
VERTICALLY. SIZE PER P.E.M.B.

N

N

ENDWALL RAFTER
\\ \

FRAME BRACE PER — N

P.E.M.B. @ EA. PURLIN

/ PARAPET WALL BY P.E.M.B.

N

oo

ENDWALL COLUMN A

SPANDRAL BY P.E.M.B. BETWEEN —f— |

P.E.M.B. COLUMNS. SPANDRAL TO
HAVE 4"x4"x1/4" TABS @ 24" O.C. FOR
ANCHOR BOLTS. ATTACH CMU WALL

TO SPANDRAL W/ (2) 1/2"@x6" TITEN
HD ANCHOR BOLTS @ 24" O.C.

SPANDRAL BY P.E.M.B. BETWEEN —
P.E.M.B. COLUMNS. SPANDRAL TO
HAVE 4"x4"x1/4" TABS @ 24" O.C. FOR
ANCHOR BOLTS. ATTACH CMU WALL
TO SPANDRAL W/ (2) 1/2"@x6" TITEN
HD ANCHOR BOLTS @ 24" O.C.

~

12" (MIN.)

o0

o0

oo

&

16" (MAX.)

ALL CELLS SOLID FILLED —

BOND BEAMS @ 24" O.C. —

\ =
REINFORCED W/ (2) CONT. | =it

#5 HORIZONTAL REBAR

#6 VERTICAL REBAR —]
REINFORCEMENT @ 16" O.C.

TOP OF BLOCK WALL 288" A F.F. 1/2:12 SLOPE

25'-0" A.F.F. MIN.

W14x22=20"-4" A.F.F. k

\ SIMPSON FC62-5/118
TAPERING MAY BEGIN 13'-0" A.F.F.

~

SEE DTL 5/S3.4 FOR BEAM
TO COLUMN CONNECTION \

W14x22=10"-4" A.F.F.

12" (MIN.)
16" (MAX.)

N

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

| 8" OPEN CEE ATTACHED

| W/ (2) #12X3" TAPCONS @

} 24" 0.C.

/ ATTACH BOTTOM CEE TO
VERTICAL MEMBERS W/ (2)

LA #12-14 SDHH SCREWS @ EA
iy CONNECTION

6"x8" CONCRETE CURB \

1 \ P.E.M.B. ENDWALL SECTION 2 \P.E.M.B. LETTERING CONNECTION @ GLASS

(1
W 1/2"=1'-0"(30x42)

(2
\8\3__9 1/2"=1'-0"(30x42)

TOP OF PARAPET WALL 33'-4" A.F.F.

8" PURLINS

NOTE: 3'-10" MAX.
HAUNCH DEPTH

B-DECK

TOP OF PARAPET WALL 33'-4" A.F.F.

1/2:12 SLOPE

25'-0" A.F.F. MIN.

TAPERING MAY BEGIN 13'-0" A.F.F.

ALL CELLS SOLID FILLED —

12" (MIN.)

16" (MAX.)

BOND BEAMS @ 24" O.C. —
REINFORCED W/ (2) CONT.
#5 HORIZONTAL REBAR

#6 VE
REINFORCEM

RTICAL REBAR —]
ENT @ 16" O.C.

3 \P.E.M.B. BLOCK WALL SECTION

3
\8\3__9 1/2"=1'-0"(30x42)

NOTE: 3'-10" MAX.
HAUNCH DEPTH

TOP OF PARAPET WALL 33'-4" A.F.F.

B-DECK ; }
8" PURLINS |
|
-
SN | 30-6 1/2" AF.F.
T ————

SN
o
1/2:12 SLOPE } }
|
|
|
250" A.F.F. MIN. o
______________ |
|
|
|
|
|
|

. 4 TOPOF GLASS 24-0" AFF.

#6 VERTICAL REBAR |
REINFORCEMENT @ 16" O.C.

TAPERING MAY BEGIN 13'-0" A.F.F.

BOND BEAMS @ 24" O.C. ——__ |djL}
REINFORCED W/ (2) CONT. | 3 i
#5 HORIZONTAL REBAR

~

ALL CELLS SOLID FILLED —

& DOUBLE LINTEL HEADER OVER
: OPENING. BLOCK ABOVE HEADER
N IS BOND BEAM FOR WALL.

12" (MIN.)
16" (MAX.) 1

OPENING FOR ROLL UP DOOR

4 \ P.E.M.B. BLOCK WALL SECTION

(a0
@ 1/2"=1'-0"(30x42)

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

XYL,
\\\\\}{\ EDWIN ////////
SACE N2
7\ sf--.,./%g/

AT
No. 60549 4 =
*

/y /f/:/T/S /O N A\— E$ \\\\\

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

5 <
o Q0
-
Zx WO
oEexh
2Ly
QCOEG
2O Y <
ogT. =
D == W<
382
N=~0
8
i
o

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

TYP. WALL
FRAMING DETAIL

DRAWING NUMBER

S3.12



MK Weber Laptop 7
FL


¢
COLD JOINT |
FFE=31.00' 4 I [
. a ; 2 " i
R e e e L A A S e :
#5 REBAR HOOK W/ 28" LAP \\ . :
4442 a \—---------------
[ ¢ 2‘
8" RETAINING WALL .
[ ¢ 2‘
TOP OF FOOTING=28.00' ]
L ABA S
(2) #5 VERTICAL REINFORCEMENT -~ |
W/ 6" HOOK @ 16" O.C. =L
A i
(2) #5 CONT. REBAR / :
REINFORCEMENT PR
.o e,
COLD JOINT \ #5 HORIZONTAL REBAR REINFORCEMENT @ 18" O.C.
TOP OF FOOTING=28.00' ¢ \,
’\
(3) ROWS OF #5 CONT. REBAR P 2'-0" —,L
REINFORCEMENT @ 8-3/4" O.C.
/"1 \ STAIRS @ WEST SIDE OF GYM
S3.13/ 1"=1'-0"(30x42)
LIGHT BROOM FINISH
#5 REBAR TIES @12" O.C. ON STAIR TREADS
pa) pd
’ < “ § 4 A A ) \ v <
® B O 4 < 4 4 #5 NOSING REBAR 1-1/2"
% v g CLEAR FROM EDGE
A 4 A < e
< ﬁ A A
A
A N < 4 A
‘ <
<
v

#5 REBAR REINFORCEMENT @ 8" O.C.

#5 REBAR TIES @12" O.C.

/"2 LANDING TRANSITION DETAIL

S3.13/ 3"=1"-0"(30x42)

3/S3.13

s

#5 REBAR REINFORCEMENT @ 8" O.C.

#5 REBAR TIES @12" O.C.

— 11.1/4"

RETAINING WALL BEYOND

GRADE LINE BEHIND WALL

LIGHT BROOM FINISH
ON STAIR TREADS

1 I_OII

#5 NOSING REBAR 1-1/2"
CLEAR FROM EDGE

/"3 "\ STEP DETAIL

S3.13/ 3"=1"-0"(30x42)

EBE

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

.........

SUOTITITONN
EOR: ROBE}I:{I"I' SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

5 <
o Q0
-
Zx WO
oEexh
2Ly
DCOE(_J
2O Y <
ogT. =
D == W<
382
N=~0
8
i
o

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

STAIR/RETAINING
WALL DETAIL

DRAWING NUMBER

S3.13



MK Weber Laptop 7
FL


REINFORCED BLOCK WALL

—— ATTACH CLIPS TO WALL W/ (3)

3/4"@x6" TITEN HD ANCHOR BOLTS

STEEL "W" MEMBER (SIZE VARIES)

\ STEEL ANGLE CLIP (SEE S4.4)

ATTACH (2) CLIPS TO END OF BEAM W/ (3)
3/4"d THRU-BOLTS W/ STANDARD WASHERS

7“1\ BEAM TO BLOCK WALL CONNECTION DETAIL

S3.14/ 3"=1-0"(30x42)

STEEL "W" MEMBER (SIZE VARIES)

STEEL "W" MEMBER (SIZE VARIES)

IMPORTANT

NOTE THAT SHEET S4.4 SHOWS A "LEFT" AND A "RIGHT" VARIANT
OF THE W14 CLIP. THIS IS TO ALLOW THE HOLES IN THE W14 CLIP
TO LINE UP WITH THE HOLES IN THE W12 CLIP IN ORDER TO
ACHIEVE THE CONNECTION SHOWN IN DETAIL 2 OF THIS SHEET.
EA. W14 TERMINATING INTO ANOTHER BEAM WILL NEED (1) "LEFT"
AND (1) "RIGHT" CLIP IN ORDER TO PROPERLY CONNECT BEAM.

STEEL "W" MEMBER (SIZE VARIES)

COPE BEAMS NO MORE THAN 4" AS
REQUIRED TO MAKE CONNECTIONS

<|v ATTACH CLIPS TO BEAM AND CLIP ON >
/ OPPOSITE SIDE W/ (3) 3/4"@ THRU-BOLTS
W/ STANDARD WASHERS

D&

\ STEEL ANGLE CLIP (SEE S4.4)

ATTACH (2) CLIPS TO END OF BEAM W/ (3)
3/4"d THRU-BOLTS W/ STANDARD WASHERS

/" 2\ BEAM TO BEAM CONNECTION DETAIL

S3.14/ 3"=1-0"(30x42)

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

ST

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

5 <
o Q0
-
Zx WO
oEexh
2Ly
DCOE(—)
2O Y <
ogT.=
D = W<
382
N=~0
8
:
i

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

BEAM
CONNECTION
DETAILS

DRAWING NUMBER

S3.14



MK Weber Laptop 7
FL


1/4

1/4

@ 3"=1"-0"(30x42)

1/4

/

— 0.51in

1

6in ﬂ; 5in —+

N N N N N 1
// o — 1.5in F // o — 1.5in // o — 1.5in o — 1.5in
8 £ 8 8
S4.0 I — 2.75in 2 S4.0 I — 2.75in S4.0 I — 3in I — 2.81251in
€ . O 5 " €
B, ¥ oo o & o
— 150 | & K % & = % =
\ R — 2.75in R 3y < N —— 2.875in @
% od o =
2.25in " ® N J W ® " 1/4 &
_ | 2N w - L
—A#— 5in —A4 7)) N w - 25in N - — 2.81251in
2.25in ®, _
\ — 5in —A 2.25in I — 1oin
f'— 5in — i
HSS SQUARE TUBE SEE o \ W WL 2.251in
S2.13 FOR SIZING =3 HSS SQUARE TUBE SEE s S =3 £ 5in —#
e $2.13 FOR SIZING e \\\ e
= o 7)) o2
o o HSS SQUARE TUBE SEE o \
o o S2.13 FOR SIZING o HSS SQUARE TUBE SEE
= = = S2.13 FOR SIZING
m TYPICAL W8 CONNECTION PLATE DETAIL m TYPICAL W12 CONNECTION PLATE DETAIL m TYPICAL W14 CONNECTION PLATE DETAIL m TYPICAL W16 CONNECTION PLATE DETAIL
@ 3"=1'-0"(30x42) @ 3"=1'-0"(30x42) @ 3"=1'-0"(30x42)
NOTE: ALL FRAMING BOLTS
ARE 3/4"@ A325 OR A490 U.O.N.
1/4 7f 5in —#- 1/4 'f 5in —- 1/4 1/4
1/4 1/4
« oy N « N « N N
T 1.5in — o Z///}:> — 1.5in [ 1.5in — o Z///}:> — 1.5in [ 1.5in — o o — 1.5in [
@ | 2.75in — 1 2s51250n @ 3in — 1 2s51250n @ 2.8125in — 1 2s51250n
= O (90) (90 ™
5 € L3 - O C e 9 c < © < g
2.75in — — 2.875in w § N 3in — — 2.875in w § 0 2.875in — — 2.875in » §
Y » € " o € " > € "
1.51in T k L L
X S —— 2.8125in 7 25in — s —— 2.8125in 7 2.8125in — — 2.8125in 7
_ .
2.25in = ®, | ® | | ) ® |
— 1.51in — 1.51in 1.5in — — 1.5in
, ] N 2.25in ;7T 1T T v YN T
' 4.6875in , e —+ 4.6875in 2.25in W i ' o=
. 2.251n o= : o= 2.251n 2.251n o=
0.3125in — . 5in L, % é 0.3125in — ~— 5in —A~ % é 7 5in ;- ¥ 5in v (E_) é
#— 5in — Cu ~#— 5in —o#- \\¥ Cu Cu
\ o HSS SQUARE TUBE SEE o \ o
HSS SQUARE TUBE SEE o S2.13 FOR SIZING o HSS SQUARE TUBE SEE o
S2.13 FOR SIZING = = S2.13 FOR SIZING =

/5\ TYPICAL W12/W16 CONNECTION PLATE DETAIL

@ 3"=1"-0"(30x42)

6in

6in

5in

2125in

0.75in

1/4

~— 3.125in

\ HSS SQUARE TUBE SEE

S2.13 FOR SIZING

/"8 \ TYPICAL 2&3 HOLE CONNECTION PLATE DETAIL

W 6"=1"-0"(30x42)

1/4

m TYPICAL W14/W16 CONNECTION PLATE DETAIL

@ 3"=1"-0"(30x42)

6in

5in

11.25 in KNIFE PLATE

— 0.751in

6in

1/4

N

HSS SQUARE TUBE SEE
S2.13 FOR SIZING

/"9 \ TYPICAL 4 HOLE CONNECTION PLATE DETAIL

@ 6"=1"-0"(30x42)

~— 3.125in — J’ 2125in /A

m TYPICAL W16/W16 CONNECTION PLATE DETAIL

W 3"=1"-0"(30x42)

5in

6in

5in

16 in KNIFE PLATE

— 0.751in

1/4

1/4

6in

\ HSS SQUARE TUBE SEE

S2.13 FOR SIZING

710\ TYPICAL 4 HOLE CONNECTION PLATE DETAIL

W 6"=1-0"(30x42)

+— 3.125in —# - 2125in A

<—— SEE1&2/S213 ——#

TO BOTTOM OF
BASE PLATE

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

S <
L A
-
< x W O
Jw
= o -
< —
¥ O III_I O
2O Y <
ogT.=
D Ll <C
T
S
N=K~0O
i
5
5
&
n'd
9
a
>
i
JOB NUMBER: 21247
DRAWN BY: JCC
CHECKED BY: MKW
PLOT DATE: 5/18/2023
SHEET TITLE
BEAM
CONNECTION

PLATE DETAILS

DRAWING NUMBER

54.0



MK Weber Laptop 7
FL


HSS SQUARE TUBE SEE
S2.13 FOR SIZING

HSS SQUARE TUBE SEE
S2.13 FOR SIZING

12.75in

1/4

N

\

10.75inx12in x 3/8in

GUSSET PLATES

12in

1/4

10.75inx12in x 3/8in
GUSSET PLATES

1/4

17 in

/ 1\ BASE PLATE 1 DETAIL

W 3"=1"-0"(30x42)

17 in
—~— 3in 5.5in 5.5in 3in —#
T T
c c
P 0.5 in (TYP.) o P
o
>_
4 = R
£
Te]
N
1/4 0
= J =
Vo] F‘ Vo]
s s
\ HSS SQUARE
TUBE SEE S2.13 c <
FOR SIZING © ~
1/4 1/4
£ £
Vo] Vo]
s s
6in

1/4

@1.4375in (TYP.)

-+ 3in

/A—— 3in

55in

—~— 3in

55in

3in ——~

/"5 \ BASE PLATE @ INTERIOR COLUMNS

W 6"=1"-0"(30x42)

HSS SQUARE TUBE SEE
S2.13 FOR SIZING

\

1/4

10.75inx12in x 3/8in
GUSSET PLATES

HSS SQUARE TUBE SEE
S2.13 FOR SIZING

10.75inx12in x 3/8 in
GUSSET PLATES

10.75inx12in x 3/8 in
GUSSET PLATES

=
10.75in x 12in x 3/8 in 10
GUSSET PLATES X /
A
| |
0.75in — 0.75in — L 0.75in — . L
7 17 in 7
/"2 BASE PLATE 2 DETAIL /"3 BASE PLATE 3 DETAIL /"4 BASE PLATE 3 DETAIL
W 3"=1'-0"(30x42) W 3"=1'-0"(30x42) W 3"=1'-0"(30x42)
NOTE: ALL FRAMING BOLTS
ARE 3/4"@ A325 OR A490 U.O.N.
. 17 in
17 in
_ _ _ 0.25 in 5.25in 6in 5.25in 0.25in
6in 10.75in 0.25in
1/4
14 — 0.25in 0.25in — 1/4 1/4 1/4 — 0.25in
4 N\ v
£ £ — 0.5in L 05in £
\ 1/4 @1.4375in (TYP.) « ~ 1/4 \ 1/4 x
HSS SQUARE ' ' N HSS SQUARE N
c TUBE SEE S2.13 c J TUBE SEE S2.13 J
< FOR SIZING 0 FOR SIZING
o ) )
£ N £
. . L . L
7! 3in , 5in 3in , 10 -— 3in 2.5in —+ 2.5in 3in —— 10
AN AN
o \
. )
— 0.5in — 0.51in
& 1/4
™
14 e 1/4
© 1/4 1/4
174 = £ £
~ ~ ~
N o 0.5in 0.5 in
> c c £
T} T} Tp)
N N QY
11in TYP. o o P
= N = c c
Te) c Te) o) o)
~ 1/4 £ A ~ ~
= 1/4 - = =
@1.4375 in
(TYP.)
1/4
i W \_ W
. £ c £ £
3 In (90 ™ ™ (90)
N N N N
0.25in — . .
8.25in 3in 7 4 3in ——#— 2.75in 5.5in 275in —#—— 3in ——#
02510 oM 1.2510n 17 in

/"6 \ BASE PLATE @ CORNER COLUMNS

W 6"=1"-0"(30x42)

/"7 BASE PLATE @ MID-SPAN EXTERIOR COLUMNS

w 6'=1-0"(30x42)

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

g,

LOWIN g2,

3 EOWIN ,
ST T

No. 60549
*

\\\\\

.
---------

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

STRUCTURAL PLANS For:
PANAMA CITY, FLORIDA

MLK REC. CENTER
705 E. 14TH STREET

DATE

DESCRIPTION

>
Ll
(e

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

BASE PLATE
DETAILS

DRAWING NUMBER

S4.1



MK Weber Laptop 7
FL


1/4 174
1.5in — — 1.51in
15in — o N\ L A —— 15in
@ 2.75in — — 2.751n
£ £
0 D) ®, 0
(e 0] 0]
2.75in — — 2.75in
_ D) ®, .
1.5in — — 1.51in
N N
2.25in 2.25in
~+— 5in —A A 5in —A
£
AN
Te]
|
/"1 COLUMN #71 DETAIL
@ 3"=1'-0"(30x42)
N N
N\ N\
£ =
Lo (o]
& 5in —————— 6 in h 5in Q
o o
N . HSS SQUARE »
PR TUBE SEE S2.13 N
© F 0.75in — FOR SIZING - 0.75in r
£ c
0 1/4 1/4 0
o o
N s
/"2 COLUMN #71 SECTION
@ 6"=1'-0"(30x42)
3/4" PLATE X
N 14 in
~— 2in 10 in 2in —o
\ — 0.25in
N Lo
AY N\ N
£ =
© / \ 0
3 HSS SQUARE y
TUBE SEE S2.13
FOR SIZING
£ = £
o A 4in 6in 4in ——# © ©
o ™ O
N ,
£ =
© \ 10
N\ AN
N N
@1.4375 in (TYP.) - 0.25in 1/4

/"3 \ COLUMN #71 BASE PALTE

@ 6'=1-0"(30x42)

NOTE: ALL FRAMING BOLTS
ARE 3/4"@ A325 OR A490 U.O.N.

STEEL "W" MEMBER (SIZE VARIES)

STEEL "W" MEMBER (SIZE VARIES)

AN

COLUMN # 71

L L Q

®® Y
XY/

/"4 COLUMN #71 CONNECTION DETAIL

@ 3"=1'-0"(30x42)

ATTACH COLUMN # 71 TO BEAM
BELOW W/ (4) 1 3/8"@ THRU-BOLTS
W/ STANDARD WASHERS

STEEL "W" MEMBER (SIZE VARIES)

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

*
STATE OF

O FL oINS
\\\\\\

\\
T

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

5 <
o Q0
-
Zx WO
oEexh
2Ly
DCOEG
2O Y <
ogT.=
D = W<
382
N=~0
8
:
i

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

COLUMN #71
DETAILS

DRAWING NUMBER

S4.2



MK Weber Laptop 7
FL


72 25in ﬁL

ps
@0.8125 in (TYP.)

O

7“1\ TYPICAL W8 BEAM END CONDITION

@ 6'=1-0"(30x42)

#— 25in —A4

A 275in —A—— 3in —A

ps
@0.8125 in (TYP.)

O

7“2\ TYPICAL W10 BEAM END CONDITION

@ 6"=1-0"(30x42)

#— 25in —A/

~+— 3in —A#— 3in —A~

iS
@0.8125 in (TYP.)

O

~+— 3in —#— 3in —#— 3in —A

O

/4 \ TYPICAL W14 BEAM END CONDITION

@ 6"=1'-0"(30x42)

S— 25in —A

pS
@0.8125 in (TYP.)

O

O

/"3 \ TYPICAL W12 BEAM END CONDITION

@ 6"=10"(30x42)

#— 25in —A/

O

@0.8125 in (TYP.)

~#— 28125in —#— 2875in —A— 2.8125in —#— 3in —A

ORENOENNO

/"5 \ TYPICAL W16 BEAM END CONDITION

@ 6"=1'-0"(30x42)

+— 2.75in —#— 275in —#—— 3in —A

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

...........
. .
. °

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

STRUCTURAL PLANS For:
PANAMA CITY, FLORIDA

MLK REC. CENTER
705 E. 14TH STREET

DATE

DESCRIPTION

>
Ll
(e

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

BEAM END
CONDITION DETAILS

DRAWING NUMBER

54.3



MK Weber Laptop 7
FL


— 0.3751in
!
C
o @0.8125 in (TYP.)
N
= £
= :
©
I= N
Te)
(q\|
N
JP
3in
— 1.251in 1.25in —
55in

7“1\ W10 BEAM CLIP TOP VIEW

@ 6"=1-0"(30x42)

5.5in
— 125in  1.25in —
3in
N
N
1.125in —
‘ C O
£
p = 20.8125 in (TYP.)
&
AN
L
~ ~
0.375in —
/"3 \ W10 BEAM CLIP FRONT VIEW
w 6"=1"-0"(30x42)
— 0.375in
I
" ©0.8125 in (TYP.)
~
AN
o
§
AN
JP
3in —#—— 3in
- 1.25in 1.25in —
8.5in
/"9 \ W14 BEAM CLIP (RIGHT) TOP VIEW
@ 6"=1"-0"(30x42)
8.51in
— 1.251n 1.75in —
2.75in —#— 2.75in
1.125in —

#— 2.375in

Q O
@0.8125 in (TYP.)

S#— 35in —A4~

0.375in —

711\ W14 BEAM CLIP (RIGHT) FRONT VIEW

W 6"=1-0"(30x42)

=

—

/"2 \ W10 BEAM CLIP ISOMETRIC VIEW

@ 6"=1-0"(30x42)

7~ 0.375in

L5x3-1/2x3/8

— 0.3751in

~

~+— 3.5in ﬂ‘
& .

L

7

4 \W10 BEAM CLIP LEFT VIEW

@ 6'=1-0"(30x42)

710\ W14 BEAM CLIP (RIGHT) ISOMETRIC VIEW

IMPORTANT

NOTE THAT THIS SHEET SHOWS A "LEFT" AND A "RIGHT" VARIANT
OF THE W14 CLIP. THIS IS TO ALLOW THE HOLES IN THE W14 CLIP
TO LINE UP WITH THE HOLES IN THE W12 CLIP IN ORDER TO
ACHIEVE THE CONNECTION SHOWN IN DETAIL 2/S3.#. EA. W14
TERMINATING INTO ANOTHER BEAM WILL NEED (1) "LEFT" AND (1)
"RIGHT" CLIP IN ORDER TO PROPERLY CONNECT BEAM.

@ 6'=1-0"(30x42)

A 0.375in

L5x3-1/2x3/8

— 0.3751in

~

~— 3.5in ﬂ‘
N

L

7

712\ W14 BEAM CLIP (RIGHT) LEFT VIEW

W 6"=1'-0"(30x42)

— 0.3751in

©0.8125 in (TYP.)

J U

1.875in

L

5in
—-7— 2.25in T 275in —A

— 1.251n

2.75in —#— 2.75in

1.25in —

8in

/"5 \ W12 BEAM CLIP TOP VIEW

@ 6"=10"(30x42)

— 1.251n

2.75in —#— 2.75in

8in
1.25in —

1.125in —

O

Q
©0.8125 in (TYP.)

#— 2.375in

0.375in —

/"7 W12 BEAM CLIP FRONT VIEW

@ 6'=1-0"(30x42)

— 0.3751in

i

©0.8125 in (TYP.)

00

1.875in

5in
—+— 2.251in T 2.75in —A

— 1.251in

3in —~

713\ W14 BEAM CLIP (LEFT) TOP VIEW

S#— 35in —A4

A—— 3in

1.25in —

8.51in

@ 6"=1"-0"(30x42)

— 1.751in

2.75in —#— 2.75in

8.5in

1.25in —

1.125in —

Q
@0.8125 in (TYP.)

O

#— 2.375in

/"15\ W14 BEAM CLIP (LEFT) FRONT VIEW

0.375in —

@ 6"=1-0"(30x42)

S#— 35in ——A4~

6 \ W12 BEAM CLIP ISOMETRIC VIEW

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

Wiy,

A V:D.W.I.,N g/// “,

ORANNETEII &y,
Sx: No.60549 374 Z
S o% STATE OF a3
~ R SES

.........

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

@ 6"=1"-0"(30x42)

A 0.375in
L5x3-1/2x3/8

— 0.375in
2

L

7

~+— 3.5in ﬂ‘
& ~

s \W12 BEAM CLIP LEFT VIEW

S4.4 ) 6"=1"-0"(30x42)

/12 \ W14 BEAM CLIP (LEFT) ISOMETRIC VIEW

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

@ 6'=1-0"(30x42)

A 0.375in
L5x3-1/2x3/8

— 0.375in
2

L

7

~— 3.5in ﬂ‘
& .

/16 \ W14 BEAM CLIP (LEFT) LEFT VIEW

@ 6"=1"-0"(30x42)

5 <
o Q0
-
Zx WO
oEexh
2Ly
DCOE(—)
2O Y <
ogT.=
D = W<
382
N=~0
8
:
i

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

BEAM END
CONDITION DETAILS

DRAWING NUMBER

S4.4



MK Weber Laptop 7
FL


0.375in

7 in

3/16

0.375in —

10 in FOR 4" BEAMS

12 in FOR 6" BEAMS
7“1\ "T" BRACKET TOP VIEW

@ 3"=1'-0"(30x42)

10 in FOR 4" BEAMS

12 in FOR 6" BEAMS

£
o
N~
™
o)
£
N~
\ \
6 in FOR 4" BEAMS
8in FOR 6" BEAMS

\ \

\ \

| |

| |
@0.5625 in (TYP.) . c
o =
\ \ %
| | -

| |
\ \ J

\ \
N

/2 \"T" BRACKET FRONT VIEW

@ 3"=1'-0"(30x42)

NOTE: BOLT HOLE SPACING AND OVERALL WIDTH
OF BOLTING FLANGE ARE TO BE DETERMINED
AFTER COORDINATING WITH ALUMINUM CANOPY
MANUFACTURER PRIOR TO FABRICATION

/"3 \"T" BRACKET ISOMETRIC VIEW

S4.5 / 3'=1-0"(30x42)

7 in
— 0.3751in
5.625in T 1in —A

T
c

Q‘

3/16

£ c
Te} N~

Q‘
£
P

/4 \"T" BRACKET RIGHT SIDE VIEW

@ 3"=1'-0"(30x42)

JF']inﬁ

WEBER

structural engineering

3200 W. 23RD STREET
PANAMA CITY, FL 32405
MKWEBER.COM

FL CERTIFICATE OF
AUTHORIZATION # 33120

\\\\\IIIHII//////
/7
7/

EOR: ROBERT SEARCY P.E.
STRUCTURAL ENGINEER
FLORIDA P.E. # 60549

EMBOSSED/ WET STAMP

SCANNED AND
ELECTRONICALLY
TRANSMITTED COPIES OF
THIS DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED. SIGNATURE IS NOT
CONSIDERED VALID WITHOUT
THE PRESENCE OF BLUE INK

DIGITAL

PRINTED COPIES OF THIS
DOCUMENT ARE NOT
CONSIDERED SIGNED AND
SEALED AND THE SIGNATURE
MUST BE VERIFIED ON THE
ELECTRONIC COPIES

STRUCTURAL PLANS For:
PANAMA CITY, FLORIDA

MLK REC. CENTER
705 E. 14TH STREET

DATE

DESCRIPTION

>
Ll
(e

JOB NUMBER: 21247

DRAWN BY: JCC

CHECKED BY: MKW

PLOT DATE: 5/18/2023

SHEET TITLE

FABRICATED
"T" BRACKET

DRAWING NUMBER

S4.5



MK Weber Laptop 7
FL

roman
Text Box
ALUMINUM CANOPY  

roman
Text Box
MANUFACTURER PRIOR TO FABRICATION  


